
INDEX

MODEL PAGE MODEL PAGE
NISSAN 1-29 TOYOTA 30-78

MITSUBISHI 79-99 DAIHATSU 100-109

SUZUKI 110-118 ISUZU 119-138

MAZDA 139-154 HONDA 155-162

HINO 163-169 KIA 170-171

HYUNDAI 172-180 DAEWOO 181-183

VOLKSWAGEN 184-191 SKODA 192-195

PEUGEOT 196-202 RENAULT 203-205

BMW 206-207 BENZ 208-210

FIAT 211-214 IVECO 215-216

LAND-ROVER 217-219 LADA 220-221

OTHER EUROPEAN（CITRON SCANIA VOLVO...） 222-226

AMERICAN (CHEVROLET, CHRYSLER, FORD...) 227-271

CHINESE CAR 272-276

OTHERS 277-288

LOAD-SENSING PROPORTIONING VALVE 289-290

PLASTIC CYLINDERS 291-295



- 1 -

NISSAN BRAKEWHEELCYLINDERASSEMBLY

ITEM OEM TEMCO Description DIA FSD SPS Picture

W/C 41100-18000
41100-H1000 N10001

B110,B120,B210
PICK-UP
(70-94)

13/16
M6×24.5×6.5

Φ8.5×27×7
M10×1

W/C 41101-18000
41101-H1000 N10002

B110,B120,B210
PICK-UP
(70-94)

13/16
M6×24.5×6.5

Φ8.5×27×7
M10×1

W/C 41102-18000
41101-H1000 N10003

B110,B120,B210
PICK-UP
(70-94)

13/16
M6×24.5×6.5

Φ8.5×27×7
M10×1

W/C 41103-18000
41103-H1000 N10004

B110,B120,B210
PICK-UP
(70-94)

13/16
M6×24.5×6.5

Φ8.5×27×7
M10×1

W/C
41100-21000
41100-G0300
41100-H2500

N10005 510,610
(68-72)

7/8
M6×24.5×6.5

Φ8.5×27×7
M10×1

W/C

41101-21000
41101-H8500
41101-G0300
41101-H2500

N10006 510,610
(68-72)

7/8
M6×24.5×6.5

Φ8.5×27×7
M10×1

W/C
41102-21000
41102-G0300
41102-H2500

N10007 510,610
(68-72)

7/8
M6×24.5×6.5

Φ8.5×27×7
M10×1

W/C

41103-21000
41103-H8500
41103-G0300
41103-H2500

N10008 510,610
(68-72)

7/8
M6×24.5×6.5

Φ8.5×27×7
M10×1

W/C 41100-G2500 N10009 C120
(78-82)

15/16
M6×24.5×6.5

Φ8.5×27×7
M10×1

W/C 41101-G2500 N10010 C120
(78-82)

15/16
M6×24.5×6.5

Φ8.5×27×7
M10×1

TEMCO Auto Parts www.0086PARTS.COM



- 2 -

NISSAN BRAKEWHEELCYLINDERASSEMBLY

ITEM OEM Description DIA FSD SPS Picture

W/C 41102-G2500 N10011 C120
(78-82)

15/16
M6×24.5×6.5

Φ8.5×27×7
M10×1

W/C 41103-G2500 N10012 C120
(78-82)

15/16
M6×24.5×6.5

Φ8.5×27×7
M10×1

W/C 41100-B9600
41100-R8010 N10013 620,720,URVAN E23

(78-87)
1

M6×24.5×6.5

Φ8.5×27×7
M10×1

W/C 41101-B9600
41101-R8010 N10014 620,720,URVAN E23

(78-87)
1

M6×24.5×6.5

Φ8.5×27×7
M10×1

W/C 41102-B9600
41102-R8010 N10015 620,720,URVAN E23

(78-87)
1

M6×24.5×6.5

Φ8.5×27×7
M10×1

W/C 41103-B9600
41103-R8010 N10016 620,720,URVAN E23

(78-87)
1

M6×24.5×6.5

Φ8.5×27×7
M10×1

W/C 44100-B6000 N10017 PICK UP 620
(73-82)

5/8 4-M8×32×30 M10×1

W/C 44100-B5500 N10018 URVAN E20
(73-80)

11/16 4-M8×32×30 M10×1

W/C

44100-B5000
44100-07201
44100-07210
44100-07211

N10019 620,720, URVAN E20
(70~)

3/4 4-M8×32×30 M10×1

W/C 44100-03W00
44100-03W01 N10020 620,720

(80~)
3/4 4-M8×32×30 M10×1

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 3 -

NISSAN BRAKEWHEELCYLINDERASSEMBLY
ITEM OEM Description DIA FSD SPS Picture

W/C 44100-H3300
44100-H0500 N10021 B110,210,120Y

(72-77)
11/16

M6×24.5×6.5

Φ8.5×27×7
M10×1

W/C

44100-U4000
44100-22000
44100-H3100
44100-18000

N10022

610,710.C110,
C130,510,PICK-UP
B110,B120,B210

(68-72)

13/16
M6×24.5×6.5

Φ8.5×27×7
M10×1

W/C
44100-U4800
44100-21000
44100-21900

N10023 610,710,C110
(68-72)

7/8
M6×24.5×6.5

Φ8.5×27×7
M10×1

W/C

44100-50C12
44100-50C10
44100-50C11
44100-04B00
44100-F4305
44100-48000

N10024
SUNNY,MARCH,
MICRA,PLUSAR

(87-96)
5/8 M6×32×11 M10×1

W/C

44100-13A00
44100-13A02
44100-13A03
44100-D0110
0060747181

N10025
STANZA,BLUEBIRD,

SUNNY,PRAIRIE

(83-95)
11/16 M6×32×11 M10×1

W/C

44100-01A00
44100-01A01
44100-D0100
44100-01A02
44100-A05G0

N10026
PLUSAR

N13,SUNNY B12
(82-90)

3/4 M6×32×11 M10×1

W/C

44100-60A10
44100-60A11
44100-60A12
44100-60A14

N10027

BLUEBIRD,
PULSAR,
STANZA
(87-90)

5/8 M6×34×12 M10×1

W/C
44100-G5110
44100-G5111
44100-G5112

N10028 PRAIRIE,SUNNY
(92-00)

11/16 M6×34×12 M10×1

W/C

44100-D5510
44100-G2800
44100-D5500
44100-D5512

N10029

BLUEBIRD,
PRAIRIE,
VANETTE
(83-95)

3/4 M6×34×12 M10×1

W/C

44100-U9200
44100-N5800
44100-V02G0
44100-17C10
44100-17C11
44100 17C13

N10030
BLUEBIRD

U11,U12 200SX
(79-82)

13/16 M6×34×12 M10×1

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 4 -

NISSAN BRAKEWHEELCYLINDERASSEMBLY
ITEM OEM Description DIA FSD SPS Picture

W/C
44100-N4601
44100-N4602
44100-51S10

N10031 LAURELC32
(85-89)

7/8 M6×34×12 M10×1

W/C 44100-Q1100 N10032 C210,230,910
(77~)

15/16 M6×34×12 M10×1

W/C
44100-05N13
44100-05N23
44100-05N12

N10033 URVAN E24
(88-97)

13/16 M6×34×12 M10×1

W/C

44100-05N10
44100-05N11
44100-V0201
44100-V0202
44100-05N01

N10034

E24,WD21,
Y30,Y31,
SY31
(84-96)

13/16 M6×34×12 M10×1

W/C 44100-F4000
44100-F4001 N10035

E24,WD21,
Y30,Y31,SY31

(84-96)
15/16 M6×34×12 M10×1

W/C 44100-08G11
44100-8B400 N10036 PICK UPD21

(92-98)
7/8 M6×34×12 M10×1

W/C
44100-08G10
44100-08G12
44100-86G10

N10037
WD21,D21,

D22
(92-98)

15/16 M6×34×12 M10×1

W/C 44100-15G10
44100-T6000 N10038

PATHFINDER,
URVAN, PICK-UP

(86-93)
5/8 M6×34×13 M10×1

W/C

44100-08W10
44100-08W11
44100-08W12
44100-01W01
44100-08W03
44100-08W04
44100-08W08

N10039 URVAN E23
(85-88)

11/16 M6×34×13 M10×1

W/C
44100-08W22
44100-08W20
44100-08W21

N10040 URVAN E23
(87-97)

3/4 M6×34×13 M10×1

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 5 -

NISSAN BRAKEWHEELCYLINDERASSEMBLY
ITEM OEM Description DIA FSD SPS Picture

W/C 44100-C6000
44100-C7800 N10041

ATLAS/CABSTAR
F22 1.5T,PATROL

(82-92)
3/4 M6×34×13 M10×1

W/C 44100-B1300 N10042 F20
(70-75)

13/16 M6×34×13 M10×1

W/C
44100-T3260
44100-C7100
44100-C7101

N10043 F20
(82~)

7/8 M6×34×13 M10×1

W/C 44100-4Z000
44100-15N16 N10044 B15 11/16 M6×30×9 M10×1

W/C 44100-00QAB N10045 PLATINA 11/16 M6×34×13 M10×1

W/C 44100-00QAA
44100-01QAA N10046

Φ17.7

8
M6×31.5×19.5 M10×1

W/C 44100-05W01
44100-08209 N10047 PICK UP 720

(83-86)
3/4 M8×32×30 M10×1

W/C N10048 7/8 M6×34×12 M10×1

W/C 44100-96L10
44100-96L12 N10049

LAUREL
ALTIMA.CEFIRO.

13/16 M6×34×12 M10×1

W/C 44101-96L10
44101-96L12 N10050

LAUREL
ALTIMA.CEFIRO.

13/16 M6×34×12 M10×1

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 6 -

NISSAN BRAKEWHEELCYLINDERASSEMBLY
ITEM OEM Description DIA FSD SPS Picture

W/C 41100-B5010 N10051 620
(72-77)

M10×1

W/C 41101-B5010 N10052 620
(72-77)

M10×1

W/C N10053 M6×34×13 M10×1

W/C 44100-V0203 N10054 NY30 M6×34×12 M10×1

W/C
1737066
2696472
113E-2261

N10055

FORD, MORRIS,
TRIUMPH,

LOTUS, RELIANT
(62-72)

3/4 M10×1

W/C 44100-31G10
44100-31G11 N10056 PICK UPD21

(87-98)
11/16 M6×34×13 M10×1

W/C

44100-4M410
44100-4M400
44100-4M100
44100-4M416

N10057 SENTRA
(02-06)

5/8 M6×34×13 M10×1

W/C 44100-ED010 N10058 5/8 M6×30×11 M10×1

W/C 44100-09G00 N10059 7/8 M6×34×13 M10×1

W/C 44100-11N16 N10060 11/16 M6×34×12 M10×1

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 7 -

NISSAN BRAKEWHEELCYLINDERASSEMBLY
ITEM OEM Description DIA FSD SPS Picture

W/C N10061 1-1/16

W/C N10062 1-1/16

W/C 66670144 N10063 3/4

W/C 66670143 N10064 3/4

W/C 44100-VK00A N10065 NAVARA(D22)
(02- )

15/16

W/C 44100-48W10
44100-48W11 N10066 PICK UP 720

(83-86)
9/16

W/C 44100-08209
IRON N10067 3/4

W/C 41100-Z5003 N10068 3/4

W/C 41100-Z5002 N10069 3/4

W/C

44100-37G11
44100-37G10
44100-37G12
44100-8Z500
44100-8B500
44100 37G01

N10070 PICK UPD21
(86-92)

13/16

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 8 -

NISSAN BRAKEWHEELCYLINDERASSEMBLY
ITEM OEM Description DIA FSD SPS Picture

W/C 44100-08W65
44100-08W75 N10071

URVAN BUS
KASTEN
(85-88)

3/4

W/C 44100-D2200 N10072 7/8

W/C
44100-01J10
44100-01J11
44100-G9825

N10073
GR I HARDTOP
STATIONWAGON

(88-97)
1

W/C 44100-VE401 N10074
NV200 BOX,
EVALIA
(10- )

7/8

W/C 44100-B6000CA N10075 5/8 4×M8×32×30 M10×1

W/C
44101-70J20
44101-3F000
44101-70J22

N10076 PRIMERA
(93-96)

13/16

W/C
44100-70J20
44100-3F000
44100-70J22

N10077 PRIMERA
(93-96)

13/16

W/C N10078 1-1/4

2-M12×1.25×53

×17

2-M12×1.25×46

×15.5

M10×1

W/C N10079 1-1/4

2-M12×1.25×53

×17

2-M12×1.25×46

×15.5

M10×1

W/C N10080 1-1/4

2-M12×1.25×53

×17

2-M12×1.25×46

×15.5

M10×1

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 9 -

NISSAN BRAKEWHEELCYLINDERASSEMBLY
ITEM OEM Description DIA FSD SPS Picture

W/C N10081 1-1/4

2-M12×1.25×53

×17

2-M12×1.25×46

×15.5

M10×1

W/C

44100-AX600
44100-BH00A

550248
7701208355
93189986

DDY2-26-710

N10082

MARCH III NOTE

RENAULTCLIO Mk II

SYMBOLCLIO III

OPELCORSA D

VAUXHALLCORSAMk IV

(03- )

3/4

W/C 44100-ED300 N10083 TIIDA
(07- )

11/16

W/C 44100-3HA0A N10084
VERSA 1.6 S

L4 1.6
(12-16)

3/4

W/C 44100-3W400 N10085

PATHFINDER
PICK UP

NAVARANP300
(95- )

7/8

W/C
44100-7Z000
44100-3T011
44100-7Z800

N10086

XTERRA
FRONTIER

PATHFINDER
(99-04)

7/8

W/C 41110-76000
41110-71600 N10087

520 521 PICKUP
D21

(95-03)
13/16

W/C 44100-0Z400 N10088 ALTIMA
(98-01)

3/4

W/C 44100-ET000 N10089
SENTRACUBE

VERSA
(07-10)

3/4

W/C
44100-7B000
XF5Z2261AA
1F5Z2V261BA

N10090

QUEST
MERCURY
VILLAGER

(99-02)

1

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



NISSAN BRAKEWHEELCYLINDERASSEMBLY
ITEM OEM Description DIA FSD SPS Picture

W/C 44100-3S60A N10091 3/4

W/C 41100-C4200 N10092 PATROL 60
(67-79)

1

W/C 41101-C4200 N10093 PATROL 60
(67-79)

1

W/C 44100-C4200 N10094 PATROL 60
(67-79)

1

W/C 41100-C6000 N10095 PATROL 60
(67-79)

1

W/C 41101-C6000 N10096 PATROL 60
(67-79)

1

W/C 44100-1HD3A
44100-1HD3B N10097

MICRA IV
NOTE
(10- )

3/4

W/C 44100-J5510 N10098 MILER,H40,W40 1-1/16

W/C 44103-J5510 N10099 MILER,H40,W40 1-1/16

W/C

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 11 -

NISSAN CLUTCH SLAVE CYLINDERASSEMBLY

ITEM OEM Description DIA FSD SPS Picture

C/S 30620-03WG0 N34001 720
(72~)

3/4 2-Φ10.5×52 M10×1

C/S

30620-21050
30620-21051
30620-21010
30620-21011
30620-W1100
30620-W1101
30620-W1150
30620-W1151

N34002 510,C230,T40
(73-83)

3/4 2-Φ10.5×52 M10×1

C/S

30620-B5000
30620-B5001
30620-11W00
30620-11W10
30620-C4200
30620-C4201

N34003 PICKUP,720 4×2
(79-86)

3/4 2-Φ10.5×52 M10×1

C/S

30620-U7000
30620-U7001
30620-S0100
30620-N8000
30620-P9500
30620-W7001
30620-W87G0
30620-W7000

N34004

VANETTE
C22,GC22,

CEDRIC/GLORIA
(84-94)

3/4 2-Φ10.5×52 M10×1

C/S 30620-56E02 N34005 PICK UPD21
(74-84)

11/16 2-Φ10.5×52 M10×1

C/S
30620-2J060
30620-4Z000
30620-2J020

N34006
ALMERA,
PRIMERA

(02~)
3/4

2-Φ8.7×31×5×1

9
M10×1

C/S

30620-H6100
30620-H6101
30620-H6151
30620-H6152
30620-H9060
30620-H9090

N34007
B210,120Y,

VANETTE C22
(79-93)

11/16 2-Φ10.5×52 M10×1

C/S 30620-90012 N34008 UD6
(74~)

3/4 2-Φ11.2×60
M10×1.

25

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 12 -

NISSAN CLUTCH SLAVE CYLINDERASSEMBLY
ITEM OEM Description DIA FSD SPS Picture

C/S 30620-C8002
30620-C8003 N34009 PATROL 160

(85-87)
3/4 2-Φ10.5×52 M10×1

C/S

30620-70T10
30620-73L00
30620-V6300
30620-V6311

N34010
PICK UPD21

(86-91)
11/16 2-Φ10.5×52 M10×1

C/S

30620-31U61
30620-56E01
30620-03E01
30620-31U10
30620-56E21
30620-56E23
30620-31U20

N34011 MA×IMAA33
(00~)

3/4 2-Φ10.5×31.5 M10×1

C/S

30620-01J01
30620-37J00
30620-21T00
30620-37J20

N34012 PATROLY60
(88-97)

3/4 2-Φ10.5×31.5 M10×1

C/S

30620-T8023
30620-10V60
30620-25N00
30620-18G61
30620-01W0
30620-T8002
30620-01W01
30620-T8020
30620-56G10
30620-T8012
30620-01W11
30620-48P61
30620-48P11

N34013
JC31,JC32,720

E23,E24
(87-97)

3/4 2-Φ10.5×52 M10×1

C/S

30620-T6000
30620-R6400
30620-S0101
30620-N5800
30620-R6401
30620-W5610
30620-W5620
30620-W5600

N34014
ALMERA,
SUNNY
(93-98)

11/16 2-Φ10.5×52 M10×1

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 13 -

NISSAN CLUTCH SLAVE CYLINDERASSEMBLY
ITEM OEM Description DIA FSD SPS Picture

C/S

30620-T7210
30620-V5000
30620-V5010
30620-V5011
30620-41L00
30620-T7200
30620-T7205

N34015
ATLAS/CABSTAR

H40,F22
(85-98)

3/4 2-Φ10.5×52 M10×1

C/S
30620-10G00
30620-56G22
30620-56G70

N34016 PICK UPD21
(92-98)

11/16 2-Φ10.5×52 M10×1

C/S
30620-10G01
30620-58G20
30620-58G00

N34017 PICK UPD21
(92-98)

3/4 2-Φ10.5×52 M10×1

C/S

30620-G1800
30620-69F70
30620-18V01
30620-69F01
30620-69F02

N34018
PICKUP,720

4*4,URVAN E24
(84-94)

3/4 2-Φ10.5×52 M10×1

C/S 30620-S1320 N34019
ESCLAVO
SENTRA
（01-06）

3/4
2-Φ8.7×31×5×1

9
M10×1

C/S 30620-H6102
30620-H6120 N34020

B210,120Y,
VANETTE C22

(79-93)
11/16 2-Φ10.5×52 M10×1

C/S 30620-25501
30620-22501 N34021 DATSUN

(67-72)
3/4 2-Φ10.5×52 M10×1

C/S 30620-J2000 N34022 T40
(73-81)

3/4 2-Φ10.5×52 M10×1

C/S

30620-71N21
30620-71N10
30620-71N20
30620-71N24
30620-71N00

N34023
SUNNY,SENTRA
,AD RESORT

(93-98)
11/16 2-Φ10.5×52 M10×1

C/S
30620-80E00
30620-80E20
30620-80E0A

N34024 SUNNYN14
(90-95)

3/4 2-Φ10.5×31.5 M10×1

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 14 -

NISSAN CLUTCH SLAVE CYLINDERASSEMBLY
ITEM OEM Description DIA FSD SPS Picture

C/S

30620-09G00
30620-56G23
30620-56G13
30620-09G05
30620-09G10
30620-09G01
30620-0W00

N34025

PATHFINDER I
PICK UP

TERRANO II
(93-96)

11/16

C/S 30620-V5002
30620-V5012 N34026

CABSTAR
CEDRIC

TERRANO II
(93-02)

11/16

C/S
30620-H1601
30620-H1600
30620-07C00

N34027 VANETTE BUS
(86-95)

3/4

C/S 30620-90010 N34028 UD6
（74- ）

3/4

C/S

30620-V6321
30620-18G65
30620-2T010
30620-2T021
30620-2T061
30620-V6312
30620-V6370

N34029
PICK UP

TERRANO II
(98- )

11/16

C/S 30620-98P08
30620-48P0B N34030

CARAVAN TERRANO

Mk II PATHFINDER

NAVARAURVAN

(86- )

3/4

C/S

30620-R6401
30620-R6400
30620-N5800
30620-35F00
30620-W5601
30620-W5610

N34031 200SX 240SX
(77-88)

11/16

C/S 30620-U7001
IRON N34032 11/16

C/S N34033 3/4

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 15 -

NISSAN CLUTCH SLAVE CYLINDERASSEMBLY
ITEM OEM Description DIA FSD SPS Picture

C/S 30620-VB00A N34034
SAFARI PICK

UP
(97- )

13/16

C/S
30620-5M361
30620-5M300
30620-5M360

N34035

ALMERATINO II
X-TRAIL
PRIMERA
(00- )

3/4

C/S

30620-48P20
30620-48P10
30620-48P60
30620-30P02

N34036

300 ZX
TERRANO II
CELICA
(77- )

3/4

C/S

C/S

C/S

C/S

C/S

C/S

C/S

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



NISSAN CLUTCH MASTER CYLINDERASSEMBLY
ITEM OEM Description DIA FSD SPS Picture

C/M

30610-21010
30610-B8000
30610-B8001
30610-E4301
30610-H2500
30610-H2501
30610-H2502
30610-N0100
30610-N0101
30610-N6000
30610-N6001
30610-N6010
30610-M3800

N26001 510,610,710
(75-79)

5/8 2-Φ8.7×57 M10×1

C/M

30610-S0101
30610-Y4401
30610-Y5300
30610-Y5310
30610-U7512
30610-N4000
30610-W5700
30610-U7500
30610-U7510
30610-H5801
30610-H5802
30610-24900

N26002 810
(77~)

5/8 2-Φ8.7×57 M10×1

C/M

30610-H8800
30610-Q2101
30610-03E00
30610-13E00
30610-40F53
30610-P6500
30610-51E01
30610-W1610
30610-W1601
30610-W1611
30610-V0100
30610-N8500
30610-40F51
30610-40F50
30610-36E01
30610-W1651
30610-Q2111

N26003
210,720,200SX,

PICKUP
(80~)

5/8 2-Φ8.7×70 M10×1

m

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



7

NISSAN CLUTCH MASTER CYLINDERASSEMBLY
ITEM OEM Description DIA FSD SPS Picture

C/M
30610-15G00
30610-15G01
30610-15G11

N26004
NAVARA,

PICK UPD21
(86-92)

5/8 2-Φ8.7×70 M10×1

C/M
30610-01G00
30610-01G11
30610-01G01

N26005
WD21,

PICK UPD21
(92-98)

5/8 2-Φ8.7×70 M10×1

C/M 30610-C07G0 N26006 C120
(80-82)

5/8 2-Φ8.7×70 M10×1

C/M
30610-59G10
30610-59G11
30610-59G00

N26007 WD21,720,
PICK UPD21

5/8 2-Φ8.7×70 M10×1

C/M

30610-G2700
30610-01C06
30610-01C00
30610-01C10
30610-T6100
30610-R9500
30610-T6000
30610-21T02
30610-R8000
30610-G3600
30610-01000

N26008 VANETTE GC22
(87-91)

5/8 2-Φ8.7×70 M10×1

C/M 30610-J2001
30610-J2000 N26009 PRINCE

(77-78)
5/8 2-Φ8.7×57 M10×1

C/M

30610-01J64
30610-01J60
30610-01J61
30610-01J62
30610-01J63

N26010
PATROL
Y60,Y61
(97-00)

5/8 2-Φ8.7×60 M10×1

C/M 30610-5M004
30610-5M000 N26011

ALMERA
N16,V10
(00~)

5/8 2-M8×70 M10×1

C/M

30610-5M007
30610-5M017
30610-5M067
30610-5M00D
30610 4Z000

N26012
N16,V10,P12,
WP12,T30

(02~)
5/8 2-M8×70 M10×1

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 18 -

NISSAN CLUTCH MASTER CYLINDERASSEMBLY
ITEM OEM Description DIA FSD SPS Picture

C/M

30610-TS717
30610-IS700
30610-IS710
30610-IS714
30610-1S70A
30610-P2710

N26013 PICK UPD21
(96-98)

5/8 2-Φ8.7×70 M10×1

C/M

30610-31U17
30610-31U92
30610-31U91
30610-31U14

N26014 MA×IMA
(95-00)

5/8 2-Φ8.7×70 M10×1

C/M

30610-1S504
30610-2S404
30610-2S454
30610-25407

N26015 NAVARA(D22)
(97- )

5/8 2-Φ8.7×70 M10×1

C/M

30610-3S107
30610-3S104
30610-3S101
30610-3S151

N26016 PICK UPD22
(02- )

5/8 2-Φ8.7×70 M10×1

C/M 30610-VW017 N26017
ALMERAMK II
URVAN CARAVAN

(01- )
5/8 2-Φ8.7×70 M10×1

C/M

30610-C8203
30610-C7301
30610-C7300
30610-C8201
30610-C7311

N26018
PATROLK160,
K260,W160
(86-90)

5/8 2-Φ8.7×70 M10×1

C/M 30610-J5300 N26019 C340
(76-82)

5/8 2-Φ8.7×57 M10×1

C/M 30610-1E420 N26020 BLUEBIRD 5/8 2-Φ8.7×70 M10×1

C/M

30610-6N160
30610-6N610
30610-VW007
30610-JR80
30610-VW000

N26021 FRONTIER SEL
(07- )

5/8 2-Φ8.7×70 M10×1

C/M

30610-W1110
30610-55S10
30610-C8202
30610-C6001
30610 W7000

N26022 BLUEBIRD
(80-83)

5/8 2-Φ8.7×70 M10×1

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 19 -

NISSAN CLUTCH MASTER CYLINDERASSEMBLY
ITEM OEM Description DIA FSD SPS Picture

C/M

30610-01N03
30610-01N01
30610-01N02
30610-01N04
30610-01N11
30610-01N12
30610-17N01
30610-17N02
30610-17N10

N26023
DATSUN,ATLAS
CARAVAN BOX

(86-97)
5/8 2-Φ8.7×70 M10×1

C/M 30610-T8001 N26024
ATLAS (F22)
CABSTAR
(82-93)

5/8

C/M 134495
30610-9E000 N26025

ALTIMA
2.4L L4
(98- )

5/8

C/M 30610-61R01 N26026 5/8

C/M N26027 5/8

C/M 30610-T8002 N26028 5/8

C/M

30610-3S507
30610-3S501
30610-3S557
30610-9Z400

N26029 XTERRA
(00-02)

5/8 φ9×70 M10×1

C/M 46801-00Z00 N26030 CW520
(90- )

3/4 2-Φ12.5×80 M10×1

C/M 46801-Z0005
46801-Z0006 N26031 UD6,UD8

(74- )
3/4

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 20 -

NISSAN CLUTCH MASTER CYLINDERASSEMBLY
ITEM OEM Description DIA FSD SPS Picture

C/M 30610-01J00 N26032 PATROL
(84- )

5/8

C/M 30610-EA00A
30610-EA000 N26033

PATHFINDER
NAVARA
(04- )

5/8

C/M 30610-7F000 N26034 TERRANO II
(92- )

5/8

C/M 30610-95F0A N26035

ALMERATINO II

X-TRAIL PRIMERA

SENTRASUNNY

(97- )

5/8

C/M 30610-C4200 N26036 PATROL 60
(85- )

5/8

C/M
30610-VB00A
30610-VB000
30610-VB001

N26037 PATROLGR II
(97- )

11/16

C/M 30610-EB70A
30610-JR80A N26038 NAVARA (D40)

(04- )
5/8

C/M 30610-3S152
30610-3S108 N26039

PATHFINDER
PICK UP
(97- )

5/8

C/M

C/M

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 21 -

NISSAN BRAKE MASTER CYLINDERASSEMBLY
ITEM OEM Description DIA FSD SPS Picture

B/M

46010-U0206
46010-U0207
46010-N2005
46010-N2006
46010-B5012
46010-B5015

N08001 510
(68-73)

3/4 2-Φ8.7×60 M10×1

B/M

46010-U8900
46010-U8901
46010-U8701
46010-W6501

N08002
A10,B310,210,510,

810
(77-81)

13/16 2-Φ8.7×60 M10×1

B/M 46010-J0117
46010-13W00 N08003 620

(73-80)
7/8 2-Φ8.7×60 M10×1

B/M

46010-W8700
46010-W8701
46010-N8500
46010-E8701
46010-E8702
46010-N4301
46010-N4700

N08004 430
(79-81)

7/8 2-Φ8.7×60 M10×1

B/M 46010-01A00
46010-01A05 N08005

SUNNY B11, PULSAR
N12, SENTRA

(82-88)

3/4-15

/16
2-Φ8.7×80 M10×1

B/M

46010-A05G0
46010-04B00
46010-04B05
46010-04B15

N08006
SUNNY B11,
SENTRAGAS

(84-90)

3/4-15

/16
2-Φ8.7×80 M10×1

B/M

46010-Y02G0
46010-Y02G1
46010-72Y04
46010-72Y24
46010-72Y14
46010-72Y74

N08007
SUNNY B13,331,
NX,SENTRA

(90-94)
3/4 2-Φ8.7×80 M10×1

B/M

46010-43U00
46010-1E400
46010-2B100
46010-0Z400

N08008
MAXIMA,CEFIR
OA32 W/OABS

(95~)
15/16 2-Φ8.7×80 M10×1

B/M

46010-F4001
46010-49L01
46010-25G00
46010-F4000
46010-J0800

N08009 720，D21,D22
(96-98)

15/16 2-Φ8.7×80 M10×1

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 22 -

NISSAN BRAKE MASTER CYLINDERASSEMBLY
ITEM OEM Description DIA FSD SPS Picture

B/M

46010-P08G1
46010-P08G0
46010-C6101
46010-54W20

N08010 DATSUN 15/16 2-Φ8.7×80 M10×1

B/M 46010-07N01 N08011 URVAN
(00-01)

1 Φ9×80 M10×1

B/M 46010-VW001 N08012 URVAN
(02-05)

1 Φ9×80 M10×1

B/M 46010-00QAB N08013 PLATINA 13/16 Φ9×60 M10×1

B/M 46010-09G00
46010-V7400 N08014 PATHFINDER

(87-90)
15/16 Φ9×80 M10×1

B/M

46010-V7820
46010-06F00
46010-V7800
46010-04P00
46010-04P20
46010-21P00
46010-32F20
46010-53L00
46010-53L20
46010-56L20

N08015
SKYLINE,LAUREL,
CEDRIC,GLORIA

(84-95)
15/16 Φ9×80 M10×1

B/M
46010-67A00
46010-52A00
46010-67A01

N08016
SENTRA,SUNNY
B12,PULSAR N13

(86-90)

3/4-15

/16
Φ9×80 M10×1

B/M 46010-66E00
46010-85E23 N08017 SUNNY N13,B12

(86-91)
15/16 Φ9×80 M10×1

B/M 46010-G3800
46010-01C00 N08018 C120

(82-85)
13/16 Φ9×80 M10×1

B/M

46010-B5000
46010-B5003
46010-H3100
46010-H3101
46010-H5101

N08019 B210,620
(71-75)

11/16 Φ9×60 M10×1

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 23 -

NISSAN BRAKE MASTER CYLINDERASSEMBLY
ITEM OEM Description DIA FSD SPS Picture

B/M 46010-R9000
46010-R9560 N08020 E23

(80- )
15/16 Φ9×60 M10×1

B/M 46010-AB643
46010-58Y22 N08021

PULSAR III
SUNNYMK
ADWAGON

(90-00)

13/16 Φ9×80 M10×1

B/M
46010-AB342
46010-T6400
46010-AB463

N08022 CABSTAR
(82-92)

1 Φ9×80 M10×1

B/M

46010-31W00
46010-31W01
46010-P8000
46010-C7000

N08023
PICK UP 2WD

HD
（86-88）

15/16 Φ9×80 M10×1

B/M 46010-H5100 N08024
PICK UP 620
SUMNY B210

(71-75)
11/16 Φ8.5×60 M10×1

B/M 46010-41U10
46010-41U05 N08025

MAXIMA(A32)
CEFIRO
(94-00)

15/16

B/M 46010-45G00 N08026 PATHFINDER
(98- )

15/16

B/M 46010-63C00
46010-4B000 N08027 SENTRA

(92-95)
13/16

B/M

46010-60A01
46010-60A00
46010-61A01
46010-59A01

N08028 SUNNY II
(88-91)

13/16-1

B/M 46010-06F18 N08029 15/16

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 24 -

NISSAN BRAKE MASTER CYLINDERASSEMBLY
ITEM OEM Description DIA FSD SPS Picture

B/M 46010-EB328 N08030 NAVARA (D40M)
(05- )

1

B/M 46010-G1500 N08031 STANZA
(81-85)

13/16

B/M

46010-VK9AB
46010-VK94B
46010-3S410
46010-VK948
46010-VK92A

N08032 NP300
(09-13)

15/16

B/M
46010-C8101
46010-01G00
46010-C8100

N08033 PATROL
(88-97)

1

B/M 46010-06P02
46010-92G00 N08034

NAVARAPICK
UP

(85-98)
1

B/M 46010-G6300 N08035
NOMAD
BOX(C22)
(86-95)

7/8

B/M N08036 1-1/8

B/M 46010-0T020 N08037
ATLAS

CONDOR
(91-95)

1-1/16

B/M 46010-BM500
46010-VK101 N08038 1

B/M N08039 7/8

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 25 -

NISSAN BRAKE MASTER CYLINDERASSEMBLY
ITEM OEM Description DIA FSD SPS Picture

B/M

46010-C6001
46010-13W10
46010-48W00
46010-01L00
46010-18W10
46010-01W10
46010-02W10

N08040 PATROL 720
(79-89)

7/8

B/M 46010-D2800 N08041

NISSAN
STANZA Saloon

STANZAHatchback
(81-85)

7/8 φ9×80 M10×1

B/M 46010-1M320 N08042

PULSAR I
Hatchback
ALMERA
(95-00)

7/8 φ9×80 M10×1

B/M N08043 1 φ9×80 M10×1

B/M N08044 1 φ8.5×80 M10×1

B/M 46010-VB001 N08045
PATROLGR

Mk II
(97- )

1 φ9×75×45 M10×1

B/M N08046
3/4-

15/16
2-Φ9×80

4-

M10×1

B/M

46010-5M100
46010-4Z710
46010-62J21
46010-40U10

N08047
SENTRA w/o
ABS 02-06 1.8L

(00-06)
15/16 2-Φ9×80 M10×1

B/M 46010-W2600 N08048 720 7/8

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 26 -

NISSAN BRAKE MASTER CYLINDERASSEMBLY
ITEM OEM Description DIA FSD SPS Picture

B/M D6010-3XT0A N08049 NV350
(12- )

13/16

B/M D6010-1HK1A
D6010-1HK0A

N08050 VERSAMARCH
(12- )

7/8

B/M 46010-F4005 N08051
PICKUP
(02- )

15/16

B/M D6010-JG80A N08052 X-TRAIL
(07-13)

15/16

B/M 46010-8B000
46010-8B500 N08053 PICKUP

(96-97)
1

B/M 46010-7B400
46010-7B700 N08054 FRONTIER

(00-02)
1

B/M

46010-0B002
46010-0B000
F3XY2140A
XF5Z2140BB

N08055

QUEST
MERCURY
VILLAGER

(93-98)

1

B/M 46010-F4100 N08056 TSUBAME
(93-04)

13/16

B/M 46010-5M200
46010-4Z720 N08057 MAXIMA

(94-98)
15/16

B/M
46010-0B001
XF5Z2140AB
F3XY2140B

N08058 QUEST
(97-00)

1-1/16

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 27 -

NISSAN BRAKE MASTER CYLINDERASSEMBLY
ITEM OEM Description DIA FSD SPS Picture

B/M 46010-1M800 N08059 SENTRA
(96-00)

7/8

B/M D6010-EL01B
D6010-EL01A

N08060 TIIDA
(09-12)

7/8

B/M 46010-ET000 N08061 SENTRAB16
(07-12)

15/16

B/M
46010-8H900
46010-8H901
46010-8H90A

N08062 X-TRAIL
(01-07)

1

B/M 46010-8H910 N08063 X-TRAIL
(01-07)

1

B/M 46010-3SG4B N08064 SENTRAB17
(13-17)

15/16

B/M 46010-3SG1B N08065
SENTRAL4 1.8

1.6
(14- )

15/16

B/M 46010-4KH1B N08066 NP300
(15-18)

1

B/M 46010-1N800 N08067 ALMERA I
(95-00)

7/8

B/M 46010-95F0C
46010-95F0D N08068

SUNNYALMERA
B10RS QG16
SUNNYNEW

(06- )

13/16

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 28 -

NISSAN BRAKE MASTER CYLINDERASSEMBLY
ITEM OEM Description DIA FSD SPS Picture

B/M 46010-VB000
46010-VS40A

N08069 PATROLGR II
(97- )

1

B/M 46010-00Q04/LB N08070 APRIO
PREMIUM

13/16

B/M 46010-JR80A N08071 NAVARAD40 1

B/M 46010-02J00 N08072 PATROLGR I
(87-98)

1-1/16

B/M 46010-R9000
AL N08073 E23

(80- )
15/16

B/M D6010-1HB1A N08074 7/8

B/M 46010-2M124 N08075 Pulsar Sentra
Sunny

7/8

B/M 46010-8J000 N08076 ALTIMA
(02-06)

15/16

B/M 46010-WJ601 N08077 CIVILIAN
(00- )

1-1/8

B/M 46010-ED526 N08078

GENISS LIVINA
GENISS MPV

TIIDA
LIVINA
(05 )

15/16

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 29 -

NISSAN BRAKE MASTER CYLINDERASSEMBLY
ITEM OEM Description DIA FSD SPS Picture

B/M 46010-EA220 N08079
FRONTIER
XTERRA
(05-10)

1

B/M

B/M

B/M

B/M

B/M

B/M

B/M

B/M

B/M

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 30 -

TOYOTABRAKEWHEELCYLINDERASSEMBLY
ITEM OEM Description DIA FSD SPS Picture

W/C

47550-16030
47550-16060
47550-16080
47550-19155
47550-20100
47550-20120
47550-12090
47550-16040
47550-20102

T10101 CORONACE,AE
(83-94)

11/16 M6×27×7 M10×1

W/C

47570-12030
47570-16010
47570-16040
47570-16050
47570-19035
47570-20010
47570-20030
47570-20031
47570-20032

T10102 CORONACE,AE
(83-94)

11/16 M6×27×7 M10×1

W/C
47550-52010
47550-52011
47550-02120

T10103 COROLLA,VIOS
(00~)

11/16 M6×13.5×7 M10×1

W/C
47570-52010
47570-52011
47570-02090

T10104 COROLLA,VIOS
(00~)

11/16 M6×13.5×7 M10×1

W/C 47550-02100 T10105 3/4 M6×13.5×7 M10×1

W/C 47570-02020 T10106 3/4 M6×13.5×7 M10×1

W/C

47550-20160
47550-32010
47550-39285
47550-20150
47550-20211
47550-20130

T10107

CAMRY,CARINA,
CELICA, TERCEL,

COROLLA
(89-94)

3/4 M6×27×7 M10×1

W/C

47570-20101
47570-32010
47570-39115
47570-20060
47570-20040
47570 20050

T10108

CAMRY,CARINA,
CELICA, TERCEL,

COROLLA
(89-94)

3/4 M6×27×7 M10×1

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 31 -

TOYOTABRAKEWHEELCYLINDERASSEMBLY
ITEM OEM Description DIA FSD SPS Picture

W/C

47550-04020
47550-30140
47550-26130
47550-35260

T10109

TACOMAII PICKUP
HIACE IVWAGON
HIACE IV BOX

(95- )

1 M6×40×12 M10×1

W/C 47550-0K010
47550-71010 T10110

HILUX(VIGO)III
PICK UP
(05- )

15/16 M6×40×12 M10×1

W/C

47510-69065
47510-60020
47510-60050
47510-69025

T10111
HJ-47,BJ-45,

FJ-45
(80~)

1 1/8 M8×40×40 M10×1

W/C 47520-69025 T10112
HJ-47,BJ-45,

FJ-45
(80~)

1 1/8 M8×40×40 M10×1

W/C

47530-69055
47530-60010
47530-60040
47530-69016
47530-69065

T10113
HJ-47,BJ-45,

FJ-45
(80~)

1 1/8 M8×40×40 M10×1

W/C 47540-69025 T10114
HJ-47,BJ-45,

FJ-45
(80~)

1 1/8 M8×40×40 M10×1

W/C

47510-69055
47510-36071
47510-29085
47510-69035

T10115
HJ-45,FJ-55,
BJ-40,43
(75-80)

1 1/4 M8×40×40 M10×1

W/C

47520-69015
47520-36041
47520-29085
47520-69035

T10116
HJ-45,FJ-55,
BJ-40,43
(75-80)

1 1/4 M8×40×40 M10×1

W/C

47530-69045
47530-36071
47530-29085
47530-69015
47530-69025
47530-69035

T10117
HJ-45,FJ-55,
BJ-40,43
(75-80)

1 1/4 M8×40×40 M10×1

W/C

47540-69015
47540-36041
47540-29085
47540-69035

T10118
HJ-45,FJ-55,
BJ-40,43
(75-80)

1 1/4 M8×40×40 M10×1

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 32 -

TOYOTABRAKEWHEELCYLINDERASSEMBLY
ITEM OEM Description DIA FSD SPS Picture

W/C

47550-69016
47550-69095
47550-29085
47550-29015
47550-87305
47550-36120
47550-39235

T10119 FJ-45,55
(71-73)

1 1/8 M8×40×40 M10×1

W/C

47560-69015
47560-69075
47560-29015
47560-29075
47560-87303
47560-36120
47560-39085

T10120 FJ-45,55
(71-73)

1 1/8 M8×40×40 M10×1

W/C

47570-69016
47570-69085
47570-29015
47570-29075
47570-87305
47570-39075
47570-36120

T10121 FJ-45,55
(71-73)

1 1/8 M8×40×40 M10×1

W/C

47580-69015
47580-69075
47580-29015
47580-29075
47580-87303
47580-36120
47580-39075

T10122 FJ-45,55
(71-73)

1 1/8 M8×40×40 M10×1

W/C
47510-39126
47510-87306
47510-39216

T10123 RY
（70-77）

1 1/4 M8×40×40 M10×1

W/C 47520-87303 T10124 RY
（70-77）

1 1/4 M8×40×40 M10×1

W/C
47530-39015
47530-87306
47530-39126

T10125 RY
（70-77）

1 1/4 M8×40×40 M10×1

W/C 47540-87303 T10126 RY
（70-77）

1 1/4 M8×40×40 M10×1

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 33 -

TOYOTABRAKEWHEELCYLINDERASSEMBLY
ITEM OEM Description DIA FSD SPS Picture

W/C
47550-69045
47550-69075
47550-60031

T10127 FJ-40
(74-75)

7/8 M8×40×40 M10×1

W/C
47560-69035
47560-69055
47560-60031

T10128 FJ-40
(74-75)

7/8 M8×40×40 M10×1

W/C
47570-69035
47570-69065
47570-60031

T10129 FJ-40
(74-75)

78 M8×40×40 M10×1

W/C
47580-69035
47580-69055
47580-60031

T10130 FJ-40
(74-75)

7/8 M8×40×40 M10×1

W/C 47550-69055
47550-69085 T10131 BJ-40,43

(74-84)
15/16 M8×40×40 M10×1

W/C 47560-69045
47560-69065 T10132 BJ-40,43

(74-84)
15/16 M8×40×40 M10×1

W/C

47570-69045
47570-69075
47570-69015
47570-69055

T10133 BJ-40,43
(74-84)

15/16 M8×40×40 M10×1

W/C 47580-69045
47580-69065 T10134 BJ-40,43

(74-84)
15/16 M8×40×40 M10×1

W/C 47510-35070 T10135 YK110
(86~)

M8×40×40 M10×1

W/C 47520-35040 T10136 YK110
(86~)

M8×40×40 M10×1

qp

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 34 -

TOYOTABRAKEWHEELCYLINDERASSEMBLY
ITEM OEM Description DIA FSD SPS Picture

W/C 47530-35070 T10137 YK110
(86~)

M8×40×40 M10×1

W/C 47540-35040 T10138 YK110
(86~)

M8×40×40 M10×1

W/C

47550-60010
47550-60011
47550-60050
47550-69025
47550-69035

T10139 FJ40
(70~)

1 M8×40×40 M10×1

W/C

47560-60010
47560-60011
47560-60050
47560-69025

T10140 FJ40
(70~)

1 M8×40×40 M10×1

W/C

47570-60010
47570-60011
47570-60050
47570-69025

T10141 FJ40
(70~)

1 M8×40×40 M10×1

W/C

47580-60010
47580-60011
47580-60050
47580-69025

T10142 FJ40
(70~)

1 M8×40×40 M10×1

W/C 47550-36100 T10143
DYNA BU62

3.5T,4.6T,4.8T(4W)
(86~)

1 M8×40×40 M10×1

W/C 47560-36100 T10144
DYNA BU62

3.5T,4.6T,4.8T(4W)
(86~)

1 M8×40×40 M10×1

W/C 47570-36100 T10145
DYNA BU62

3.5T,4.6T,4.8T(4W)
(86~)

1 M8×40×40 M10×1

W/C 47580-36100 T10146
DYNA BU62

3.5T,4.6T,4.8T(4W)
(86~)

1 M8×40×40 M10×1

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 35 -

TOYOTABRAKEWHEELCYLINDERASSEMBLY
ITEM OEM Description DIA FSD SPS Picture

W/C

47510-29145
47510-26030
47510-29225
47510-39095
47510-39165
47510-29045
47510-35060
47510-29065
47510-39066
47510-29235

T10147 RH,RN30,40
(78~)

1 1/8

M8×14×24

M8×19×24

M8×8×26

M10×1

W/C

47520-29065
47520-26010
47520-29135
47520-39065
47520-39125
47520-29225
47520-29045
47520-29145
47520-35030
47520-26030

T10148 RH,RN30,40
(78~)

1 1/8

M8×14×24

M8×19×24

M8×8×26

M10×1

W/C

47530-29145
47530-26030
47530-29225
47530-39095
47530-39165
47530-29065
47530-29045
47530-29075
47530-35060
47530-39035
47530-29235

T10149 RH,RN30,40
(78~)

1 1/8

M8×14×24

M8×19×24

M8×8×26

M10×1

W/C

47540-29065
47540-26010
47540-29135
47540-39065
47540-39125
47540-29225
47540-29045
47540-29145
47540-35030
47540-29035
47540-26030

T10150 RH,RN30,40
(78~)

1 1/8

M8×14×24

M8×19×24

M8×8×26

M10×1

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 36 -

TOYOTABRAKEWHEELCYLINDERASSEMBLY
ITEM OEM Description DIA FSD SPS Picture

W/C

47550-29105
47550-29106
47550-19125
47550-19045
47550-19065
47550-29125
47550-12020

T10151
CARINA,CELICA,

RT100,KE20
(73-81)

3/4 M6×35×10 M10×1

W/C

47550-29026
47550-29115
47550-19135
47550-12060
47550-29035
8-94206-594-0
94206594

T10152
COROLLA,KF40,50

(71-73)
13/16 M6×35×10 M10×1

W/C

47550-14020
47550-19145
47550-22060
47550-27030
47550-29075

T10153
CRESSIDA,CELICA

,CORONA, KF
(79-89)

7/8 M6×35×10 M10×1

W/C 47550-27020
47550-27040 T10154

ZACE KF40,
50 1.5 1.8
(96- )

15/16 M6×35×10 M10×1

W/C
47550-19105
47550-19106
47550-16011

T10155
CL10,11,12,
TERCEL
(80-82)

5/8 M6×27×11 M10×1

W/C

47550-19095
47550-19096
47550-19097
47550-10042

T10156 KP,AL,STARLET
(78~)

3/4 M6×27×11 M10×1

W/C

47550-19115
47550-19116
47550-19117
47550-19165
47550-11032

T10157
KE,TE,STARLET,

COROLLA
(78~)

13/16 M6×27×11 M10×1

W/C 47550-39165
47550-39166 T10158

HILUX RN50
TRUCK
(84~)

11/16 M8×42×8 M10×1

W/C
47550-39125
47550-29305
47550-35160

T10159
PICKUP,

4RUNNER,4*4
(84-85)

3/4 M8×42×8 M10×1

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 37 -

TOYOTABRAKEWHEELCYLINDERASSEMBLY
ITEM OEM Description DIA FSD SPS Picture

W/C
47550-29275
47550-26100
47550-29175

T10160 RN20,25
(74-78)

13/16 M8×42×8 M10×1

W/C

47550-39115
47550-29265
47550-26090
47550-39116
47550-19175

T10161 RN20,25
(74-78)

7/8 M8×42×8 M10×1

W/C 47510-27040
47510-29205 T10162 LITEACE

(79-86)
15/16

M8×20×14.5

M8×27×14.5

M8×20.5×17.5

M10×1

W/C
47520-27040
47520-29125
47520-29215

T10163 LITEACE
(79-86)

15/16

M8×20×14.5

M8×27×14.5

M8×20.5×17.5

M10×1

W/C
47530-27040
47530-29205
47540-29215

T10164 LITEACE
(79-86)

15/16

M8×20×14.5

M8×27×14.5

M8×20.5×17.5

M10×1

W/C 47540-27040
47540-29125 T10165 LITEACE

(79-86)
15/16

M8×20×14.5

M8×27×14.5

M8×20.5×17.5

M10×1

W/C
47510-29165
47510-29166
47510-28010

T10166 KF-20
(82~)

1

M8×18×18

M8×18×18

M8×22×12

M10×1

W/C
47520-29095
47520-29096
47520-28010

T10167 KF-20
(82~)

1

M8×18×18

M8×18×18

M8×22×12

M10×1

W/C
47530-29165
47530-29166
47530-28010

T10168 KF-20
(82~)

1

M8×18×18

M8×18×18

M8×22×12

M10×1

W/C
47540-29095
47540-29096
47540-28010

T10169 KF-20
(82~)

1

M8×18×18

M8×18×18

M8×22×12

M10×1

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 38 -

TOYOTABRAKEWHEELCYLINDERASSEMBLY
ITEM OEM Description DIA FSD SPS Picture

W/C

47550-29055
47550-21011
47550-29065
47500-29066

T10170 KF-20
(82~)

11/16 M6×35×10 M10×1

W/C T10171

CHARMANT,CARINA,

CELICA,COROLLA,

CRESSIDA,LITEACE,

(88-92)

5/8 M6×35×10 M10×1

W/C 47510-29155 T10172
LITEACE

KM10,KM11
(77-79)

15/16

M8×18×18

M8×18×18

M8×22×12

M10×1

W/C 47520-29075 T10173
LITEACE

KM10,KM11
(77-79)

15/16

M8×18×18

M8×18×18

M8×22×12

M10×1

W/C 47530-29155 T10174
LITEACE

KM10,KM11
(77-79)

15/16

M8×18×18

M8×18×18

M8×22×12

M10×1

W/C 47540-29075 T10175
LITEACE

KM10,KM11
(77-79)

15/16

M8×18×18

M8×18×18

M8×22×12

M10×1

W/C 47550-32020 T10176 CAMRY
(87-91)

3/4 M6×27×17.5 M10×1

W/C 47570-32020 T10177 CAMRY
(87-91)

3/4 M6×27×17.5 M10×1

W/C 47550-33010
47550-06010 T10178 CAMRY

(92-96)
13/16 M6×27×17.5 M10×1

W/C 47570-33010
47570-06010 T10179 CAMRY

(92-96)
13/16 M6×27×17.5 M10×1

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 39 -

TOYOTABRAKEWHEELCYLINDERASSEMBLY
ITEM OEM Description DIA FSD SPS Picture

W/C 47550-57C20
47550-97204 T10180

DAIHATSU
CUORE VII VIII

CHARADE
(07- )

11/16

W/C 47550-0E900 T10181 COROLLA
(85-88)

3/4

W/C 47550-55081 T10182 TRUCK 1-5/8
M10×1.25×54

×40
M12×1

W/C 47560-55081 T10183 TRUCK 1-5/8
M10×1.25×54

×40

M14×1.5

M12×1

W/C 47550-55033 T10184 DA116,DB105
(78~)

1-5/8
M10×1.25×54

×40
M12×1

W/C 47560-55033 T10185 DA116,DB105
(78~)

1-5/8
M10×1.25×54

×40

M14×1.5

M12×1

W/C

47550-30120
47550-87613
47550-39215
47550-28040

T10186
CROWN RUSH

CLOSED
(06- )

13/16 M6×40×12 M10×1

W/C
47550-30130
47550-39275
47550-28020

T10187
CROWN,MODELL,

HILUX,LAND
(87-90)

7/8 M6×40×12 M10×1

W/C 47550-61105 T10188 LAND
(90-96)

15/16 M6×40×12 M10×1

W/C
47550-69105
47550-60120
47550-35210

T10189

HIACE
SOLEMIO DX
CRUISER
BJ,RJ,HJ
(96~)

1 M6×40×12 M10×1

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 40 -

TOYOTABRAKEWHEELCYLINDERASSEMBLY
ITEM OEM Description DIA FSD SPS Picture

W/C 47510-60100 T10190 LAND HJ60
(81-88)

1 1/4 M8×40×40 M10×1

W/C 47520-60030 T10191 LAND HJ60
(81-88)

1 1/4 M8×40×40 M10×1

W/C 47530-60090 T10192 LAND HJ60
(81-88)

1 1/4 M8×40×40 M10×1

W/C 47540-60030 T10193 LAND HJ60
(81-88)

1 1/4 M8×40×40 M10×1

W/C MD-1024 T10194 F70,F75
(85-87)

1 M6×40×12 M10×1

W/C MD-1025 T10195 F70,F75
(85-87)

1 M6×40×12 M10×1

W/C 47510-19075 T10196 KE30
(74-79)

7/8 M10×1

W/C 47520-19065
47520-19075 T10197 KE30

(74-79)
7/8 M10×1

W/C 47530-19075
47530-19085 T10198 KE30

(74-79)
7/8 M10×1

W/C 47540-19065
47540-19075 T10199 KE30

(74-79)
7/8 M10×1

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 41 -

TOYOTABRAKEWHEELCYLINDERASSEMBLY
ITEM OEM Description DIA FSD SPS Picture

W/C 47510-19046
47510-19036 T10200 KE20

(70-74)
7/8 M10×1

W/C 47520-19036
47520-19046 T10201 KE20

(70-74)
7/8 M10×1

W/C 47530-19046
47530-19036 T10202 KE20

(70-74)
7/8 M10×1

W/C 47540-19036
47540-19046 T10203 KE20

(70-74)
7/8 M10×1

W/C 47550-08010 T10204 SOLARA
(99~)

7/8 M6×32.5×16 M10×1

W/C 47550-35150 T10205 4-RUNNER
(89~)

7/8 M6×40×12 M10×1

W/C
47550-35170
47550-35190
47550-35280

T10206 4-RUNNER
(89~)

7/8 M6×40×12 M10×1

W/C

47550-30100
47550-35180
47550-39175
47550-30150

T10207 LAND CRUISER
(90-96)

15/16 M6×40×12 M10×1

W/C 47550-69115
47550-60130 T10209

HJ-47,BJ-45,
FJ-45
(80~)

1 1/8 M6×40×12 M10×1

W/C 47510-25050 T10210 RINO,PS115
(72-74)

1 1/4
M10×1.25

×45×42
M10×1

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 42 -

TOYOTABRAKEWHEELCYLINDERASSEMBLY
ITEM OEM Description DIA FSD SPS Picture

W/C 47520-25040
47520-25050 T10211 RINO,PS115

(72-74)
1 1/4

M10×1.25

×45×42
M10×1

W/C 47530-25050 T10212 RINO,PS115
(72-74)

1 1/4
M10×1.25

×45×42
M10×1

W/C 47540-25040 T10213 RINO,PS115
(72-74)

1 1/4
M10×1.25

×45×42
M10×1

W/C
47550-36080
47550-39265
47550-36020

T10214 RINO,PS115
(72-74)

1 1/8
M10×1.25

×45×42
M10×1

W/C

47560-36080
47560-39115
47560-36020
47560-39026

T10215 RINO,PS115
(72-74)

1 1/8
M10×1.25

×45×42
M10×1

W/C 47570-36080
47570-39105 T10216 RINO,PS115

(72-74)
1 1/8

M10×1.25

×45×42
M10×1

W/C

47580-36080
47580-39105
47580-36060
47580-39085

T10217 RINO,PS115
(72-74)

1 1/8
M10×1.25

×45×42
M10×1

W/C

47510-36060
47510-39047
47510-39135
47510-39110
47510-39125

T10218 DYNA BU30
(78~)

1 1/4
M10×1.25

×45×42
M10×1

W/C

47520-36060
47520-39105
47520-39110
47520-39135
47520-39095

T10219 DYNA BU30
(78~)

1 1/4
M10×1.25

×45×42
M10×1

W/C

47530-36060
47530-39047
47530-39135
47530-39110
47530 39125

T10220 DYNA BU30
(78~)

1 1/4
M10×1.25

×45×42
M10×1

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 43 -

TOYOTABRAKEWHEELCYLINDERASSEMBLY
ITEM OEM Description DIA FSD SPS Picture

W/C

47540-36060
47540-39105
47540-39110
47540-39135
47540-39036
47540-39095

T10221 DYNA BU30
(78~)

1 1/4
M10×1.25

×45×42
M10×1

W/C 47550-36110 T10222 DYNA BU67 5.2T
(86~)

1
M10×1.25

×45×42
M10×1

W/C 47560-36110 T10223 DYNA BU67 5.2T
(86~)

1
M10×1.25

×45×42
M10×1

W/C 47570-36110 T10224 DYNA BU67 5.2T
(86~)

1
M10×1.25

×45×42
M10×1

W/C 47580-36110 T10225 DYNA BU67 5.2T
(86~)

1
M10×1.25

×45×42
M10×1

W/C 47550-U6534 T10226 3/4 M6×35×10 M10×1

W/C 47510-07002
47510-37050 T10227 DYNABU222 8T

(96~)
1 1/8

M8×40×32.5

M14×1.5×38×2

5.5

M10×1

W/C 47520-07002
47520-37070 T10228 DYNABU222 8T

(96~)
1 1/8

M8×40×32.5

M14×1.5×38×2

5.5

M10×1

W/C 47530-07003
47530-37050 T10229 DYNABU222 8T

(96~)
1 1/8

M8×40×32.5

M14×1.5×38×2

5.5

M10×1

W/C 47540-07003
47540-37070 T10230 DYNABU222 8T

(96~)
1 1/8

M8×40×32.5

M14×1.5×38×2

5.5

M10×1

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 44 -

TOYOTABRAKEWHEELCYLINDERASSEMBLY
ITEM OEM Description DIA FSD SPS Picture

W/C
47550-02503
47550-37070
47550-37140

T10231 DYNABU222 8T
(96~)

1-3/16

M12×1.25×64×

24

M14×1.5×

64×42

M10×1

W/C 47560-02503
47550-37040 T10232 DYNABU222 8T

(96~)
1-3/16

M12×1.25×64×

24

M14×1.5×

64×42

M10×1

W/C

47570-02503
47570-37030
47570-37100
47570-37070

T10233 DYNABU222 8T
(96~)

1-3/16

M12×1.25×64×

24

M14×1.5×

64×42

M10×1

W/C
47580-02503
47580-37030
47580-37040

T10234 DYNABU222 8T
(96~)

1-3/16

M12×1.25×64×

24

M14×1.5×

64×42

M10×1

W/C 47550-OK030 T10235 13/16 M6×40×12 M10×1

W/C 47550-BF601
47560-BZ010 T10236 AVANZA 13/16 M6×35×10 M10×1

W/C 47560-BF601
47550-BZ010 T10237 AVANZA 13/16 M6×35×10 M10×1

W/C 47510-02504 T10241 COROLLA
(05~)

1-1/8
M10×1.25

×45×42
M10×1

W/C 47520-02504 T10242 COROLLA
(05~)

1-1/8
M10×1.25

×45×42
M10×1

W/C 47530-02504 T10243 COROLLA
(05~)

1-1/8
M10×1.25

×45×42
M10×1

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 45 -

TOYOTABRAKEWHEELCYLINDERASSEMBLY
ITEM OEM Description DIA FSD SPS Picture

W/C 47540-02504 T10244 COROLLA
(05~)

1-1/8
M10×1.25

×45×42
M10×1

W/C 47550-02505 T10245 COROLLA
(05~)

1-1/8
M10×1.25

×45×42
M10×1

W/C 47560-02505 T10246 COROLLA
(05~)

1-1/8
M10×1.25

×45×42
M10×1

W/C 47570-02505 T10247 COROLLA
(05~)

1-1/8
M10×1.25

×45×42
M10×1

W/C 47580-02505 T10248 COROLLA
(05~)

1-1/8
M10×1.25

×45×42
M10×1

W/C 47510-39037 T10249 BU 10
(72-77)

1-1/4
M10×1.25

×45×42
M10×1

W/C 47520-39037 T10250 BU 10
(72-77)

1-1/4
M10×1.25

×45×42
M10×1

W/C 47530-39037 T10251 BU 10
(72-77)

1-1/4
M10×1.25

×45×42
M10×1

W/C 47540-39037 T10252 BU 10
(72-77)

1-1/4
M10×1.25

×45×42
M10×1

W/C

47550-39027
47550-39255
47550-39225
47550-39259
47550-39036
47550 39037

T10253 BU 10
(72-77)

1-1/4
M10×1.25

×45×42
M10×1

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 46 -

TOYOTABRAKEWHEELCYLINDERASSEMBLY
ITEM OEM Description DIA FSD SPS Picture

W/C

47560-39027
47560-39225
47560-39105
47560-39065
47560-39075

T10254 BU 10
(72-77)

1-1/4
M10×1.25

×45×42
M10×1

W/C

47570-39027
47570-39095
47570-39225
47570-39065

T10255 BU 10
(72-77)

1-1/4
M10×1.25

×45×42
M10×1

W/C

47580-39027
47580-39225
47580-39095
47580-39065

T10256 BU 10
(72-77)

1-1/4
M10×1.25

×45×42
M10×1

W/C 47510-36090 T10257

DYNABU62
3.5T,4.6T,
4.8T(4W)
(86~)

1-1/8
M10×1.25

×45×42
M10×1

W/C 47520-36090 T10258

DYNABU62
3.5T,4.6T,
4.8T(4W)
(86~)

1-1/8
M10×1.25

×45×42
M10×1

W/C 47530-36090 T10259

DYNABU62
3.5T,4.6T,
4.8T(4W)
(86~ )

1-1/8
M10×1.25

×45×42
M10×1

W/C 47540-36090 T10260

DYNABU62
3.5T,4.6T,
4.8T(4W)
(86~ )

1-1/8
M10×1.25

×45×42
M10×1

W/C T10261 13/16

W/C 47550-07800 T10262
COROLLA
CRESSIDA
VENTURE

7/8

W/C 47550-26110
47550-35200 T10263 HIACE HILUX

(88~ )
15/16

qp

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 47 -

TOYOTABRAKEWHEELCYLINDERASSEMBLY
ITEM OEM Description DIA FSD SPS Picture

W/C 47550-04030 T10264 15/16

W/C
47550-09070
47550-09090
47550-09080

T10265
HILUX (VIGO)

III Pickup
（05- ）

7/8

W/C 47550-26140
47550-08030 T10266

HIACE IVWagon
REGIUSACE
Quantum V
HIACE V
（05- ）

7/8

W/C 47510-36080 T10267

DYNABus
DYNA 200

Flatbed Chassis
（88-95）

1-5/16

W/C 47520-36070
47520-36080 T10268

DYNABus
DYNA 200

Flatbed Chassis
（88-95）

1-5/16

W/C 47530-36080 T10269

DYNABus
DYNA 200

Flatbed Chassis
（88-95）

1-5/16

W/C 47540-36070
47540-36080 T10270

DYNABus
DYNA 200

Flatbed Chassis
（88-95）

1-5/16

W/C 47510-36100 T10271
DYNA 200

Flatbed Chassis
（88-95）

1-1/8

W/C 47520-36100 T10272
DYNA 200

Flatbed Chassis
（88-95）

1-1/8

W/C 47530-36100
47530-39090 T10273

DYNA 200
Flatbed Chassis

（88-95）
1-1/8

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 48 -

TOYOTABRAKEWHEELCYLINDERASSEMBLY
ITEM OEM Description DIA FSD SPS Picture

W/C 47540-36100 T10274
DYNA 200

Flatbed Chassis
（88-95）

1-1/8

W/C T10275 1-1/8

W/C T10276 1-1/8

W/C T10277 1-1/8

W/C T10278 1-1/8

W/C 47510-36170 T10279

DYNAXZU300L, 320L,

BU102, 112, 212

COASTER REB40, 50

BB42, BB58

(93- )

1-1/8
4-M10×1.25×4

5×42
M10×1

W/C 47520-36180
47520-37030 T10280

DYNAXZU300L, 320L,

BU102, 112, 212

COASTER REB40, 50

BB42, BB58

(93- )

1-1/8
4-M10×1.25×4

5×42
2-M10×1

W/C 47530-36170 T10281

DYNAXZU300L, 320L,

BU102, 112, 212

COASTER REB40, 50

BB42, BB58

(93- )

1-1/8
4-M10×1.25×4

5×42
M10×1

W/C 47540-36180
47540-37030 T10282

DYNAXZU300L, 320L,

BU102, 112, 212

COASTER REB40, 50

BB42, BB58

(93- )

1-1/8
4-M10×1.25×4

5×42
2-M10×1

W/C T10283 1 2-M6×40×15 M10×1

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 49 -

TOYOTABRAKEWHEELCYLINDERASSEMBLY
ITEM OEM Description DIA FSD SPS Picture

W/C T10284 15/16 2-M6×34×12 M10×1

W/C
PW891101
47550-0D010
47570-0D010

T10285 YARIS
(99-05)

3/4

W/C 47550-36200 T10286
DYNA 200

Platform/Chassis

(95-01)

1-1/8
M10×1.25

×45×42
M10×1

W/C 47560-36200 T10287
DYNA 200

Platform/Chassis

(95-01)

1-1/8
M10×1.25

×45×42
M10×1

W/C 47570-36200 T10288
DYNA 200

Platform/Chassis

(95-01)

1-1/8
M10×1.25

×45×42
M10×1

W/C 47580-36200 T10289
DYNA 200

Platform/Chassis

(95-01)

1-1/8
M10×1.25

×45×42
M10×1

W/C 47550-10S10 T10290 1-3/16

W/C 47560-10S10 T10291 1-3/16

W/C 47570-10S10 T10292 1-3/16

W/C 47580-10S10 T10293 1-3/16

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 50 -

TOYOTACLUTCH SLAVE CYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

C/S 31470-36050 T34101 DYNABU30 5.6T
(77~)

13/16 Φ8.5×28 M12×1

C/S

31470-30220
31470-30221
31470-30222
31470-22090
31470-27011

T34102

CRESSIDA,DYNA,
HIACE,HILUX,

SUPRA
(98-02)

13/16 Φ8.5×34 M10×1

C/S

31470-02403
31470-36211
31470-36212
31470-36213

T34103 DYNABU102,112
(96~)

3/4 Φ8.5×34 M12×1

C/S 31470-36040
31470-36041 T34104 DYNA BU15

(72-77)
3/4 Φ8.5×28 M10×1

C/S

31470-36011
31470-26020
31470-20091
31470-20090
31470-35022
31470-20110

T34105 RU,JY,JY,RN
(73-82)

3/4 Φ8.5×34 M10×1

C/S
31470-36070
31470-60021
31470-60022

T34107 HU,FJ-40,43
(77-81)

3/4 Φ10.5×45 M10×1

C/S

31470-60100
31470-60101
31470-60102
31470-60071
31470-60070
31470-60080
31470-60060
31470-60090
31470-60081
31470-60091

T34109 LAND CRUISER
(85~)

13/16 Φ10.5×45 M10×1

C/S

31470-20170
31470-12090
31470-20171
31470-12091
31470-12092
31470-12093

T34111

AVENSIS,CARINA,
CELICA,COROLL

A,HIACE
(97-00)

13/16 Φ9×34 M10×1

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 51 -

TOYOTACLUTCH SLAVE CYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

C/S

31470-35050
31470-35020
31470-30260
31470-35040
31470-35041
31470-35070
31470-20131
31470-27011
31470-35100
31470-20130
31470-22150

T34112

HIACE,HILUX,
LAND CRUISER,

MODELL
(84-96)

13/16 Φ9×28 M10×1

C/S 31470-10040
31470-12060 T34113

COROLLA,PASEO,
STARLET
(97-00)

7/8 Φ9×34 M10×1

C/S

31470-20151
31470-14020
31470-14021
31470-14030
31470-20150
31470-20190
31470-12070
31470-22030
31470-14031

T34114

CARINA,CELICA
,COROLLA
CRESSIDA
(82-87)

13/16 Φ9×34 M10×1

C/S 31470-26010
31470-35030 T34115 RN20,25,RH

(70-78)
5/8 Φ9×25 M10×1

C/S 31470-60050 T34116
LAND CRUISER

BJ45,BJ46
(80-84)

7/8 Φ9×28 M10×1

C/S 31470-60110 T34117
LAND CRUISER
BJ45,BJ46,BJ42

(81-87)
15/16 Φ9×28 M10×1

C/S 31470-36080 T34118 DYNARU30
(78~)

13/16 Φ9×34 M10×1

C/S

31470-32S75
31470-32020
31470-32021
31470-32022
31470-26060
31470-26061
31470 32010

T34120

AVENSIS,CARINA,
CELICA,COROLLA

,PREVIA,RAV
(03~)

13/16 Φ9×34 M10×1

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 52 -

TOYOTACLUTCH SLAVE CYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

C/S

31470-26030
31470-22020
31470-22040
31470-22021
31470-30120
31470-30092
31470-36100
31470-30100

T34121 HIACE I
(79-84)

3/4 Φ9×28 M10×1

C/S
31470-37080
31470-02402
31470-37040

T34122
DYNA Flatbed /

Chassis
(01- )

3/4 Φ9×34 M12×1

C/S

31470-28040
31470-26090
31470-26110
31470-26120

T34123
HIACE III
IV,LITEACE

(95- )
13/16 Φ9×34 M12×1

C/S 31470-35170 T34124
TACOMA II

Pickup
(82-05)

3/4

C/S 31470-38020
31470-30211 T34125

QUALIS
TAMARAWFX

(99-04)
7/8 Φ9×34 M10×1

C/S 31470-KF802 T34126 7/8 Φ9×28 M10×1

C/S 31470-35060 T34127 HILUX PICK UP
(79-93)

3/4 Φ9×28 M10×1

C/S

31470-10012
31470-10011
31470-10010
31470-10021

T34128
STARLET
COROLLA
(83-99)

3/4 Φ9×34 M10×1

C/S

31470-32032
31470-32030
31470-32031
31470-31030

T34129 CAMRY,CELICA
(86-91)

13/16 Φ9×34 M10×1

C/S 31470-12030 T34130
DAIHA

CHARMANT 1.6
(86-87)

13/16 Φ9×33.5 M10×1

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 53 -

TOYOTACLUTCH SLAVE CYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

C/S 31470-60151 T34131 LAND CRUISER
(90-98)

13/16 Φ8.5×33.5 M10×1

C/S

31470-12041
31470-12040
31470-12042
31470-12043

T34132

COROLLACARINA
Mk II CELICA
HOLDEN NOVA

(83-95)

13/16

C/S 31470-B0010 T34133

RUSH Closed
AVANZA

DAIHATSU TERIOS
(06- )

13/16

C/S 31470-35071 T34134

HIACE II LAND

CRUISER – BUNDERA

TARAGO Bus HILUX

SURF DYNA 100

(88- )

13/16

C/S 31470-36221 T34136

DYNA 200 150
PRITSCHE

FAHRGESTELL
COASTER Bus

(93-03)

13/16

C/S T34137 15/16

C/S 31470-60161
31470-60160 T34138 LAND CRUISER

(84- )
13/16

C/S 31470-60201
31470-60200 T34139

LAND CRUISER
SURF 4 RUNNER

(95- )
3/4

C/S 31470-20210 T34140 RAV 4 IPSUM
(94- )

7/8

C/S
31470-52010
31470-52011
31470-12200

T34141
YARIS VERSO

VITZ
(99- )

3/4

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 54 -

TOYOTACLUTCH SLAVE CYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

C/S 31470-35130
31470-35230 T34142

TACOMA II
Pickup SURF

(82-05)
13/16

C/S T34143 13/16

C/S T34144 13/16

C/S 31470-60180 T34145 LAND CRUISER
(90-98)

13/16

C/S 31470-60280 T34146
LAND CRUISER

100
(98- )

15/16

C/S 31470-60171 T34147 MR 2 I
(84-90)

7/8

C/S 31470-60290 T34148 LAND CRUISER
(84- )

7/8

C/S T34149 3/4

C/S 31470-52010
31470-52011 T34150 YARIS

(03- )
3/4

C/S T34151 3/4

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 55 -

TOYOTACLUTCH SLAVE CYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

C/S T34152 3/4

C/S T34153 3/4

C/S 31470-OK051
31470-OK050

T34154 QUALIS
(99-04)

7/8 φ9×34 M10×1

C/S
31470-0K030
31470-35140
31470-OK030

T34155

LAND CRUISER
PRADO

HIACE VWagon
(95- )

3/4

C/S 31470-35120 T34156 TACOMA
(95-05)

13/16

C/S 31470-0K020 T34157
HILUX III Pickup
KIJANG INNOVA

(03- )
13/16

C/S
31470-12140
31470-12110
31470-12111

T34158

AVENSIS
COROLLA

AURIS MATRIX
(01- )

13/16

C/S 31470-36290
31470-36291 T34159 COASTER BUS

(82- )
3/4

C/S 31470-52120
31470-52121 T34160 YARIS

(05- )
13/16

C/S 31470-0K010
31470-0K150 T34161

FORTUNER
HILUX
(01-13)

13/16

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 56 -

TOYOTACLUTCH SLAVE CYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

C/S 31470-52110
31470-52111 T34162

VIOS YARIS
SCION XD
(05-14)

3/4

C/S T34163 13/16

C/S

C/S

C/S

C/S

C/S

C/S

C/S

C/S

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 57 -

TOYOTACLUTCH MASTER CYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

C/M

31410-20080
31410-35071
31410-12011
31410-20111
31410-12060
31410-35070
31410-14140
31410-14131
31410-20290
31410-14041
31410-20160
31410-36017
31410-14040
31410-12000
31410-20282
31410-20281
31410-20140

T26101
RN25 CELICA

COROLLATE31,37
(79~)

5/8
Φ8.5×M8

×60
M10×1

C/M

31410-14010
31410-12050
31410-14030
31410-14260
31410-14271
31410-14261

T26102 COROLLATE31,37
(79~)

5/8
M8×30

Φ8.5×30
M10×1

C/M
31410-12041
31410-20120
31410-20122

T26103 CELICA
(79-85)

5/8 2-M8×60 M10×1

C/M

31410-20450
31410-12120
31410-12121
31410-12160
31410-12261
31410-12162
31410-12110
31410-12230

T26104 CARINA
(87-92)

5/8
M8×32

M8×40
M10×1

C/M

31410-12330
31410-12350
31410-12370
31410-12380
31410-12340
31410-12371
31410 12381

T26105 COROLLA
(90-98)

5/8
M8×32

M8×40
M10×1

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 58 -

TOYOTACLUTCHMASTER CYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

C/M

31410-35131
31410-35140
31410-35100
31410-35110
31410-35111
31410-14162
31410-22110
31410-30081
31410-30110
31410-30160
31410-14241
31410-24400
31410-35142
31410-35090
31410-35091
31410-35092

T26106
PICKUP

GAS,4RUNNER
(84-88)

5/8 2-Φ9×72 M10×1

C/M 31420-36072
31420-28072 T26107

DYNA
WU40,WU95

(86~)
5/8 Φ8.7×50 M12×1

C/M

31420-36130
31420-37040
31420-26170
31420-26160
31420-37050
31420-28110
31420-28120
31420-25040

T26108

DYNA
BU62,66,102,112,

MHB,BB42
(84~)

5/8 Φ8.7×50 M12×1

C/M

31410-26020
31420-26020
31420-36030
31420-36010
31410-36031
31420-36032
31420-26021
31420-26022
31420-25022
31420-26103
31420-26070
31420-36170
31420-26030
31420-26101
31420-26102

T26109 DYNABU30,JY30
(78~)

5/8 Φ8.7×50 M12×1

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 59 -

TOYOTACLUTCHMASTER CYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

C/M

31410-36070
31410-36020
31410-36021
31410-36030
31420-36020

T26110 RZ
(90-94)

5/8 Φ8.7×50 M12×1

C/M

31410-35270
31410-35271
31410-35250
31410-35280
31410-35231

T26111 HILUX PICK UP
(95~)

5/8 2-Φ8.7×72 M10×1

C/M

31410-12302
31410-12240
31410-12300
31410-12312
31410-12301

T26112 CARINA
(87-92)

5/8 2-M8×72 M10×1

C/M 31410-60460 T26113
LAND CRUISER
– BUNDERA

(84- )
5/8

Φ8.7×M8

×72
M10×1

C/M 31410-12200 T26114 COROLLA
(87-93)

5/8 2-M8×72 M10×1

C/M 31410-60370
31410-60372 T26115 LAND CRUISER

(95-97)
5/8 Φ8.5×M8

×72
M10×1

C/M T26116 5/8 2-M8×60 M10×1

C/M

31410-35062
31410-35061
31410-35063
31410-35064

T26117
HILUX 1600
RN20,25
(72-78)

5/8 2-M8×60 M10×1

C/M
31410-35072
31410-35073
31410-20150

T26119
HILUX 1600
RN20,25
(72-78)

5/8 2-M8×60 M10×1

C/M
31410-35082
31410-35200
31410-35201

T26120 PICK UP
(77-78)

5/8
Φ8.5×M8

×60
M10×1

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 60 -

TOYOTACLUTCHMASTER CYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

C/M

31410-24011
31410-24041
31410-24030
31410-35851

T26121

HILUX
LN36,40.PICKUP
GAS,4RUNNER

(81~)

5/8 2-M8×72 M10×1

C/M T26124 5/8 Φ8.5×60 M10×1

C/M
31410-27022
31410-27020
31410-27010

T26125 RU10,12,15
(67-77)

5/8
Φ8.5×M8

×60
M10×1

C/M
31410-12020
31410-27010
31410-35083

T26126 KF20 5/8
Φ8.5×M8

×60
M10×1

C/M 31410-14193 T26130 SUPRA
(88-93)

5/8 2-M8×72 M10×1

C/M 31410-04020
31410-35360 T26131 HILUX PICK UP

(89- )
5/8 2-Φ8.5×72 M10×1

C/M 31410-60040 T26132
LAND CRUISER

FJ60
(80- )

3/4
Φ8.5×M8

×72
M10×1

C/M

31410-36013
31401-36013
31401-36010
31401-36012

T26133
DYNA Flatbed

200 150
(88-95)

5/8

C/M

31410-22140
31410-22141
31410-22142
31410-24012
31410-35180
31410-35181
31410-35240

T26134

PICKUP
GAS,4RUNNER
COROLLA
(84-88)

5/8 2-Φ8.5×72 M10×1

C/M
31410-22261
31410-22231
31410-22260

T26135 CRESSIDA
(81-85)

5/8 2-Φ8.5×72 M10×1

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 61 -

TOYOTACLUTCHMASTER CYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

C/M 31420-20010 T26136
CARINAE
IPSUM
(92-01)

5/8 2-M8×72 M10×1

C/M T26137
COROLLA 1.8

LHD
(93- )

5/8 2-M8×72 M10×1

C/M
31410-25260
31410-60571
31410-60570

T26138 LAND CRUISER
(96- )

5/8 2-Φ8.5×72 M10×1

C/M
31410-35260
31410-35360
31410-34012

T26139
PICKUP,
4RUNNER
(95- )

5/8 2-Φ8.5×72 M10×1

C/M 31410-27030 T26140 ZACE 5K
(88~)

11/16
Φ8.5×M8

×60
M10×1

C/M

31410-60050
31410-60061
31410-60060
31410-60051

T26141 LAND CRUISER
(81-88)

3/4 2-Φ8.5×80 M10×1

C/M 31410-60070
31401-60050 T26142 LAND CRUISER

(81-87)
3/4 2-Φ9×80 M12×1

C/M 31410-16040 T26143 PASEO,STARLET
(96-99)

5/8 2-M8×72 M10×1

C/M 31410-30390 T26144 JZS133,GS131
(93-95)

5/8 2-Φ9×72 M10×1

C/M T26145 5/8 2-M8×72 M10×1

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 62 -

TOYOTACLUTCHMASTER CYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

C/M T26146 5/8 2-M8×72 M10×1

C/M 31410-30190 T26147 CROWN
(83-85)

5/8
Φ8.5×M8

×60
M10×1

C/M 31410-20411
31410-20410 T26149 CARINA

(87-92)
5/8 2-M8×60 M10×1

C/M 31410-12251 T26150 EE.AE
(92-94)

5/8 2-M8×72 M10×1

C/M 31410-04010
31410-03057 T26151 TIGER 5/8 2-Φ9×72 M10×1

C/M 31410-20500 T26152
CARINA,
COROLLA
(00-02)

5/8 2-M8×60 M10×1

C/M 31410-20520 T26153 AVENSIS,CARINA
(97-00)

5/8 2-M8×60 M10×1

C/M 31410-33012
31410-33011 T26154 CAMRY

(92-96)
5/8 2-M8×72 M10×1

C/M 31410-35310 T26155 4-Runner V6
(88~)

5/8 2-Φ9×72 M10×1

C/M 31410-33030 T26156 CAMRY
(00-01)

5/8 2-M8×72 M10×1

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 63 -

TOYOTACLUTCHMASTER CYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

C/M

31410-12201
31410-12190
31410-12191
31410-12210
31410-12211
31410-12220
31410-12221
31410-16023

T26157 COROLLA
(87-93)

5/8 2-M8×72 M10×1

C/M
31410-60023
31410-60024
31410-60041

T26158 LAND CRUISER
(81-88)

3/4 3-Φ9×Φ60 M10×1

C/M T26159 5/8

C/M 31410-20100
31410-20102 T26160 CARINA

(78-83)
5/8

C/M 31410-22070
31410-22071 T26162 CRESSIDA

(88-93)
5/8

C/M 31410-12090
31410-12092 T26163 COROLLA

(87-92)
5/8

C/M 31410-35241 T26164
PICKUP

GAS,4RUNNER
(84-88)

5/8

C/M

31410-12030
31410-12031
31410-12270
31410-12271

T26165
COROLLA
Hatchback
(72-80)

5/8

C/M

31420-27072
31420-27090
31420-27091
31420-27092
31420-27150

T26166
LITEACE BUS

KASTEN
(86-91)

5/8

C/M

31401-36060
31401-37011
31401-36050
31401-36052

T26167 DYNA 400
(00- )

5/8

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 64 -

TOYOTACLUTCHMASTER CYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

C/M 31410-60470
31410-60490 T26170 LAND CRUISER

(84- )
5/8

C/M 31420-26060
31420-26061 T26171 HIACE I Box

(77-83)
5/8

C/M 31410-60400
31410-60620 T26172

LAND CRUISER –
BUNDERA
(84- )

3/4

C/M 31410-60292 T26173 LAND CRUISER
(68-01)

3/4

C/M

31410-60120
31410-60290
31410-60121
31410-60291

T26174
LAND CRUISER –

BUNDERA
(84- )

3/4

C/M 31420-33020 T26175 CAMRY Saloon
(01- )

5/8

C/M T26176 5/8

C/M
31410-60280
31410-60281
31410-60282

T26177
STARION

LAND CRUISER
(82-91)

3/4

C/M T26178 3/4

C/M 31410-60580 T26179
LAND CRUISER

90
(95- )

5/8

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 65 -

TOYOTACLUTCHMASTER CYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

C/M 31410-60620 T26180 LAND CRUISER
(84- )

3/4

C/M T26182 5/8

C/M 31410-60350
31410-60550 T26183 LAND CRUISER

(90-98)
3/4

C/M
31420-26092
31420-26090
31420-26091

T26184
HIACE II Box

Wagon
(82-89)

5/8

C/M 31420-60060
31420-60050 T26185 LAND CRUISER

(84- )
3/4

C/M T26186 5/8

C/M 31410-38050 T26187
QUALIS

TAMARAWFX
(99-04)

5/8

C/M 31420-52030
31420-52010 T26188 YARIS

(03- )
5/8

C/M 31410-38040 T26189
TOYOTAQUALIS
TAMARAWFX

(99-04)
5/8

M8×40

M8×32
M10×1

C/M 34344 T26190 5/8
φ8.8×36.5

φ8.8×28.5
M10×1

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 66 -

TOYOTACLUTCHMASTER CYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

C/M T26191 5/8
M8×40

M8×32
M10×1

C/M T26192 5/8
M8×1.25×40

M8×1.25×32
M10×1

C/M 31410-55042 T26193 3/4

C/M
31410-60432
31410-60430
31410-60431

T26194
LAND CRUISER
BUNDERA PRADO

(90- )
3/4

C/M 31420-42020
31410-42010 T26195 RAV 4 II

(00-05)
5/8

C/M 31410-60590 T26196
LAND CRUISER

100
(98- )

3/4

C/M 31420-37142 T26197 DYNA
(09-17)

5/8

C/M

31420-36021
31420-36022
31420-26031
31420-36020

T26198 5/8

C/M 31420-12010 T26200
COROLLA
MATRIX
(01-08)

5/8

C/M

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 67 -

TOYOTABRAKE MASTER CYLINDERASSEMBLY
ITEM OEM Description DIA FSD SPS Picture

B/M 47201-22450 T08101 CRESSIDAR×60
(81-85)

7/8 Φ9×45×75 M10×1

B/M 47201-27170 T08102 HILUX RN LN
(79-83)

15/16 Φ9×45×75 M10×1

B/M

47201-26400
47201-60120
47201-60210
47201-60290

T08103 LAND CRUISER
(84~)

7/8 Φ9×45×75 M10×1

B/M

47201-35120
47201-35210
47201-35022
46010-T0004

T08104 HILUX PICK UP
(84-86)

15/16 Φ9×45×75 M10×1

B/M

47201-26240
47201-26241
47201-25060
47201-26170
47201-26140

T08105
DYNA-100 1600,
YH80 2400 LH

(80-85)
15/16 Φ9×45×75 M10×1

B/M

47201-26510
47201-26180
47201-26290
47201-26220

T08106 HIACE
(90-95)

15/16 Φ9×45×75 M10×1

B/M 0551 T08107 1-1/16 Φ9×45×75 M10×1

B/M 47201-22350 T08108 CRESSIDAR×60
(81-85)

7/8 Φ9×80 M10×1

B/M T08109 3/4 Φ9×80 M10×1

B/M 47201-20240 T08110
CORONA 1600

RT100
(73-78)

13/16 Φ9×80 M10×1

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 68 -

TOYOTABRAKE MASTER CYLINDERASSEMBLY
ITEM OEM Description DIA FSD SPS Picture

B/M 0558 T08111 1 Φ9×45×75 M10×1

B/M
47201-12260
47201-12240
47201-12020

T08112 COROLLA
(82-83)

13/16 Φ9×80 M10×1

B/M T08113 15/16 Φ9×45×75 M10×1

B/M 47201-35110 T08114 HILUX
(84-86)

7/8 Φ9×80 M10×1

B/M 47201-12870 T08115 COROLLA
(92-97)

13/16 Φ9×80 M10×1

B/M 47201-33030
47201-06010 T08116

CAMRY
W/OABS
(92-94)

1 3-Φ9×Φ80 M10×1

B/M

47201-33140
47201-33130
47201-07020
47201-33200
47201-08010

T08117 CAMRY
(00-01)

1 Φ9×80 M10×1

B/M 47201-33050
47201-33060 T08118 SCEPTER

(91-97)
15/16 3-Φ9×Φ80 M10×1

B/M 47201-38010 T08119 KF40,50
(88~)

15/16 Φ9×45×75 M10×1

B/M 47201-16080 T08120 SUPRA (MA70)
(86-93)

13/16 Φ9×80 M10×1

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 69 -

TOYOTABRAKE MASTER CYLINDERASSEMBLY
ITEM OEM Description DIA FSD SPS Picture

B/M

47201-3D141
47201-3D060
47201-35770
47201-60400
47201-35640

T08121 HILUX PICK UP
(95~)

1 Φ9×45×75 M10×1

B/M

47201-26450
47201-26530
47201-26490
47201-26520

T08122
HIACE

WAGON,KASTEN
(89-95)

1 Φ9×45×75 M10×1

B/M 47201-28330 T08124 LITEACE
(92-95)

1 Φ9×45×75 M10×1

B/M
47201-28340
47201-28170
47201-28230

T08125 PREVIA
(90-00)

1 Φ9×45×75 M10×1

B/M 47201-30440 T08126 JZS133
(92-96)

1-1/16 3-Φ9×Φ80 M10×1

B/M

47201-38040
47201-38020
47201-38041
47201-38042

T08127
QUALIS

TAMARAWFX
(99-04)

15/16 Φ9×80 M10×1

B/M 47201-12420
47201-12410 T08128

COROLLA
CARINAMk II

(83-89)
7/8 Φ9×80 M10×1

B/M 6004 T08129 7/8 Φ9×80 M10×1

B/M 6006 T08130 7/8 Φ9×80 M10×1

B/M

47201-35450
47201-35340
47201-35470
47201-35220
47201-35250
47201-35360
47201-35010
47207-35040

T08131
TACOMA II

Pickup
(82-05)

13/16

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 70 -

TOYOTABRAKE MASTER CYLINDERASSEMBLY
ITEM OEM Description DIA FSD SPS Picture

B/M 47201-60010
47201-60100 T08132

LAND CRUISER.
FJ40,43,55
(71-73)

1 Φ9×45×75 M10×1

B/M
47201-26470
47201-26330
47201-26410

T08133 HIACE II
(86-87)

15/16 Φ9×45×75 M10×1

B/M T08134 15/16

B/M

47201-3D040
47201-35620
47201-30040
47201-35720

T08135

SURFTACOMA II
Pickup 4 RUNNER
HILUX I Pickup

(95- )

15/16

B/M 47201-3D010 T08136
TACOMA II

Pickup
(82-05)

1

B/M 47201-60250 T08137 LAND CRUISER
(80-84)

7/8

B/M 47201-36300 T08138
DYNA 200 150

Flatbed
(88-95)

1

B/M 47201-36080 T08139 VAN 4 TORN 1

B/M T08140 15/16

B/M 47201-35370
47201-35380 T08141

TACOMA II
Pickup
(82-05)

15/16

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 71 -

TOYOTABRAKE MASTER CYLINDERASSEMBLY
ITEM OEM Description DIA FSD SPS Picture

B/M T08142
HIACE V
Quantum V
(05- )

13/16

B/M T08143 13/16

B/M 47201-60140 T08144 BANDEIRANTE
(69-97)

1

B/M

47201-12800
47201-12830
47201-12740
47201-02010

T08145 COROLLA
(91-99)

13/16

B/M 47201-BZ100 T08146
RUSH Closed Off-Road

Vehicle AVANZA

(02- )
7/8

B/M 47201-12630
47201-12590 T08147 COROLLA

(87-94)
13/16

B/M 47208-60020
47028-60020 T08148

LAND CRUISER
PRADO

GRJ120 TRJ120
(08- )

1

B/M

47201-60460
47201-60540
47201-60570
47201-34010
47201-35660
47201-35670
47201-30020
47201-04020
47201-30010
47201-60410

T08149
LAND CRUISER

(_J8_)
(90-98)

1

B/M

47201-3D050
47201-35630
47201-35750
47201-3D161

T08150

SURF (_N130)
TACOMA II

Pickup
(82-05)

15/16

B/M 47201-60680 T08151
LAND CRUISER PRADO (_J9_)

TACOMA II Pickup HILUX

(95- )

1

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 72 -

TOYOTABRAKE MASTER CYLINDERASSEMBLY
ITEM OEM Description DIA FSD SPS Picture

B/M

47201-60351
47201-60420
47201-22120
47201-22322
47201-22370
47201-22420
47201-35260
47201-35330
47201-35390
47207-22090
47207-35010

T08152
CRESSIDA

Station Wagon
(77-81)

15/16

B/M

47201-60511
47201-60521
47201-60590
47201-60600
47201-60510

T08153

LAND CRUISER
– BUNDERA
Hardtop
(84- )

15/16

B/M 47201-3D390 T08154
TACOMA II

Pickup
(82-05)

15/16

B/M

47201-35570
47201-60270
47201-60241
47201-60260

T08155
TACOMA II

Pickup
(88-94)

1-1/16

B/M 47201-60031
47201-60030 T08156

BANDEIRANTE
Land Cruiser BJ

(69-97)
1

B/M 47201-02230 T08157 COROLLA
(01- )

13/16

B/M 47201-35790 T08158
TACOMA II

Pickup
(82-05)

1

B/M 47201-52320 T08159 YARIS VOIS
(05- )

13/16

B/M 47201-33110
47201-G8Y90 T08160

CAMRY
AVALON
(01-04)

1

B/M 47201-06090
47201-0H891 T08161 CAMRY

(04- )
1

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 73 -

TOYOTABRAKE MASTER CYLINDERASSEMBLY
ITEM OEM Description DIA FSD SPS Picture

B/M 47201-1A370
47201-1Z890 T08162 COROLLA

(01- )
13/16

B/M 47201-22620
47201-ZZG90 T08163 CRESSIDARX8#

(90-96)
15/16

B/M 47201-60110
47201-G0Z90 T08164

LANDCRUISER
2F (FJ4#,BJ4#)

(80-90)
1

B/M
47201-02200
47201-1A340
47201-1A350

T08165
COROLLA
ALTIS
(01-04)

13/16

B/M T08166
CORONA 1600

RT100
(73-78)

7/8 Φ9×80 M10×1

B/M 47201-35560 T08167 STOUT Pickup
(88-00)

1-1/16

B/M 47201-25060 T08168 DYNARINO
(83- )

1-1/16

B/M 47201-OK010
47201-OA010 T08169

KIJANG
QUALIS MPV
HILUX (VIGO)
III Pickup SW4

(03- )

13/16

B/M 47201-BZ010 T08170 AVANZA
(02- )

7/8

B/M 47201-M3020
47201-BZ030 T08171 PERODUA

MYVI 1.6
3/4

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 74 -

TOYOTABRAKE MASTER CYLINDERASSEMBLY
ITEM OEM Description DIA FSD SPS Picture

B/M 47201-27160 T08172 KIJANG Bus
(89- )

7/8

B/M 47201-10660 T08173 13/16

B/M 47201-27150 T08174 LITEACE
(86-91)

7/8

B/M

47201-4D010
47201-3D280
47201-3D150
47201-3D151

T08176

4 RUNNER
HILUX II
PICKUP
(83-02)

15/16

B/M 47201-60831
47201-60832 T08177 LAND CRUISER

(84- )
15/16

B/M
47201-12570
47201-34150
47201-20871

T08178 COROLLA
(87-95)

7/8

B/M 47201-35020
47201-35030 T08179 PICKUP

(72-74)
1

B/M T08180 15/16

B/M T08181 1

B/M 47201-OK040 T08182
HILUX (VIGO)

III Pickup
(05- )

13/16

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 75 -

TOYOTABRAKE MASTER CYLINDERASSEMBLY
ITEM OEM Description DIA FSD SPS Picture

B/M 47201-60040 T08183
LAND CRUISER

(_J8_)
(90-98)

1-1/8

B/M 1097 T08184 HICEY-SER 15/16 φ9×75×45 M10×1

B/M 47201-35541 T08185 PICKUP
(86-88)

7/8 φ9×75×45 M10×1

B/M 47201-35680 T08186
TACOMA II

Pickup
(82-05)

15/16 φ9×75 ×45 M10×1

B/M
47201-09210
47201-09200
47201-09220

T08187
HILUX (VIGO)

III Pickup
(05- )

13/16 φ9×102 M10×1

B/M 47201-60720 T08188

PRADO (_J10_)
LAND CRUISER
– BUNDERA

(98- )

13/16 φ9×80 M10×1

B/M T08189 7/8 φ9×80 M10×1

B/M 47201-36390 T08190
COASTER Bus

(93-03)
1-1/8 φ9×75×45 M12×1

B/M 47201-3D350 T08191 4RUNNER
(96-00)

1 φ9×80 M10×1

B/M 47201-48010 T08192 MCU1#, SXU1#
(97-00)

1 2-φ9×80
2-M10×

1

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 76 -

TOYOTABRAKE MASTER CYLINDERASSEMBLY
ITEM OEM Description DIA FSD SPS Picture

B/M 47201-48020 T08193 HARRIER
(98-03)

1 2-φ9×80
2-M12×

1

B/M T08194 1 4-φ9×75×45
2-M12×

1

B/M
47201-3D320
47201-04050
47201-60640

T08195
TACOMAⅡ
HILUX
(95- )

15/16 2-Φ9×80
2-M10×

1

B/M 47201-42080 T08196
RAV4 SXA10

SXA11
(97-00)

7/8

B/M 47207-26020 T08503 HIACE IV
(95- )

13/16

B/M 47201-BZ040 T08686 MYVI (ABS) 3/4 2-Φ9×80 M10×1

B/M 47028-04040 T08197 TACOMA
(05-07)

13/16

B/M 47028-04030 T08198 TACOMA
(05-08)

13/16

B/M
47201-52330
47201-09170
47201-09171

T08199 YARIS
(05- )

13/16

B/M 47201-02520
47201-12B20 T08200 ALTIS

(08- )
13/16

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 77 -

TOYOTABRAKE MASTER CYLINDERASSEMBLY
ITEM OEM Description DIA FSD SPS Picture

B/M 47201-04150 T08261 TACOMA
(09-11)

13/16

B/M
47201-0C012
47201-0C011
47201-0C010

T08262 TUNDRA
(00-05)

13/16

B/M 47201-04060 T08263 TACOMA
(01-04)

13/16

B/M 47201-04020AL T08264 T100
(95-98)

B/M 47201-04030 T08265 TACOMA
(95-01)

1

B/M
47201-35650
47201-3D030
18030780

T08266 PICKUP
(89-93)

7/8

B/M 47028-42040 T08267 RAV 4 2000 2200
(05- )

13/16

B/M 47207-52021
47207-52022 T08268 YARIS

(99-05)
13/16

B/M 47201-1A330 T08269 COROLLA
(01-08)

13/16

B/M 47201-35150 T08270 7/8

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 78 -

TOYOTABRAKE MASTER CYLINDERASSEMBLY
ITEM OEM Description DIA FSD SPS Picture

B/M
47201-35270
47201-35490
47207-35020

T08271 TRUCK PICKUP
(81-88)

1

B/M 47201-52030 T08272 13/16

B/M 47201-0K390 T08273 HILUX REVO
(15- )

7/8

B/M 47201-60A32 T08274
LAND CRUISER

PRADO
(09-12)

7/8

B/M 47201-60A22 T08275
LAND CRUISER

4RUNNER
(16-20)

7/8

B/M 47201-16180
47201-10130 T08276

STARLET
TERCEL
(89-99)

3/4

B/M 47201-16270
47201-10230 T08277 PASEO TERCEL

(95-99)
13/16

B/M 47201-60A40 T08278 LAND CRUISER
(07-17)

15/16

B/M

B/M

qp

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 79 -

MITSUBISHI BRAKEWHEELCYLINDERASSEMBLY
ITEM OEM Description DIA FSD SPS Picture

W/C MB-151050 MI10301
PICKUP,L300,
SL2.0,SL2.5(6W)

(86-95)
11/16 M6×35×12 M10×1

W/C MB-151051 MI10302
PICKUP,L300,
SL2.0,SL2.5(6W)

(86-95)
11/16 M6×35×12 M10×1

W/C MB-500292 MI10303
L100,SH800
MINICAB

(84~)
11/16 M6×35×10 M10×1

W/C MB-366139 MI10304
L100,SH800
MINICAB

(84~)
11/16 M6×35×10 M10×1

W/C MB-193410 MI10305
MIRAGE,

EXPO L100R
(89-96)

3/4 M6×35×10 M10×1

W/C

MB-193411
MB-058553
58330-21300
MR128624

MI10306
MIRAGE,

EXPO L100R
(89-96)

3/4 M6×35×10 M10×1

W/C MB-191852 MI10307
L013 MINICAB,

LANCER
(79-82)

13/16 M6×35×10 M10×1

W/C MB-191853 MI10308
L013 MINICAB,

LANCER
(79-82)

13/16 M6×35×10 M10×1

W/C F-116342 MI10309

L200,L300,
PAJERO,

SPACE GEAR
(96-00)

7/8 M6×35×10 M10×1

W/C F-116341 MI10310

L200,L300,
PAJERO,

SPACE GEAR
(96-00)

7/8 M6×35×10 M10×1

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 80 -

MITSUBISHI BRAKEWHEELCYLINDERASSEMBLY
ITEM OEM Description DIA FSD SPS Picture

W/C MB-333468 MI10311 CM66 1100C.C.
(89~)

13/16 M6×35×10 M10×1

W/C MB-366326 MI10312 CM66 1100C.C.
(89~)

13/16 M6×35×10 M10×1

W/C

MA-180750
MB-151650
58330-11100
MB-180750

MI10313
GALANT,
LANCER
(74-78)

3/4 M6×35×10 M10×1

W/C MB-004040
58340-11100 MI10314

GALANT,
LANCER
(74-78)

3/4 M6×35×10 M10×1

W/C

MB-134829
MB-134929
MA-180751
MB-500483
MB-151516
MT-372130

MI10315 T120 DELICA
(75~)

13/16 M6×35×10 M10×1

W/C

MB-004041
MB-134828
MB-500482
MB-134318
MT-372131

MI10316 T120 DELICA
(75~)

13/16 M6×35×10 M10×1

W/C MB-500484
MB-238510 MI10317

MONTERO,
PICKUP,VAN,
L200,L300
(83-97)

13/16 M6×35×10 M10×1

W/C
MB-500485
MB-238511
MB-500535

MI10318

MONTERO,
PICKUP,VAN,
L200,L300
(83-97)

13/16 M6×35×10 M10×1

W/C MB-238828 MI10319

L200,L300,
PAJERO,

SPACE GEAR
(96-00)

7/8 M6×35×10 M10×1

W/C MB-238829 MI10320

L200,L300,
PAJERO,

SPACE GEAR
(96-00)

7/8 M6×35×10 M10×1

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 81 -

MITSUBISHI BRAKEWHEELCYLINDERASSEMBLY
ITEM OEM Description DIA FSD SPS Picture

W/C MB-500738
MB-500740 MI10321

MONTERO,KUDA
,PAJERO,L200

(87-98)
15/16 M6×35×10 M10×1

W/C MB-500739 MI10322
MONTERO,KUDA
,PAJERO,L200

(87-98)
15/16 M6×35×10 M10×1

W/C MB-618188 MI10323
GALANT,

MIRAGE,COLT
(87-96)

11/16 M6×30×17 M10×1

W/C MB-618981 MI10324

LANCER,MIRAGE,
EXPO,COLT,
PROTON
(91-97)

3/4 M6×30×17 M10×1

W/C MB-407330
MB-277946 MI10325

L100,SH800
MINICAB

(84~)
15/16

M6×16×13

M8×18×13

M8×24×10

M10×1

W/C MB-407331
MB-277947 MI10326

L100,SH800
MINICAB

(84~)
15/16

M6×16×13

M8×18×13

M8×24×10

M10×1

W/C MB-407332
MB-277948 MI10327

L100,SH800
MINICAB

(84~)
15/16

M6×16×13

M8×18×13

M8×24×10

M10×1

W/C MB-407333
MB-277949 MI10328

L100,SH800
MINICAB

(84~)
15/16

M6×16×13

M8×18×13

M8×24×10

M10×1

W/C MB-044810
MT-372140 MI10329 T120,L300

(70-95)
1 1/8

M8×14×19

M8×14×19

M8×25×10

M10×1

W/C MB-044811
MT-372141 MI10330 T120,L300

(70-95)
1 1/8

M8×14×19

M8×14×19

M8×25×10

M10×1

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 82 -

MITSUBISHI BRAKEWHEELCYLINDERASSEMBLY
ITEM OEM Description DIA FSD SPS Picture

W/C MB-044812 MI10331 T120,L300
(70-95)

1 1/8

M8×14×19

M8×14×19

M8×25×10

M10×1

W/C MB-044813 MI10332 T120,L300
(70-95)

1 1/8

M8×14×19

M8×14×19

M8×25×10

M10×1

W/C MB-060308 MI10333
T210,FE3#,4#,5#,

FC3#,4#
(74-95)

1 1/8
M10×1.25×32×

32
M10×1

W/C MB-060309 MI10334
T210,FE3#,4#,5#,

FC3#,4#
(74-95)

1 1/8
M10×1.25×32×

32
M10×1

W/C MT-321692 MI10335
T210,FE3#,4#,5#,

FC3#,4#
(74-95)

1 1/8
M10×1.25×32×

32
M10×1

W/C MT-321695 MI10336
T210,FE3#,4#,5#,

FC3#,4#
(74-95)

1 1/8
M10×1.25×32×

32
M10×1

W/C MT-321674
MB-060245 MI10337

T120,FE3#,4#,
FC3#,4#
(74-95)

1 1/4
M10×1.25×42×

32
M10×1

W/C MT-321675
MB-060246 MI10338

T120,FE3#,4#,
FC3#,4#
(74-95)

1 1/4
M10×1.25×42×

32
M10×1

W/C MC-832754 MI10339
CANTER

FE119,449,659
(90-97)

1 1/4

M8×23×16×23×

19

M12×1.25×29×

16×25×16

M10×1

W/C MC-832755 MI10340
CANTER

FE119,449,659
(90-97)

1 1/4

M8×23×16×23×

19

M12×1.25×29×

16×25×16

M10×1

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 83 -

MITSUBISHI BRAKEWHEELCYLINDERASSEMBLY
ITEM OEM Description DIA FSD SPS Picture

W/C MC-889600 MI10341
CANTER FE657

7.2T
(96~)

1 1/4

M8×23×18×23

×17

M12×1.25×29×

18×25×14

M10×1

W/C MC-889601 MI10342
CANTER FE657

7.2T
(96~)

1 1/4

M8×23×18×23

×17

M12×1.25×29×

18×25×14

M10×1

W/C MC-889604 MI10343
CANTER FE657

7.2T
(96~)

1 1/4 M12×1.25×52×

16×46×16

M10×1

W/C MC-889605 MI10344
CANTER FE657

7.2T
(96~)

1 1/4 M12×1.25×52×

16×46×16

M10×1

W/C MC-889606 MI10345
CANTER FE657

7.2T
(96~)

1 1/4 M12×1.25×52×

16×46×16

M10×1

W/C MC-889607 MI10346
CANTER FE657

7.2T
(96~)

1 1/4 M12×1.25×52×

16×46×16

M10×1

W/C MB-081820 MI10347 L013 MINICAB
(79-82)

15/16 M10×1

W/C MB-081821 MI10348 L013 MINICAB
(79-82)

15/16 M10×1

W/C MB-081822 MI10349 L013 MINICAB
(79-82)

15/16 M10×1

W/C MB-081823 MI10350 L013 MINICAB
(79-82)

15/16 M10×1

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 84 -

MITSUBISHI BRAKEWHEELCYLINDERASSEMBLY
ITEM OEM Description DIA FSD SPS Picture

W/C MB-060570
MC-869358 MI10351

CANTER
FE2#,3#,4#,ROSA

(80-90)
1 1/4

M10×1.25×44×

44
M10×1

W/C MB-060571
MC-869359 MI10352

CANTER
FE2#,3#,4#,ROSA

(80-90)
1 1/4

M10×1.25×44×

44
M10×1

W/C MB-060580 MI10353
FE2#,3#,4#,5#,6#,
FC4#,6#,ROSA

(80-95)
1 1/8

M10×1.25×44×

44
M10×1

W/C MB-060581 MI10354
FE2#,3#,4#,5#,6#,
FC4#,6#,ROSA

(80-95)
1 1/8

M10×1.25×44×

44
M10×1

W/C MB-060582 MI10355
FE2#,3#,4#,5#,6#,
FC4#,6#,ROSA

(80-95)
1 1/8

M10×1.25×44×

44
M10×1

W/C MB-060583 MI10356
FE2#,3#,4#,5#,6#,
FC4#,6#,ROSA

(80-95)
1 1/8

M10×1.25×44×

44
M10×1

W/C MC-832782 MI10357 CANTER FE119
(90-97)

1 1/8
M12×1.25×50×

16

×50×24

M10×1

W/C MC-832783 MI10358 CANTER FE119
(90-97)

1 1/8
M12×1.25×50×

16

×50×24

M10×1

W/C MC-832784 MI10359 CANTER FE119
(90-97)

1 1/8
M12×1.25×50×

16

×50×24

M10×1

W/C MC-832785 MI10360 CANTER FE119
(90-97)

1 1/8
M12×1.25×50×

16

×50×24

M10×1

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 85 -

MITSUBISHI BRAKEWHEELCYLINDERASSEMBLY
ITEM OEM Description DIA FSD SPS Picture

W/C MB-162156 MI10361
CANTER

FB300,510,511
(86-95)

1-1/4
M10×1.25

×44×44
M10×1

W/C MB-162157 MI10362
CANTER

FB300,510,511
(86-95)

1-1/4
M10×1.25

×44×44
M10×1

W/C MC-821568 MI10363 T653,FK 8,8T
(79-84)

1-7/16
M12×1.75

×50×44
M10×1

W/C MC-821569 MI10364 T653,FK 8,8T
(79-84)

1-7/16
M12×1.75

×50×44

M10×1.

25

W/C MC-821570 MI10365 T653,FK 8,8T
(79-84)

1-7/16
M12×1.75

×50×44
M10×1

W/C MC-821571 MI10366 T653,FK 8,8T
(79-84)

1-7/16
M12×1.75

×50×44
M10×1

W/C MC-807774 MI10367 FV413,419,FT415
(83~)

2
M12×1.75×68×

13

M12×1.

5

W/C MC-807776 MI10368 FV413,419,FT415
(83~)

2-3/16 Φ14.5×80
M12×1.

5

W/C MT-362435 MI10369 T120 DELICA
(75-79)

3/4 M6×35×10 M10×1

W/C MT-362436 MI10370 T120 DELICA
(75-79)

3/4 M6×35×10 M10×1

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 86 -

MITSUBISHI BRAKEWHEELCYLINDERASSEMBLY
ITEM OEM Description DIA FSD SPS Picture

W/C MC-808346 MI10371 FUSO FN 527
(98~)

1-1/8

M14×1.5

×30×42

M10×1.25

×30×50

M10×1

W/C MC-808347 MI10372 FUSO FN 527
(98~)

1-1/8

M14×1.5

×30×42

M10×1.25

×30×50

M10×1

W/C MB-811055 MI10373 FUSO FN 527
(98~)

1-1/2

M14×1.5

×71×37.5

×28

M10×1

W/C MB-811057 MI10374 FUSO FN 527
(98~)

1-1/2

M14×1.5

×71×37.5

×28

M10×1

W/C MB-838507 MI10375 FUSO FN 527
(98~)

1-1/2

M14×1.5

×71×37.5

×28

M10×1

W/C MB-838509 MI10376 FUSO FN 527
(98~)

1-1/2

M14×1.5

×71×37.5

×28

M10×1

W/C MC-811062 MI10377 FUSO FN 527
(98~)

1-1/4

M14×1.5

×71×37.5

×28

M10×1

W/C MC-811063 MI10378 FUSO FN 527
(98~)

1-1/4

M14×1.5

×71×37.5

×28

M10×1

W/C MC-811064 MI10379 FUSO FN 527
(98~)

1-1/4

M14×1.5

×71×37.5

×28

M10×1

W/C MC-811065 MI10380 FUSO FN 527
(98~)

1-1/4

M14×1.5

×71×37.5

×28

M10×1

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 87 -

MITSUBISHI BRAKEWHEELCYLINDERASSEMBLY
ITEM OEM Description DIA FSD SPS Picture

W/C
MC-808345
MC832866
MC838506

MI10381 FUSO FN 527
(98~)

1-3/8

M14×1.5

×30×42

M10×1.25

×30×50

M10×1

W/C MC-808344
MC832865 MI10382 FUSO FN 527

(98~)
1-3/8

M14×1.5

×30×42

M10×1.25

×30×50

M10×1

W/C 4610A-005 MI10383 TRITON
(05- )

15/16

W/C 4610A-006 MI10384 TRITON
(05- )

15/16

W/C MB-162102 MI10385 Canter
(97- )

7/8

W/C MR493392 MI10386 STRADA
(96-03)

15/16

W/C MR493393 MI10387 STRADA
(96-03)

15/16

W/C

MC-826094
MC-826389
MC-832590
44101-Z5112

MI10389
Fuso FK416,

FK330
(85- )

1-7/16

W/C

MC-826092
MC-826387
MC-832589
44101-Z5113

MI10390
Fuso FK416,

FK330
(85- )

1-7/16

W/C

MC-826093
MC-826095
MC-826388
MC-832588
44100 Z5177

MI10391
Fuso FK416,

FK330
(85- )

1-7/16

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 88 -

MITSUBISHI BRAKEWHEELCYLINDERASSEMBLY
ITEM OEM Description DIA FSD SPS Picture

W/C 4610A009 MI10392 L200
(08- )

7/8

W/C MR129595
4402-G1 MI10393 LANCER

(02-06)
3/4

W/C 4610A008 MI10394 L200
(08- )

7/8 M6×35×16.5 M10×1

W/C MC-812780
MC-832584 MI10395 FUSO FK417

(90- )
1-3/8

W/C MC-812781
MC-832585 MI10396 FUSO FK417

(90- )
1-3/8

W/C MC-812782
MC-832586 MI10397 FUSO FK417

(90- )
1-3/8

W/C MC-812783
MC-832587 MI10398 FUSO FK417

(90- )
1-3/8

W/C

W/C

W/C

qp

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 89 -

MITSUBISHI CLUTCH SLAVE CYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

C/S
ME-600007
ME-600096
44003-51300

MI34201 FE211 CANTER
(79-82)

7/8
M10×1.25

×82
M12×1

C/S

ME-600628
ME-601106
ME-601290
ME-602333

MI34202
CANTER

FB,FC,FE,ROSA
(83-87)

5/8
M10×1.25

×82
M10×1

C/S ME-607349
ME-609067 MI34203

CANTER FB511
3.5T
(96~)

7/8
M10×1.25

×68
M12×1

C/S
ME-607351
ME-602995
ME-609069

MI34204 FE 119
(90-97)

7/8
M10×1.25

×68
M12×1

C/S MD-733623
MD-716975 MI34205

MAGNA,GALANT
,ETERNA 2.4

(86~)
3/4 M8×50×11 M10×1

C/S
MD-747418
MD-770676
MR-980563

MI34206

LANCER,
GALANT,
COLT CJ
(96~)

13/16
Φ8.5×33.5

×28
M10×1

C/S
MD-730108
MD-726957
MR-980566

MI34207
L300,L400,DE2.5,

KUDA 2.5
(88-99)

3/4
Φ10.5×30

×31
M10×1

C/S

MD-742157
MD-740318
MD-749822
MD-749888

MI34208

LANCER,MIRAG
E,EXPO,COLT,

GALANT
(92-97)

13/16
M8×24×9.5

M8×26×9.5
M10×1

C/S

MD-712383
MD-710400
MD-711474
MD-711471
MD-710317
MD-711800

MI34209

L200,L300,SL2.5,
MONTERO,
PAJERO
(87-97)

3/4
Φ11×30.5×30.5

×28.5
M10×1

C/S
ME-623321
ME-620332
03200-14000

MI34210 FM515
(88~)

3/4 Φ10.7×60
M10×1.

25

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 90 -

MITSUBISHI CLUTCH SLAVE CYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

C/S MB-741575 MI34211 LANCER
(92-97)

13/16
M8×24×9.5

M8×26×9.5
M10×1

C/S MB-937019 MI34212 STRADA
(88-98)

3/4 Φ10.7×58×8 M10×1

C/S MB-670211
MB-670210 MI34213

PAJERO/SHOGU
N II G-WAGON

(97- )
3/4

C/S MD-730179 MI34214

PAJERO/SHOGU
N I TRITON

Pickup
(86-96)

3/4

C/S MR-145150 MI34215 STRADA
(96-03)

3/4

C/S 387004 MI34216 3/4

C/S 384832 MI34217 13/16

C/S MR-997838 MI34218 3/4

C/S
ME-609070
ME-605550
ME-607354

MI34219 7/8

C/S ME-609072 MI34220 7/8

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 91 -

MITSUBISHI CLUTCH SLAVE CYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

C/S MI34221 13/16 2-Φ8.7×34×25 M10×1

C/S MR980563 MI34222 LANCER
(04-06)

13/16

C/S MD-737189 MI34223 PAJERO II
(97-03)

3/4

C/S MN-171578 MI34224 L200
(04- )

3/4

C/S

C/S

C/S

C/S

C/S

C/S

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 92 -

MITSUBISHI CLUTCH MASTER CYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

C/M MB-555413 MI26301 COLT,LANCER
(00-05)

5/8 Φ9×65 M10×1

C/M MB-012261
MB-012281 MI26302 PAJERO

(83-90)
5/8 Φ9×55 M10×1

C/M

MB-165130
MB-334440
MB-413462
MB-555191
MB-555142
MB-555145
MB-334438
MB-555192
MB-555143

MI26303

CANTER
FB,FC,FE,L300,

ROSA
(83-90)

5/8 Φ9×91 M10×1

C/M ME-607347
MC-113150 MI26304 PS135 7/8 Φ9×60 M12×1

C/M ME-607348
MC-125304 MI26305 FE 659

(95-96)
7/8 Φ9×60 M12×1

C/M
ME-627796
ME-625257
ME-624996

MI26306 FM515 14T
(85~)

5/8 Φ10.5×82 M12×1

C/M MB-165000
MB-165005 MI26307 FE211 CANTER

(81-82)
7/8 Φ8.5×60 M12×1

C/M

MB-012098
MB-012542
MB-012348
MB-072098
MB-555202

MI26308

COLT,CORDIA,
LANCER,PAJERO

,TRDIA
(86-92)

5/8 Φ9×55 M10×1

C/M MB-555115 MI26309 PAJERO
(90-91)

5/8 Φ9×55 M10×1

C/M MB-555391 MI26310
CALLOPER,
PAJERO
(98~)

5/8 Φ9×55 M10×1

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 93 -

MITSUBISHI CLUTCH MASTER CYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

C/M MC-113030
ME-607345 MI26311

CANTER
FB,FC,FE,ROSA

(90~)
7/8 Φ9×91 M12×1

C/M MB-891394 MI26312 GALANT
(94-96)

5/8 Φ9×37×33 M10×1

C/M MR-112220 MI26313

SPACE
GRAR(W-CAR),

L400
(95-98)

5/8 Φ9×55 M10×1

C/M MI26314 5/8 Φ9×37×28 M10×1

C/M MI26315 5/8 Φ9×55 M10×1

C/M MR-995036
2345A052 MI26316 TRITON

(05- )
5/8 Φ9×37×28 M10×1

C/M MR-995034
2345A015 MI26317 TRITON

(05- )
3/4 2-M8×65 M12×1

C/M MB-334520 MI26318

CANTER
FB,FC,FE,L300,

ROSA
(83-97)

5/8 Φ9×91 M10×1

C/M ME-607346
MC-113124 MI26319 7/8 Φ9×80 M12×1

C/M MI26320 5/8

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 94 -

MITSUBISHI CLUTCH MASTER CYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

C/M MI26321 5/8

C/M MR-491998 MI26322
STRADA
G-WAGON
(97- )

5/8

C/M CM-387330 MI26323 5/8

C/M CM-384034 MI26324 3/4

C/M MC-113050 MI26325 7/8

C/M MI26326 5/8

C/M MR-244839 MI26327

MIRAGE V
LANCER Mk VI

CARISMA
(95-06)

5/8

C/M ME-507832 MI26328 CANTER
(01-04)

7/8

C/M MB-081622 MI26329 7/8

C/M MR-151615 MI26330
PAJERO/SHOGUN

Ⅱ

(90-00)
3/4 2-Φ9×55 M12×1

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 95 -

MITSUBISHI CLUTCH MASTER CYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

C/M ME-621635 MI26512 FM12.5
(76- )

5/8
Φ10.7×88

×35×26
M12×1

C/M MR491945 MI26331 LANCER
(02-06)

5/8

C/M 2345A053 MI26332 3/4

C/M ME-636075 MI26333 FK617 220P 10.5T 3/4

C/M

C/M

C/M

C/M

C/M

C/M

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 96 -

MITSUBISHI BRAKE MASTER CYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

B/M MB-238700
MB-316247 MI08201

COLT,CORDIA,TREDIA,

GALANT,LANCER,

SPACEWAGON

(86-92)

13/16 Φ9×80 M10×1

B/M
MB-699542
MB-534020
MR128395

MI08202
COLT,GALANT,

LANCER
(94-96)

7/8 Φ9×80 M10×1

B/M

MB-534481
MB-699830
MB-500673
MB-928002
MB-534480
MC-133792

MI08203 L200
(92-96)

15/16 Φ9×80 M10×1

B/M MB-699545 MI08204 GALANT
(94-96)

1 Φ9×80 M10×1

B/M

MB-277425
MB-407061
MB-407062
MB-407063

MI08205 SL(86)DELICA
(86~)

15/16 Φ9×80 M10×1

B/M MR-129915 MI08206

LANCER
1.5,1.6,COLT CJ

W/ABS
(96~)

7/8 Φ9×80 M10×1

B/M MR-129911 MI08207
LANCER 1.6,1.8

W/ABS
(97~)

15/16 Φ9×80 M10×1

B/M MB-162443
MB-162441 MI08208 FE114

(79~)
1 1/8 Φ9×75×45 M10×1

B/M MB-058830 MI08209
CANTER

1400.DELICA.T120
(74~)

15/16 Φ9×92×60 M10×1

B/M MB-134512 MI08210 L300
(81-95)

15/16 Φ9×60 M10×1

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 97 -

MITSUBISHI BRAKE MASTER CYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

B/M

MB-321002
MC-894211
MC-889126
MC-862082

MI08211

FE347 CANTER
FE5#,6#,FC6#,

ROSA
(95~)

1 3/16 Φ9×75×45 M10×1

B/M MB-295340 MI08212

CANTER
FE3#,4#,FC3#,4#,

ROSA
(86-97)

1 1/8 Φ9×75×45 M10×1

B/M MB-295330 MI08214
CANTER FB300

3.5T
(86-95)

1 Φ9×75×45 M10×1

B/M MB-277300
MB-277422 MI08215 15/16 Φ9×80 M10×1

B/M MB-699543 MI08216
GALANTMk V
FTO Coupe
(94-10)

15/16

B/M MB-445100 MI08217 15/16

B/M MB-151170 MI08218 13/16

B/M MN-102440 MI08219 L200
(04- )

15/16

B/M MR-449476 MI08220 L200
(96-07)

15/16

B/M MB-500880 MI08221 15/16

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 98 -

MITSUBISHI BRAKE MASTER CYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

B/M MR-861064 MI08222 7/8

B/M MR-869425 MI08223 7/8

B/M MI08224 1

B/M MI08225 1-1/8

B/M MK-429254
MK-384488 MI08226

CANTER FB71,73
3.5T
(07- )

1-3/16

B/M MK-429255 MI08227
CANTER FE84,FE85

(07- )
1-1/4

B/M

MB-316896
MB-316249
MB-407755
MB-316239
18030568

MI08228

MIGHTYMAX
MONTERO4X2
DODGE RAIDER

RAM 50
(87-89)

7/8

B/M MR517469
MR537468 MI08229 7/8

B/M MI08230 15/16

B/M MB-618717 MI08231
PAJERO II L 200
GALLOPER

(90-08)
15/16

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 99 -

MITSUBISHI BRAKE MASTER CYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

B/M MN-102441 MI08232
L200

PAJERO SPORT II
(04- )

15/16

B/M MC-894212 MI08233 CANTER
(92-96)

1-1/4

B/M 4625A029
4625A027 MI08234 GALANT

(06- )
1

B/M MR527470 MI08235 LANCER
(02- )

7/8

B/M MB-316897
MB-277337 MI08236 L 200 PAJERO I

(86-96)
7/8

B/M MB-316369 MI08237
PAJERO I
(82-90)

15/16

B/M

B/M

B/M

B/M

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 100 -

DAIHATSU BRAKEWHEELCYLINDERASSEMBLY
ITEM OEM Description DIA FSD SPS Picture

W/C

47510-87304
47510-87308
47510-87302
47510-87301
47510-87305

D10501
V20,V22,V58,V68,
V78,V108,V118

(78-98)
1 1/4 M8×51×38 M10×1

W/C
47520-87301
47520-87304
47520-87302

D10502
V20,V22,V58,V68,
V78,V108,V118

(78-98)
1 1/4 M8×51×38 M10×1

W/C

47530-87304
47530-87308
47530-87302
47530-87301
47530-87305

D10503
V20,V22,V58,V68,
V78,V108,V118

(78-98)
1 1/4 M8×51×38 M10×1

W/C
47540-87301
47540-87304
47540-87302

D10504
V20,V22,V58,V68,
V78,V108,V118

(78-98)
1 1/4 M8×51×38 M10×1

W/C

47550-87304
47550-87311
47550-87313
47550-87302

D10505
V20,V22,V58,V68,
V78,V108,V118

(78-98)
1 1/8 M8×51×38 M10×1

W/C

47560-87302
47560-87309
47560-87307
47560-87304

D10506
V20,V22,V58,V68,
V78,V108,V118

(78-98)
1 1/8 M8×51×38 M10×1

W/C

47570-87304
47570-87311
47570-87313
47570-87302

D10507
V20,V22,V58,V68,
V78,V108,V118

(78-98)
1 1/8 M8×51×38 M10×1

W/C

47580-87302
47580-87307
47580-87304
47580-87309

D10508
V20,V22,V58,V68,
V78,V108,V118

(78-98)
1 1/8 M8×51×38 M10×1

W/C
47550-87308
47550-87312
47550-87149

D10509
V20,V58,V68,V78,

V108,V118
(78-98)

1 1/16 M8×51×38 M10×1

W/C
47560-87313
47560-87308
47560-87149

D10510
V20,V58,V68,V78,

V108,V118
(78-98)

1 1/16 M8×51×38 M10×1

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 101 -

DAIHATSU BRAKEWHEELCYLINDERASSEMBLY
ITEM OEM Description DIA FSD SPS Picture

W/C

47570-87307
47570-87312
47570-87149
47570-87308

D10511 V76,V116
(85-98)

1 3/16 M8×51×38 M10×1

W/C
47580-87315
47580-87308
47580-87149

D10512 V76,V116
(85-98)

1 3/16 M8×51×38 M10×1

W/C 47560-87508
47550-97203 D10513 S85,VAN,Z830

(86~)
11/16 M6×29×11 M10×1

W/C 47550-87508 D10514 S85,VAN,Z830
(86~)

11/16 M6×29×11 M10×1

W/C 47550-87224 D10515
CUORE 660,

850,L2000,L201
(90~)

9/16 M6×27×8.5 M10×1

W/C 47550-97202
47550-B2020 D10516 CUORE,MOVE

(98~03)
11/16 M6×27×8.5 M10×1

W/C 47550-87401 D10517 TERIOS
(97-00)

13/16 M6×35×10 M10×1

W/C 47570-87401 D10518 TERIOS
(97-00)

13/16 M6×35×10 M10×1

W/C 47570-87680 D10519
WILDCAT/
ROCKY
(85-87)

1 M6×40×12 M10×1

W/C 47550-87684 D10520
WILDCAT/
ROCKY
(85-87)

1 M6×40×12 M10×1

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 102 -

DAIHATSU BRAKEWHEELCYLINDERASSEMBLY
ITEM OEM Description DIA FSD SPS Picture

W/C 47570-87612 D10522 F-500 13/16 M6×40×12 M10×1

W/C

47550-87612
47570-87609
47570-87606
47570-87610
47570-87681

D10523 ROCKY
(93~)

7/8 M6×40×12 M10×1

W/C

47560-87611
47550-87611
47570-87605
47550-87608

D10524 ROCKY
(93~)

7/8 M6×40×12 M10×1

W/C 47510-87507 D10525 S85,Z830
(86~)

7/8

M6×17×10

M10×1.25×20×

5

M10×1

W/C 47520-87503 D10526 S85,Z830
(86~)

7/8

M6×17×10

M10×1.25×20×

5

M10×1

W/C 47530-87507 D10527 S85,Z830
(86~)

7/8

M6×17×10

M10×1.25×20×

5

M10×1

W/C 47540-87503 D10528 S85,Z830
(86~)

7/8

M6×17×10

M10×1.25×20×

5

M10×1

W/C 47550-87211 D10529 S38P
(70-75)

3/4 M10×1

W/C 47560-87211 D10530 S38P
(70-75)

3/4 M10×1

W/C 47510-87204
47510-87503 D10531 S70.S75

(85~)
7/8

M6×17×10

M8×18.7

×3.5

M10×1

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 103 -

DAIHATSU BRAKEWHEELCYLINDERASSEMBLY
ITEM OEM Description DIA FSD SPS Picture

W/C 47520-87204 D10532 S70.S75
(85~)

7/8

M6×17×10

M8×18.7

×3.5

M10×1

W/C 47530-87204
47530-87503 D10533 S70.S75

(85~)
7/8

M6×17×10

M8×18.7

×3.5

M10×1

W/C 47540-87204 D10534 S70.S75
(85~)

7/8

M6×17×10

M8×18.7

×3.5

M10×1

W/C 47510-87701 D10535
G10 CHARADE

1000
(78-82)

7/8
M6×17×9

M8×31×15
M10×1

W/C 47520-87701 D10536
G10 CHARADE

1000
(78-82)

7/8
M6×17×9

M8×31×15
M10×1

W/C 47530-87701 D10537
CHARADE G10

1000
(78-82)

7/8
M6×17×9

M8×31×15
M10×1

W/C 47540-87701 D10538
CHARADE G10

1000
(78-82)

7/8
M6×17×9

M8×31×15
M10×1

W/C 47550-87517 D10539 L510S 11/16 M6×31×17.5 M10×1

W/C 47560-87520 D10540 L510S 11/16 M6×31×17.5 M10×1

W/C 47550-87509
47550-87507 D10541 S85,Z830

(86~)
11/16 M6×33×9.5 M10×1

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 104 -

DAIHATSU BRAKEWHEELCYLINDERASSEMBLY
ITEM OEM Description DIA FSD SPS Picture

W/C
47560-87509
47560-87507
47560-87504

D10542 S85,Z830
(86~)

11/16 M6×33×9.5 M10×1

W/C 47550-87511 D10543 HIJET S88P
(90~)

3/4 M6×33×9.5 M10×1

W/C 47560-87512 D10544 HIJET S88P
(90~)

3/4 M6×33×9.5 M10×1

W/C
47550-87704
47550-87708
47506-87702

D10545
CHARADE

G100,G101,G130
(87-92)

5/8 M6×29×16 M10×1

W/C 47570-87703
47570-87707 D10546

CHARADE
G100,G101,G130

(87-92)
5/8 M6×29×16 M10×1

W/C
47550-87701
47550-87702
47550-87703

D10547
CHARADE
G11,G21,G30

(83-87)
5/8 M6×29 M10×1

W/C
47570-87701
47570-87702
47570-87703

D10548
CHARADE
G11,G21,G30

(83-87)
5/8 M6×29 M10×1

W/C 47510-87508 D10549 HIJET S88P
(90~)

15/16

M6×17×15.5

M10×1.25

×29.5×8

M10×1

W/C 47520-87505 D10550 HIJET S88P
(90~)

15/16

M6×17×15.5

M10×1.25

×29.5×8

M10×1

W/C 47530-87508 D10551 HIJET S88P
(90~)

15/16

M6×17×15.5

M10×1.25

×29.5×8

M10×1

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 105 -

DAIHATSU BRAKEWHEELCYLINDERASSEMBLY
ITEM OEM Description DIA FSD SPS Picture

W/C 47540-87505 D10552 HIJET S88P
(90~)

15/16

M6×17×15.5

M10×1.25

×29.5×8

M10×1

W/C 47510-87680 D10553 F50,F70
(74~)

1

M8×18×21

M8×18×21

M8×15×18

M10×1

W/C 47520-87680 D10554 F50,F70
(74~)

1

M8×18×21

M8×18×21

M8×15×18

M10×1

W/C 47530-87680 D10555 F50,F70
(74~)

1

M8×18×21

M8×18×21

M8×15×18

M10×1

W/C 47540-87680 D10556 F50,F70
(74~)

1

M8×18×21

M8×18×21

M8×15×18

M10×1

W/C 47550-87680 D10557 F50,F70
(74~)

7/8
M8×15×36

M8×21×36
M10×1

W/C 47550-87683 D10558 F50,F70
(74~)

7/8
M8×15×36

M8×21×36
M10×1

W/C 47505-87501 D10559 S65,S70,S75,S77
(81~)

3/4

W/C 47506-87504 D10560 S65,S70,S75,S77
(81~)

3/4

W/C 47506-87211 D10561 S38P,S10P
(81~)

3/4

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 106 -

DAIHATSU BRAKEWHEELCYLINDERASSEMBLY
ITEM OEM Description DIA FSD SPS Picture

W/C 47505-87210 D10562 CHARADE
(80~85)

5/8

W/C
47506-87701
47506-87710
47506-87210

D10563 CHARADE
(80~85)

5/8

W/C

47570-87704
47570-87706
47550-87710
47570-87705

D10564
CHARADE

G100,G101,G130
(94~ )

11/16 M6×29×16 M10×1

W/C
47550-87705
47550-87706
47550-87707

D10565
CHARADE

G100,G101,G130
(94~ )

11/16 M6×29×16 M10×1

W/C

W/C

W/C

W/C

W/C

W/C

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 107 -

DAIHATSU CLUTCH SLAVE CYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

C/S 31470-87307
31470-07308 D34301 V20,2000,2500

(77-84)
13/16 Φ11×60 M10×1

C/S 31470-87308
31470-87310 D34302 V22,LH/D,3000

(77-84)
13/16 Φ9×28×25 M10×1

C/S 31470-87312
31470-87313 D34303 V7#,V8#,V9#

(86-88)
13/16 Φ9×34×26 M10×1

C/S 31470-87309 D34304
V5#,V6#,V10#

RH/D
(85-94)

13/16 Φ11×60 M10×1

C/S 31470-87561 D34305 3/4

C/S

C/S

C/S

C/S

C/S

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 108 -

DAIHATSU CLUTCHMASTER CYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

C/M 31410-87315
31410-87323 D26401 V76,78

(85~)
5/8 Φ11×60 M10×1

C/M 31410-87312 D26402 DG,V20
(77-84)

5/8 Φ11×60 M10×1

C/M 31410-87322 D26403 DELTA
(77-84)

5/8 Φ11×60 M10×1

C/M 31420-87402 D26161 TARUNATERIOS
(97- )

5/8

C/M 31410-87310 D26404 V10 V20 V30 5/8

C/M 31410-B3010 D26405 DELTA
(84-99)

5/8

C/M

C/M

C/M

C/M

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 109 -

DAIHATSU BRAKE MASTER CYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

B/M 47201-87521 D08301 ESPASS (S91) 3/4 2-Φ9×80 M10×1

B/M
47201-87227
47201-87224
47201-87210

D08302 PERODUANIPPA
(94-00)

3/4 2-Φ9×60 M10×1

B/M 47201-87511 D08303
HIJET S85,88

TAFF
(86~)

3/4 2-Φ9×80 M10×1

B/M 47201-87611
47201-87613 D08304

DAIHA
ROCKY/WILDCAT

(85- )
7/8 Φ9×100 M10×1

B/M 47201-87301 D08305
DELTA 2000, 2500,
3000 V10, 20, 30

(78-87)
1-1/8 Φ9×45×75 M10×1

B/M 47201-87311
47201-87309 D08306 V76, V78

(88-98)
1-1/8

B/M 47201-97201 D08175
MIRAVI (L7_)
MOVE (L6, L9)

(94- )
13/16

B/M 47201-87711 D08307 CHARADE Mk III
(87-93)

3/4

B/M

B/M

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 110 -

SUZUKI BRAKEWHEELCYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

W/C 52401-60010 S10601 L50,ST20
(69-80)

7/8
M8×17×1

M8×17×1
M10×1

W/C 52402-60010 S10602 L50,ST20
(69-80)

7/8
M8×17×1

M8×17×1
M10×1

W/C 52403-60010 S10603 L50,ST20
(69-80)

7/8
M8×17×1

M8×17×1
M10×1

W/C 52404-60010 S10604 L50,ST20
(69-80)

7/8
M8×17×1

M8×17×1
M10×1

W/C 52401-79240 S10605 SJ40,ST90,ST100
(81~)

1
M6×16.5×9

M8×18×4
M10×1

W/C 52402-79240
52402-M79220

S10606 SJ40,ST90,ST100
(81~)

1
M6×16.5×9

M8×18×4
M10×1

W/C
52403-79240
52403-M79220
53400-75140

S10607 SJ40,ST90,ST100
(81~)

1
M6×16.5×9

M8×18×4
M10×1

W/C 52404-79240 S10608 SJ40,ST90,ST100
(81~)

1
M6×16.5×9

M8×18×4
M10×1

W/C 52401-79740 S10609 SJ40,ST90,ST100
(81~)

15/16
M6×16.5×9

M8×18×4
M10×1

W/C 52402-79740 S10610 SJ40,ST90,ST100
(81~)

15/16
M6×16.5×9

M8×18×4
M10×1

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 111 -

SUZUKI BRAKEWHEELCYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

W/C 52403-79740 S10611 SJ40,ST90,ST100
(81~)

15/16
M6×16.5×9

M8×18×4
M10×1

W/C 52404-79740 S10612 SJ40,ST90,ST100
(81~)

15/16
M6×16.5×9

M8×18×4
M10×1

W/C 53400-78410 S10613 ALTO SS80
(82-85)

5/8 M6×30×16 M10×1

W/C 53401-78410 S10614 ALTO SS80
(82-85)

5/8 M6×30×16 M10×1

W/C
53401-67010
53401-67020
53401-67040

S10615 ST100-T5,SL410-5
(88-00)

3/4 M6×30×16 M10×1

W/C
53402-67010
53402-67020
53402-67040

S10616 ST100-T5,SL410-5
(88-00)

3/4 M6×30×16 M10×1

W/C 53401-79740
53401-79240 S10617 SJ40,ST90,ST100

(81~)
13/16 M6×30×16 M10×1

W/C 53402-79740
53402-79240 S10618 SJ40,ST90,ST100

(81~)
13/16 M6×30×16 M10×1

W/C

53401-73040
53401-58040
53401-80040
53401-60010

S10619 LJ80,SJ410
(77~)

7/8 M6×30×16 M10×1

W/C

53402-58040
53400-58040
53400-80040
53402-80040

S10620 LJ80,SJ410
(77~)

7/8 M6×30×16 M10×1

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 112 -

SUZUKI BRAKEWHEELCYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

W/C 53401-85200 S10621 CARRY,SK410,1.0
(86-93)

3/4 M6×30×16 M10×1

W/C 53402-85200 S10622 CARRY,SK410,1.0
(86-93)

3/4 M6×30×16 M10×1

W/C
53401-80050
53401-83040
53401-80056

S10623 SJ 410
(81-88)

7/8 M6×30×16 M10×1

W/C 53402-80050
53402-83040 S10624 SJ 410

(81-88)
7/8 M6×30×16 M10×1

W/C 53401-77500 S10625
1300, SL413.
FUJULA
(87~)

13/16 M6×34×15.5 M10×1

W/C 53402-77500 S10626
1300, SL413.
FUJULA
(87~)

13/16 M6×34×15.5 M10×1

W/C 53401-60A00 S10627
SIDEKICK,

ESCUDO,VITARA
(88-93)

15/16 M6×34×15.5 M10×1

W/C 53402-60A00 S10628
SIDEKICK,

ESCUDO,VITARA
(88-93)

15/16 M6×34×15.5 M10×1

W/C 53401-83310
53401-83300 S10629 SAMURIA

(88~)
7/8 M6×30×16 M10×1

W/C 53402-83310
53402-83300 S10630 SAMURIA

(88~)
7/8 M6×30×16 M10×1

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 113 -

SUZUKI BRAKEWHEELCYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

W/C 53400-84010 S10631 800.ALTO
(81-85)

5/8 M6×26×3 M10×1

W/C

53401-84010
53401-84011
52402-84010
53402-84010

S10632 800.ALTO
(81-85)

5/8 M6×26×3 M10×1

W/C 53401-56B00
96064826 S10633

VITARA,
SIDEKICK
(89-95)

15/16 M6×32×12 M10×1

W/C

53402-56B00
EC01-26-610A
EC01-26-610B
96064827

S10634
VITARA,
SIDEKICK
(89-95)

15/16 M6×32×12 M10×1

W/C 53401-56B60
91172682 S10635

VITARA
V6,SIDEKICK 4Dr

(91~)
7/8 M6×32×12 M10×1

W/C 53402-56B60
91174801 S10636

VITARA
V6,SIDEKICK 4Dr

(91~)
7/8 M6×32×12 M10×1

W/C S10637 15/16 M6×32×12 M10×1

W/C S10638 15/16 M6×32×12 M10×1

W/C 53401-86040
96060654 S10639 METRO;SWIFT

(89-01)
5/8 M6×30×12 M10×1

W/C 53401-63B00 S10640
JUSTY BALENO

SWIFT II
(95-03)

11/16

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 114 -

SUZUKI BRAKEWHEELCYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

W/C 53402-63B00 S10641
JUSTY BALENO

SWIFT II
(95-03)

11/16

W/C 0422152219 S10642 5/8

W/C 53401-65D00 S10643 GRAND VITARA
(05- )

7/8

W/C 53402-65D00 S10644 GRAND VITARA
(05- )

7/8

W/C S10645 7/8

W/C 53401-82030
96052368 S10646 SWIFTI

(86-89)
11/16

W/C 53401-76G00
53401-75F00 S10647

WAGON R+
IGNIS ALTOMk

IV IGNIS II
(00- )

5/8

W/C 53401-81A00 S10648
JIMNY (FJ)

CARRYBOX (FD)
(98- )

3/4 2-M6×31×16.5
2-M10×

1

W/C 53402-81A00 S10649
JIMNY (FJ)

CARRYBOX (FD)
(98- )

3/4 2-M6×31×16.5 M10×1

W/C 53401-76A00 S10650

SILINDIR GRUBU
FORD PRE
ARKHFREN

(99- )

5/8 2-M6×31×17.5 M10×1

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 115 -

SUZUKI BRAKEWHEELCYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

W/C 53402-76A00 S10651

SILINDIR GRUBU
FORD PRE
ARKHFREN

(99- )

5/8 2-M6×31×17.5 M10×1

W/C 245657 S11547
SWIFT Mk II

CULTUS Convertible
(89-03)

11/16
M6×31.8

×15.5
M10×1

W/C 245658 S11548
SWIFT Mk II

CULTUS Convertible
(89-03)

11/16
M6×31.8

×15.5
M10×1

W/C S10652 5/8 M6×26×3 M10×1

W/C

W/C

W/C

W/C

W/C

W/C

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 116 -

SUZUKI CLUTCHMASTER CYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

C/M 23810-70C00 S26650
SWIFT II III

VITARABALENO
(89- )

5/8

C/M

C/M

C/M

C/M

C/M

C/M

C/M

C/M

C/M

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 117 -

SUZUKI BRAKE MASTER CYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

B/M 51100-77500 S08311 1300, SL413
(90~)

13/16 Φ9×100 M10×1

B/M 51100-78200 S08312 3/4 Φ10.5×100 M10×1

B/M 51100-84812
51100-84810 S08313 ROCKY 3/4 Φ9×60 M10×1

B/M 51100-81220 S08314
ST100-T5,SL410-5,

EXTRA
(88-00)

13/16 Φ9×80 M10×1

B/M 51100-56B60
51100-56F60 S08315 1

B/M S08316 13/16

B/M 51100-83470
51100-70A00 S08317 SAMURAI

（86-88）
7/8

B/M 51100-60A60 S08318 GEO TRACKER
（91-95）

7/8 2-Φ9×80
2-M10×

1

B/M S08319 13/16 2-Φ9×80
3-M10×

1

B/M 51100-70A40 S08320 SAMURAI
(88-04)

7/8

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 118 -

SUZUKI BRAKE MASTER CYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

B/M 51100-73210 S08321
LJ 80 SAMURAI

SJ 413
(77-04)

3/4

B/M

B/M

B/M

B/M

B/M

B/M

B/M

B/M

B/M

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 119 -

ISUZU BRAKEWHEELCYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

W/C

8-84233-501-6
8-94256-308-2
8-94256-308-3
8-94256-308-5

IS10701 TFR
(84-98)

7/8 M6×40×12.8 M10×1

W/C

8-94233-500-1
8-94233-500-2
8-94233-500-3
8-94233-500-4
8-94233-500-6
8-94233-501-6
8-94233-611-4
8-94472-842-2
8-97230-425-0

IS10702
RODEO, TFS,

TROOPER, TFR
(84-98)

7/8 M6×40×12.8 M10×1

W/C

8-94128-162-0
8-94128-162-1
8-94128-162-2
5-47610-063
8-97081-148-0
8-97179-357-0
5-47610-047-0
8-97081-147-1
9-97081-147-0

IS10703
NKR

4.7T,4.8T,6.3T
(84~)

1 1/8 M8×51×18×20 M10×1

W/C

8-94128-163-0
8-94128-163-1
8-94128-163-2
8-97081-147-0
8-97179-358-0
5-47610-062
8-97081-145-1
9-97081-148-0

IS10704
NKR

4.7T,4.8T,6.3T
(84~)

1 1/8 M8×51×18×20 M10×1

W/C
8-97179-359-0
8-97081-146-0
8-97081-148-1

IS10703-1

NKR
4.7T,4.8T,6.3T

(84~)
1 1/8 M8×51×18×20 M10×1

W/C
8-97179-360-0
8-97081-145-0
8-97081-146-1

IS10704-1

NKR
4.7T,4.8T,6.3T

(84~)
1 1/8 M8×51×18×20 M10×1

W/C
8-97139-842-0
8-97078-682-0
8-97139-842-3

IS10705 NKR 6.3T,NPR
(84~)

15/16
M8×51×18

×20
M10×1

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 120 -

ISUZU BRAKEWHEELCYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

W/C 8-97139-841-0
8-97078-683-0 IS10706 NKR 6.3T,NPR

(84~)
15/16

M8×51×18

×20
M10×1

W/C 8-97139-840-0
8-97078-684-0 IS10707 NKR 6.3T,NPR

(84~)
15/16

M8×51×18

×20
M10×1

W/C
8-94128-141-1
8-94128-141-2
8-94128-141-3

IS10705-1
NKR 6.3T,NPR

(84~)
1

M8×51×18

×20
M10×1

W/C
8-94128-142-1
8-94128-142-2
8-94128-142-3

IS10706-1
NKR 6.3T,NPR

(84~)
1

M8×51×18

×20
M10×1

W/C
8-94128-143-1
8-94128-143-2
8-94128-143-3

IS10707-1
NKR 6.3T,NPR

(84~)
1

M8×51×18

×20
M10×1

W/C

8-94128-144-0
8-94128-144-1
8-94128-144-2
8-94128-144-3
9-47610-653-3
8-97179-335-0
8-97081-144-0
8-97081-142-1

IS10708
ELF,NHR,NKR

4.8T
(88~)

7/8
M8×51×18

×20
M10×1

W/C

8-94128-145-0
8-94128-145-1
8-94128-145-2
8-94128-145-3
9-47610-655-3
8-97179-336-0
8-97081-143-0
8-97081-143-1

IS10709
ELF,NHR,NKR

4.8T
(88~)

7/8
M8×51×18

×20
M10×1

W/C

8-94128-146-0
8-94128-146-1
8-94128-146-2
8-94128-146-3
9-47610-654-3
8-97179-337-0
8-97081-142-0
8-97081-144-1

IS10710
ELF,NHR,NKR

4.8T
(88~)

7/8
M8×51×18

×20
M10×1

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 121 -

ISUZU BRAKEWHEELCYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

W/C

8-94128-147-1
8-94128-147-2
8-94128-147-3
9-47610-652-3

IS10711
ELF,NHR,NKR

4.8T
(88~)

7/8
M8×51×18

×20
M10×1

W/C 9-47601-633-4
9-47601-633-1 IS10712

ELF,C240,
TLD250,350

(67-75)
1

M8×51×20

×18
M10×1

W/C 9-47601-634-4
9-47601-634-1 IS10713

ELF,C240,
TLD250,350

(67-75)
1

M8×51×20

×18
M10×1

W/C 9-47601-635-4
9-47601-635-1 IS10714

ELF,C240,
TLD250,350

(67-75)
1 M8×51×18×20 M10×1

W/C 9-47601-636-4
9-47601-636-1 IS10715

ELF,C240,
TLD250,350

(67-75)
1 M8×51×18×20 M10×1

W/C 9-47601-656-0
9-47601-671-2 IS10716 ELF 3500 DIESEL

(71-76)
1 1/8

M8×51×18

×20
M10×1

W/C 9-47601-657-0
9-47601-672-2 IS10717 ELF 3500 DIESEL

(71-76)
1 1/8

M8×51×18

×20
M10×1

W/C 8-97078-613-0
8-97170-950-0 IS10718

ELF,NKR,NQR,
NPR
(92-97)

1 1/8

M10×1.25×18×

20×28.5

×24

M10×1

W/C 8-97078-614-0
8-97170-951-0 IS10719

ELF,NKR,NQR,
NPR
(92-97)

1 1/8

M10×1.25×18×

20×28.5

×24

M10×1

W/C 8-97078-615-0
8-97170-952-0 IS10720

ELF,NKR,NQR,
NPR
(92-97)

1 1/8

M10×1.25×18×

20×28.5

×24

M10×1

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 122 -

ISUZU BRAKEWHEELCYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

W/C 8-97078-616-0
8-97170-953-0 IS10721

ELF,NKR,NQR,
NPR
(92-97)

1 1/8

M10×1.25×18×

20×28.5

×24

M10×1

W/C

8-94154-906-0
8-94154-906-1
8-94154-906-2
8-94154-906-3
8-94131-649-1

IS10722 NPR 6.98T
(83~)

1-1/16

M10×1.25×18×

20×28.5

×24

M10×1

W/C

8-94154-907-0
8-94154-907-1
8-94154-907-2
8-94154-907-3
8-94131-648-1

IS10723 NPR 6.98T
(83~)

1-1/16

M10×1.25×18×

20×28.5

×24

M10×1

W/C

8-97078-617-0
8-97179-352-0
8-97019-228-1
8-97019-228-0

IS10724
ELF,NKR,NQR,

NPR
(92-97)

1
M10×1.25×18×

20×47
M10×1

W/C

8-97078-618-0
8-97179-351-0
8-97019-227-1
8-97019-227-0

IS10725
ELF,NKR,NQR,

NPR
(92-97)

1
M10×1.25×18×

20×47
M10×1

W/C

8-97078-619-0
8-97179-350-0
8-97019-226-1
8-97019-226-0

IS10726
ELF,NKR,NQR,

NPR
(92-97)

1
M10×1.25×18×

20×47
M10×1

W/C
8-94131-652-0
8-94131-652-2
8-94131-652-3

IS10727 NPR 6.98T
(83~)

1-1/16
M10×1.25×18×

20×47
M10×1

W/C

8-94131-650-0
8-94131-650-1
8-94131-650-2
8-94131-650-3
8-97078-612-0

IS10728 NPR 6.98T
(83~)

1-1/16
M10×1.25×18×

20×47
M10×1

W/C
8-94131-651-0
8-94131-651-2
8-94131-651-3

IS10729 NPR 6.98T
(83~)

1-1/16
M10×1.25×18×

20×47
M10×1

W/C 1-47600-684-0
1-47600-684-1 IS10730 C×Z 20T V10

(86~)
2-1/8 Φ15×80

M12×1.

5

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 123 -

ISUZU BRAKEWHEELCYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

W/C 1-47600-682-0 IS10731
CXZ 20 TV10,
CJM,CPM, FTR

(86~)
2-3/16 Φ15×80

M12×1.

5

W/C 1-47600-689-0
1-47600-697-0 IS10732 FVR,FSR,FTR

(86~)
2

M12×68

×13

M12×

1.5

W/C 1-47600-687-0 IS10733 ECM
(86~)

2-1/8
M12×68

×13

M12×

1.5

W/C

1-47600-653-0
1-47600-785-0
1-47600-847-0
1-47600-956-0

IS10734 FRR,FSR
(92~)

40
M12×1.25×50×

48
M10×1

W/C

1-47600-654-0
1-47600-786-0
1-47600-848-0
1-47600-957-0

IS10735 FRR,FSR
(92~)

40
M12×1.25×50×

48

M10×1

M12×1.

5

W/C

1-47600-655-0
1-47600-787-0
1-47600-849-0
1-47600-958-0

IS10736 FRR,FSR
(92~)

40
M12×1.25×50×

48
M10×1

W/C

1-47600-656-0
1-47600-788-0
1-47600-850-0
1-47600-959-0

IS10737 FRR,FSR
(92~)

40
M12×1.25×50×

48

M10×1

M12×1.

5

W/C

1-47600-583-0
1-47600-781-0
1-47600-839-0
1-47600-090-1
1-47600-948-0
1-47600-529-0
1-47600-922-0

IS10738 FSR 9.2T,10.5T
(88-93)

1-1/2
M12×1.25

×49×46
M10×1

W/C

1-47600-584-0
1-47600-782-0
1-47600-840-0
1-47600-091-1
1-47600-949-0
1-47600-530-0
1-47600-923-0

IS10739 FSR 9.2T,10.5T
(88-93)

1-1/2
M12×1.25

×49×46
M10×1

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 124 -

ISUZU BRAKEWHEELCYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

W/C

1-47600-585-0
1-47600-783-0
1-47600-841-0
1-47600-092-1

IS10740 FSR 9.2T,10.5T
(88-93)

1-1/2
M12×1.25

×49×46

M10×1

M12×

1.5

W/C

1-47600-586-0
1-47600-784-0
1-47600-842-0
1-47600-093-1
1-47600-951-0
1-47600-532-0
1-47600-925-0

IS10741 FSR 9.2T,10.5T
(88-93)

1-1/2
M12×1.25

×49×46

M10×1

M12×

1.5

W/C 8-97301-478-0 IS10742 D-MAX 1 M6×16.5×35 M10×1

W/C 9-47600-498-0 IS10743 STX
(90-93)

1-1/2

W/C 9-47600-499-0 IS10744 ST×
(90-93)

44

W/C 9-47600-548-0
9-57600-548-0 IS10745 ST×

(90-93)
40

W/C 9-47600-538-0 IS10746 ST×
(90-93)

40

W/C 1-47600-542-2 IS10747 ROCKY
(85-02)

44
M12×1.75

×68×13

M20×1.

5

W/C 1-47600-686-0 IS10748 ROCKY
(85-02)

44
M12×1.75

×68×13

M12×1.

5

W/C
8-94414-691-2
8-94414-691-1
8-94414-691-0

IS10749 ELF,NKR,NPR
(84~)

1-3/16

M10×1.25×

（24+28.5）×

（18+20）

M10×1

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 125 -

ISUZU BRAKEWHEELCYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

W/C
8-94414-693-2
8-94414-693-0
8-97139-814-0

IS10750 ELF,NKR,NPR
(84~)

1-3/16

M10×1.25×

（23.5+23.5）×

（18+20）

M10×1

W/C 8-94414-695-2 IS10751 ELF,NKR,NPR
(84~)

1-3/16

M10×1.25×(23.

5+23.5)×(18+20

)

M10×1

W/C 8-97022-141-1
8-97139-822-0 IS10752

ELF,NKR,NQR,
NPR TURBO

(92~)
1-3/16

M12×1.25×(21.

5+21.5)×(20+19

)

M10×1

W/C 8-97022-143-1
8-97139-825-0 IS10753

ELF,NKR,NQR,
NPR TURBO

(92~)
1-3/16

M12×1.25×(21.

5+21.5)×(20+19

)

M10×1

W/C 9-47601-725-1
9-47601-725-0 IS10754

FASTER 1600, 1800,

2000. DIESEL PICK-UP

KB20-50,KB20.25

(71-76)

1-1/16
M12×1.25×29×

10.5×24×16
M10×1

W/C 9-47601-726-1
9-47601-726-0 IS10755

FASTER 1600, 1800,

2000. DIESEL PICK-UP

KB20-50,KB20.25

(71-76)

1-1/16
M12×1.25×29×

10.5×24×16
M10×1

W/C 9-47601-729-0
9-47601-729-1 IS10756 PICKUPKB 2WD

(72-80)
13/16

W/C 9-47601-730-0
9-47601-730-1 IS10757 PICKUPKB 2WD

(72-80)
13/16

W/C 8-94145-798-1
8-94131-798-1 IS10759 KS22

(89-92)
1-1/16

M10×1.25×47×

(20+18)
M10×1

W/C 8-94145-799-1
8-94131-799-1 IS10760 KS22

(89-92)
1-1/16

M10×1.25×47×

(20+18)
M10×1

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 126 -

ISUZU BRAKEWHEELCYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

W/C
47601-603
1-47601-603
9-47601-603

IS10761 ELFC240
(67-75)

1-1/8
M8×1.25×(23+34)

×(18+18)
M10×1

W/C
47601-604
1-47601-604
9-47601-604

IS10762 ELFC240
(67-75)

1-1/8
M8×1.25×(23+34)

×(18+18)
M10×1

W/C 1-47600-378-1
1-47600-378-0 IS10763

JBR,JCR,DBR
12.5T
(79-84)

40

W/C 1-47600-379-1
1-47600-379-0 IS10764

JBR,JCR,DBR
12.5T
(79-84)

40

W/C 1-47600-416-1 IS10765 JCM,JCZ
(83-84)

40

W/C 1-47600-417-1 IS10766 JCM,JCZ
(83-84)

40

W/C 1-47600-098 IS10767 SBR 8.8T
(75-80)

1-3/8
M8×1.25×(23+34)

×(18+18)
M10×1

W/C 1-47600-099 IS10768 SBR 8.8T
(75-80)

1-3/8
M8×1.25×(23+34)

×(18+18)
M10×1

W/C 8-97319-300-0 IS10769 D-MAX Pickup
(02- )

15/16

W/C 1-47600-777-0
1-47600-674-0 IS10770 FTD FTR

CXZ71 FR (1)
47.5

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 127 -

ISUZU BRAKEWHEELCYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

W/C 1-47600-524-1 IS10771 FTR FVZ EGR 53.5

W/C 1-47600-697-0
1-47600-595-0 IS10772 FTR REAR

(90- )
50.8

W/C 1-47600-696-0 IS10773 50.8

W/C 8-94133-703-2 IS10774 GEMINI
(88-90)

11/16

W/C

8-97127-616-0
8-94230-541-0
8-94230-541-1
8-94230-541-3
8-94230-541-5

IS10775

CAMPO OPEL
FRONTERA

VAUXH BRAVA
(01- )

1

W/C 8-94414-692-0
8-94414-692-2 IS10776 ELF,NKR,NPR

(84~)
1-3/16

W/C 8-94414-694-0
8-94414-694-2 IS10777 ELF,NKR,NPR

(84~)
1-3/16

W/C
8-94414-696-2
8-94414-696-0
8-97139-817-0

IS10778 ELF,NKR,NPR
(84~)

1-3/16

W/C 8-97022-142-1
8-97139-824-0 IS10779

ELF,NKR,NQR,
NPR TURBO

(92~)
1-3/16

W/C 8-97022-144-1 IS10780
ELF,NKR,NQR,
NPR TURBO

(92~)
1-3/16

TEMCO

TEMCO Auto Parts www.0086PARTS.COM

file:///F:/车系分类资料/五十铃系列/刹车分泵/1-47600-524-1.doc
file:///F:/车系分类资料/五十铃系列/刹车分泵/1-47600-697-0.doc
file:///F:/车系分类资料/五十铃系列/刹车分泵/1-47600-696-0.doc


- 128 -

ISUZU BRAKEWHEELCYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

W/C 8-97038-681-1 IS10781
ISUZU NPR
NQR NRR
(94- )

1-5/16
M12×1.25 ×43×20

M12×1.25 ×43×18
M10×1

W/C 8-97038-682-1 IS10782
ISUZU NPR
NQR NRR
(94- )

1-5/16
M12×1.25 ×43×20

M12×1.25 ×43×18
M10×1

W/C
8-97022-026-1
8-97022-030-1
8-97139-818-0

IS10783 EFL
(92-03)

1-3/16

W/C 8-97022-028-1
8-97139-820-0 IS10784 EFL

(92-03)
1-3/16

W/C
8-97022-027-1
8-97022-031-1
8-97139-819-0

IS10785 EFL
(92-03)

1-3/16

W/C 8-97022-029-1
8-97139-821-0 IS10786 EFL

(92-03)
1-3/16

W/C 8-97332-223-0 IS10787 EFLTRUCK 1-3/16

W/C

W/C

W/C

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 129 -

ISUZU CLUTCH SLAVE CYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

C/S
8-97039-704-0
8-97039-704-1
8-94474-123-0

IS34311 TFR
(95~)

13/16 Φ12.5×97.5 M10×1

C/S 8-94389-193-0
8-94319-313-0 IS34312

CAMPO
TFR54,TFS54

(91-94)
13/16 Φ12.5×97.5 M10×1

C/S

8-94389-191-1
8-94389-195-1
8-97039-815-0
8-97940-631-0
8-94389-195-0
8-94319-316-0

IS34313 TROOPER UBS55
(87-91)

7/8 Φ12.5×97.5 M10×1

C/S 8-97941-928-0 IS34314 TROOPER
(87-91)

7/8 Φ12.5×97.5 M10×1

C/S 8-94258-525-0 IS34315 NKR57,NPR57
(84-87)

1-1/16 Φ8×60
M12×

1.5

C/S

8-94389-194-1
8-94319-315-0
8-94389-194-0
8-94460-210-0

IS34316 TROOPER UBS17
(87-91)

7/8 Φ11×70 M10×1

C/S

5-47570-052-0
5-47570-052-1
5-47570-052-2
8-94143-446-0

IS34317 TL,KT 5.6T
(81~)

7/8 M8×67
M12×

1.5

C/S 5-47570-054-0 IS34318
KA41,51,KAG41,
51,KAD41,51

(78~)
7/8 Φ9×46.5

M12×

1.5

C/S

8-94319-297-0
8-97024-297-0
8-94457-893-0
8-94386-225-0
8-97032-841-0
8-97032-846-1
8-97032-851-0
8-97032-851-1
1-47570-206-1
8-97032-845-1

IS34319
ELF,NKR,NQR,

NPR
(88-98)

1 M8×64
M12×

1.5

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 130 -

ISUZU CLUTCH SLAVE CYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

C/S

8-94319-299-0
8-94319-300-0
8-97024-293-0
8-97024-293-1
8-94459-695-0
8-97024-295-0
8-94457-857-0

IS34320
ELF,NKR57,

NPR57
(87-90)

1-1/16 M8×67
M12×

1.5

C/S

8-97032-847-1
8-97020-134-1
8-97032-847-0
8-97031-847-1

IS34321
NQR,NPR,NKR,
ELF 6.5T,7.9T

(94~)
1 M8×64

M12×

1.5

C/S

8-97160-116-0
8-97160-881-0
8-98041-292-0
8-98041-292-1
8-97212-015-0

IS34322
ELF,NHR,NKR,

NPR,NQR
(96- )

1-1/16 M8×68 M12×1

C/S

8-94319-077-1
8-94319-305-0
8-94240-641-1
8-94439-073-0
8-94132-259-0
94319605

IS34323 MIDI Bus Van
(88- )

3/4
Φ10.5×35×34×

13.2
M12×1

C/S 8-97184-993-0 IS34324 PICK UP 13/16 M10×1

C/S 8-94319-304-1
8-94319-304-0 IS34326 KS 7T

(79~)
29.6

C/S 5-47570-020-1
5-47570-020-0 IS34327

KA40,50,KAD41,
51, TLG,TLD
（2000,2400）

(70-77)

29.6 Φ9×68.4
M12×1.

5

C/S
8-94144-242-0
5-47570-035-0
5-47570-035-1

IS34328 KAD51
(81~)

7/8 Φ8.5×68.4
M12×1.

5

C/S
1-47570-050-0
1-47570-050-1
1-47570-050-2

IS34329
FRR,FSR,FTR,

FSS,FTS
(92~)

1 Φ10.8×50
M10×1.

25

C/S 1-47570-039-0 IS34330 TX,BF,FSR,FTR
(65~)

1 Φ10.8×50
M10×1.

25

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 131 -

ISUZU CLUTCH SLAVE CYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

C/S 8-94319-298-1 IS34331
TRUCK.NPR/W4.
3.9L.DIESEL

(91~)
1

C/S 8-94316-299-0 IS34332
ELF,NKR57,

NPR57
(87-90)

1-1/16

C/S 8-97047-972-0
8-98041-293-0 IS34334 VHR,VKR,NHR55

(93~)
1-1/16 M8×64 M12×1

C/S 8-97039-706-0 IS34335 KB Pickup
(88-99)

13/16

C/S 8-94319-306-0 IS34336 MIDI Bus Van Box
(88- )

7/8 Φ10.5×70 M10×1

C/S
8-97040-866-1
8-97040-866-2
8-97040-866-0

IS34337

AMIGO '98~'99.
PASSPORT '94~'00.
TROOPER '92~'99.
RODEO '94~'00

7/8 Φ10.5×70 M10×1

C/S 8-94389-196-0
8-94326-451-0 IS34338 BIGHORN

(83-91)
7/8

C/S 8-97941-515-0 IS34339 D-MAX Pickup
(02- )

13/16

C/S 8-97942-296-0 IS34340 D-MAX Pickup
(02- )

3/4

C/S 8-98004-780-0 IS34341
ELF DIESEL
TRUCK NPS

(10- )
1

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 132 -

ISUZU CLUTCH SLAVE CYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

C/S 8-97212-010-0
8-97047-971-0 IS34342 NKR-55 truck 1-1/16

C/S 8-97942-322-0 IS34343 TFR TFS
(02-11)

3/4

C/S 8-97946-625-0 IS34344 D-Max
(14- )

13/16

C/S 8-97148-628-2 IS34345 NPR75 4HK1
(03- )

1

C/S

C/S

C/S

C/S

C/S

C/S

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 133 -

ISUZU CLUTCH MASTER CYLINDERASSEMBLY
ITEM OEM Description DIA FSD SPS Picture

C/M 8-94312-898-0 IS26411 WAGONWFR12
(62~)

5/8 2-Φ8.7×60 M10×1

C/M

5-47500-207-0
5-47500-207-1
5-47500-207-2
5-47500-342-0
8-94312-905-0
8-94312-906-0

IS26412 TL,KAD,BLG
(81~)

5/8 2-Φ8.7×60 M12×1

C/M
8-94403-946-0
8-94447-208-0
8-94159-061-0

IS26413 ELF,NKR,NPR
(85-90)

13/16 2-Φ8.7×70 M12×1

C/M

8-97102-438-0
8-97124-108-0
8-97162-963-0
8-97167-406-0
8-97167-445-0
8-98117-644-0

IS26414
ELF,NHR,NQR,

NKR,NPR
(97~)

3/4 2-Φ8.7×100 M12×1

C/M 8-94258-526-0
8-94312-903-0 IS26415

ELF,NHR,NKR,
NPR
(83-97)

3/4 2-Φ8.7×60 M12×1

C/M

8-94463-247-1
8-97032-832-0
8-97048-567-0
8-94259-526-0
8-94463-247-0

IS26416
ELF,NHR,NKR,

NPR
(87-93)

3/4 2-Φ8.7×60 M12×1

C/M

8-97102-021-0
8-97102-437-0
8-97124-109-0
8-97167-404-0
8-97210-748-0
8-97210-748-1
8-98097-694-0
8-98083-061-0

IS26417
ELF,NKR,NPR,

NQR
(94~)

13/16 2-Φ8.7×80 M12×1

C/M 8-97940-628-0
8-97201-007-0 IS26418 TROOPER

(91-98)
5/8 2-M8×60 M12×1

C/M 8-97201-006-0 IS26419 TBR 5/8 2-M8×60 M12×1

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 134 -

ISUZU CLUTCH MASTER CYLINDERASSEMBLY
ITEM OEM Description DIA FSD SPS Picture

C/M 8-97024-940-2
8-97024-940-0 IS26420

RODEO,
TROOPER
(90-97)

5/8 2-M8×60 M10×1

C/M

8-97110-221-0
8-97136-444-0
8-97136-445-0
8-97138-594-2
8-97185-017-0
8-97022-614-2
8-94434-710-0
8-94434-710-1
8-94434-710-2

IS26421
PICKUP,RODEO,

TROOPER
(90-97)

5/8 2-M8×60 M12×1

C/M 8-94427-293-3 IS26422 TFR
(84-98)

5/8

C/M 9-47500-138 IS26423 TLD S220
(84-98)

7/8 Φ10.5×70 M12×1

C/M 9-47500-322-1
9-47500-322-0 IS26424 ELF,KS 7T

(80-84)
7/8

C/M
5-47500-138-2
8-94312-916-0
5-47500-138-1

IS26425 TLD S220
(84-98)

7/8

C/M

1-47500-222-0
1-47500-222-1
1-47500-210-3
1-47500-205-0

IS26426
E×R,C×Z,FSR,
FTR,FSS,FTS

(86~)
7/8

C/M 1-47500-160-0
1-47500-160-1 IS26427 DBR

(77~)
7/8

C/M 9-47500-434-1 IS26428 T× 50
(65-72)

20

C/M

8-94315-559-0
8-94315-559-3
8-94315-559-1
8-94315-559-2

IS26429 TROOPER
(92-95)

5/8 2-M8×60 M12×1

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 135 -

ISUZU CLUTCH MASTER CYLINDERASSEMBLY
ITEM OEM Description DIA FSD SPS Picture

C/M 8-97210-964-0 IS26430 13/16 Φ9×80 M12×1

C/M IS26431 5/8

C/M IS26432 1

C/M

8-97943-432-0
8-97943-432-D
8-97941-511-0
8-97945-438-0

IS26433 D-MAX Pickup
(02- )

5/8

C/M 8-97943-407-0 IS26434 D-MAX
(07- )

5/8 M8×60 M12×1

C/M 1-47500-407-0 IS26435
TD DXZ DVR

TDJ
(71- )

13/16 3-Φ11×70×35 M12×1.5

C/M 8-97946-627-0 IS26436 D-Max
(14- )

5/8

C/M

1-47500-239-1
1-47500-239-2
1-47500-232-1
1-47500-232-2

IS26437
EXR(7

SPEED),FRR,FSR,
FT

7/8

C/M

C/M

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 136 -

ISUZU BRAKE MASTER CYLINDERASSEMBLY
ITEM OEM Description DIA FSD SPS Picture

B/M 5-47500-270-0
5-47500-278-0 IS08321 KAD,KAG

(81-91)
1 Φ8.5×75×45 M10×1

B/M 8-94258-508-2 IS08322
ELF,NKR,
NPR 6.3T
(84-90)

1 Φ8.5×75×45 M10×1

B/M
8-94254-833-0
8-94254-833-1
8-94254-833-2

IS08323
ELF,NKR,
NPR 6.3T
(84-90)

1-1/16 Φ8.5×75×45 M10×1

B/M

8-94441-330-0
8-94441-331-0
8-94249-365-2
8-94249-365-0

IS08324
ELF,NKR,
NPR 7.9T
(85-90)

1-1/8 Φ8.5×75×45 M10×1

B/M 8-97038-248-0
8-94113-582-0 IS08325 AMIGO

(93-94)
15/16 Φ9×80 M10×1

B/M

8-94313-549-2
8-94313-438-0
8-94313-438-1
8-94313-438-2
8-94313-437-2
8-94332-949-0

IS08326 AMIGO,PICK UP
(88-92)

15/16 Φ9×80 M10×1

B/M
8-94112-625-1
8-94113-582-2
8-94113-582-1

IS08327 TROOPER
(85-91)

7/8 Φ9×80 M10×1

B/M

8-97186-710-0
8-94249-618-1
8-97186-688-0
8-97224-371-0

IS08328
ELF,NPR,NQR
6.5T,7.9T,8.5T

(96- )
1-1/4 Φ9×75×45 M10×1

B/M IS08329 7/8

B/M
8-94406-P59-0
8-94406-618-1
8-97107-355-0

IS08330 ELF,NPR 7.9T
(87-93) 1-1/4

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 137 -

ISUZU BRAKE MASTER CYLINDERASSEMBLY
ITEM OEM Description DIA FSD SPS Picture

B/M 8-97033-751-0 IS08331 1-1/16

B/M 8-97301-532-0
8-97355-870-0 IS08332 D-MAX Pickup

(02- )
1

B/M 8-98006-942-0 IS08333 TFR TFS
(04- )

1 φ9x80 M10x1

B/M

8-97219-308-0
8-97224-375-0
8-97129-690-0
8-97100-074-2
8-97186-685-0
8-97224-374-0

IS08334 ELF
(92-03)

1-1/8 φ9x75x45 M10x1

B/M

8-97100-075-2
8-97186-687-0
8-97219-305-0
8-97129-692-0

IS08335 ELFN-Serie
(85- )

1-1/4 φ9x75x45 M10x1

B/M 8-98006-941-0 IS08336 D-MAX 1 φ9×80 M10×1

B/M 8-97224-372-0 IS08337
ELF

N-Serie
(93- )

1-1/4 φ9×75×45 M10×1

B/M 8-97354-050-1 IS08338 D-MAX Pickup
（02- ）

1 φ9×80 M10×1

B/M 8-94222-653-0 IS08339
FASTER
TROOPER
（81- ）

7/8

B/M 8-98163-227-0 IS08340 D-MAX
(14- ) 7/8

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 138 -

ISUZU BRAKE MASTER CYLINDERASSEMBLY
ITEM OEM Description DIA FSD SPS Picture

B/M 8-97038-250-0
8-94338-038-0 IS08341

TRUCKAMIGO
PICKUPRODEO

(93-97)
1

B/M

B/M

B/M

B/M

B/M

B/M

B/M

B/M

B/M

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 139 -

MAZDABRAKEWHEELCYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

W/C
MDX01-26-610A
D001-26-610A
E8BZ-2261B

MA10901 121
(90-96)

5/8 M6×32×6 M10×1

W/C
MDX50-26-610A
DC03-26-610A
KK387-26-610

MA10902 DEMIO
(88~)

11/16 M6×30×12 M10×1

W/C
0522-26-510
0522-26-510A
0522-26-510C

MA10903 626
(79-82)

11/16 M6×30×12 M10×1

W/C B001-26-610
B001-26-610A MA10904 323

(80-86)
11/16 M6×30×12 M10×1

W/C
B092-26-610
E7GZ2261A
66670104

MA10905 323
(85-95)

11/16 M6×30×12 M10×1

W/C

BC1D-26-610
G030-26-610
BC1D-26-610A
BC1D-26-610B
G030-26-610A
G030-26-610B
G030-26-610D
GA30-26-610
G032-26-610

MA10906 MX6,626
(83-88)

3/4 M6×30×12 M10×1

W/C

GJ21-26-610
GJ21-26-610A
GJ21-26-610B
GJ21-26-610C
GJ21-26-610D
BW0A-26-610
AA100-26-710
E9ZZ2261A
GJ21-26-251C
B21H-26-610
B21H-26-610A
B22M-26-610
58330-1G000
OK30A-26-610
58330-FD100
3728117

MA10907
MX6,626,MX3,

323
(88-96)

11/16 M6×32×12 M10×1

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 140 -

MAZDABRAKEWHEELCYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

W/C
LC62-26-610
LC62-26-610B
LC62-26-610C

MA10908 MPV
(99~)

3/4 M6×32×12 M10×1

W/C GA02-26-610A
GA2A-26-610 MA10909 626

(79-82)
13/16 M6×30×12 M10×1

W/C GA02-26-710A
GA2A-26-710 MA10910 626

(79-82)
13/16 M6×30×12 M10×1

W/C

1393-26-610
1393-26-610A
1393-26-610C
S001-26-610
S001-26-610A

MA10911
E1300,1400,1600,
1800,2000,2200

(81-89)
11/16 M6×46×6 M10×1

W/C

1393-26-710
1393-26-710A
1393-26-710C
S001-26-710
S001-26-710A

MA10912
E1300,1400,1600,
1800,2000,2200

(81-89)
11/16 M6×46×6 M10×1

W/C

S083-26-610
S083-26-610A
S121-26-610
S121-26-610A
OK72A-26-610
41101-1B009

MA10913
E1300,1400,1600,
1800,2000,2200

(81-98)
11/16 M6×46×6 M10×1

W/C

S083-26-710
S083-26-710A
S121-26-710
S121-26-710A
41100-1B009
OK72A-26-710

MA10914
E1300,1400,1600,
1800,2000,2200

(81-98)
11/16 M6×46×6 M10×1

W/C
UC86-26-610
LA01-26-610
L0A1-26-610

MA10915
B1600,B2000,

B2200,B2500, B2600
(89-98)

11/16 M8×47×9 M10×1

W/C
UC86-26-710
LA01-26-710
L0A1-26-710

MA10916
B1600,B2000,

B2200,B2500, B2600
(89-98)

11/16 M8×47×9 M10×1

W/C MA10917 5/8 M6×46×6 M10×1

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 141 -

MAZDABRAKEWHEELCYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

W/C 8531-26-610 MA10920 323
(82-86)

3/4 M6×30×12 M10×1

W/C UB39-26-610 MA10921 E2000,E2200
(84-88)

3/4 M6×30×12 M10×1

W/C UB39-26-710
UB39-26-710A

MA10922 E2000,E2200
(84-88)

3/4 M6×30×12 M10×1

W/C

8531-26-010
8532-33-710
8532-33-990B
8532-49-230A
8532-49-280
8532-49-280A

MA10923
616,818,1000,
1300,323
(73-80)

11/16 M6×30×12 M10×1.25

W/C 0613-26-610A MA10924 B1000,808
(67-78)

3/4 M6×30×12 M10×1.25

W/C 0613-26-710A MA10925 B1000,808
(67-78)

3/4 M6×30×12 M10×1.25

W/C
1011-26-610A
1011-26-610C
1011-26-610B

MA10926 929,323
(82-86)

13/16 M6×30×12 M10×1.25

W/C
1011-26-710A
1011-26-710C
1011-26-710B

MA10927 929,323
(82-86)

13/16 M6×30×12 M10×1.25

W/C 0778-26-610 MA10928 NB1000
(73-78)

13/16 M6×30×12 M10×1.25

W/C 0778-26-710 MA10929 NB1000
(73-78)

13/16 M6×30×12 M10×1.25

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 142 -

MAZDABRAKEWHEELCYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

W/C MA10930 13/16

W/C 0603-33-510
0660-33-510 MA10931 B1600 PICK UP

(72-76)
1

M6×28×18

M12×1.5×28
M10×1.25

W/C
0589-33-610
0603-33-610
0603-33-610A

MA10932 B1600 PICK UP
(72-76)

1
M6×28×18

M12×1.5×28
M10×1.25

W/C
0589-33-710
0603-33-710
0603-33-710A

MA10933 B1600 PICK UP
(72-76)

1
M6×28×18

M12×1.5×28
M10×1.25

W/C OKF73-33-710 MA10936 1-1/8
M6×28×18

M12×1.5×28
M10×1

W/C OKF73-33-610 MA10937 1-1/8
M6×28×18

M12×1.5×28
M10×1

W/C UH71-26-610 MA10938 B-SERIE
(02~)

15/16 M6×40×14 M10×1

W/C
W023-26-410
W023-26-510
W023-26-710

MA10939
T3500,2500,2600,

3000(4W)
(85-98)

1
M10×1.25×4

0×29
M10×1

W/C W023-26-610 MA10940
T3500,2500,2600,

3000(4W)
(85-98)

1
M10×1.25×4

0×29
M10×1

W/C S001-33-410
1391-33-410 MA10941

E1300,E1600,
E2200
(81-83)

1-1/16

M6×26×22

M12×1.5×25

×13.5

M10×1

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 143 -

MAZDABRAKEWHEELCYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

W/C S001-33-510
1391-33-510 MA10942

E1300,E1600,
E2200
(81-83)

1-1/16

M6×26×22

M12×1.5×25

×13.5

M10×1

W/C S001-33-610
1391-33-610 MA10943

E1300,E1600,
E2200
(81-83)

1-1/16

M6×26×22

M12×1.5×25

×13.5

M10×1

W/C S001-33-710
1391-33-710 MA10944

E1300,E1600,
E2200
(81-83)

1-1/16

M6×26×22

M12×1.5×25

×13.5

M10×1

W/C F66-33-410
F65-33-410 MA10945 1-1/8

M6×26×22

M12×1.5×25

×13.5

M10×1

W/C F66-33-510 MA10946 1-1/8

M6×26×22

M12×1.5×25

×13.5

M10×1

W/C F66-33-610
F65-33-610 MA10947 1-1/8

M6×26×22

M12×1.5×25

×13.5

M10×1

W/C F66-33-710 MA10948 1-1/8

M6×26×22

M12×1.5×25

×13.5

M10×1

W/C 0557-26-610 MA10949
NE2000,E2000,

E3000
(71-80)

1
M12×1.5×50

×17.5×12.5
M10×1.25

W/C 0557-26-710 MA10950
NE2000,E2000,

E3000
(71-80)

1
M12×1.5×50

×17.5×12.5
M10×1.25

W/C 0557-26-860 MA10951
NE2000,E2000,

E3000
(71-80)

1
M12×1.5×50

×17.5×12.5
M10×1.25

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 144 -

MAZDABRAKEWHEELCYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

W/C 0557-26-960 MA10952
NE2000,E2000,

E3000
(71-80)

1
M12×1.5×50

×17.5×12.5
M10×1.25

W/C

W023-33-410
W023-33-410A
W023-33-410C
W023-33-410E
W023-33-410F

MA10953
T3000,3500,

4000(6W),4WD
(85-98)

1-1/8
M10×1.25

×50×20×10
M10×1

W/C

W023-33-510
W023-33-510A
W023-33-510C
W023-33-510E

MA10954
T3000,3500,

4000(6W),4WD
(85-98)

1-1/8
M10×1.25

×50×20×10
M10×1

W/C

W023-33-610
W023-33-610A
W023-33-610C
W023-33-610E
W023-33-610F

MA10955
T3000,3500,

4000(6W),4WD
(85-98)

1-1/8
M10×1.25

×50×20×10
M10×1

W/C

W023-33-710
W023-33-710A
W023-33-710C
W023-33-710D
W023-33-710E

MA10956
T3000,3500,

4000(6W),4WD
(85-98)

1-1/8
M10×1.25

×50×20×10
M10×1

W/C

W025-26-410
W025-26-410A
W025-26-410C
W025-26-410E

MA10957
T3500(6W)

TURBO,T4000
(85~)

1
M10×1.25

×50×20×10
M10×1

W/C
W025-26-610
W025-26-610A
W025-26-610C

MA10958
T3500(6W)

TURBO,T4000
(85~)

1
M10×1.25

×50×20×10
M10×1

W/C
W025-26-510
W025-26-510A
W025-26-510C

MA10959
T3500(6W)

TURBO,T4000
(85~)

1
M10×1.25

×50×20×10
M10×1

W/C W025-26-710
W025-26-710C MA10960

T3500(6W)TURBO,

T4000(85~)
1

M10×1.25

×50×20×10
M10×1

W/C 0193-33-610A MA10961 1200
(81-89)

13/16
M6×24×15

Φ12×28
M10×1.25

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 145 -

MAZDABRAKEWHEELCYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

W/C 0193-33-710A MA10962 1200
(81-89)

13/16
M6×24×15

Φ12×28
M10×1.25

W/C 0187-26-610 MA10963 1200
(81-89)

13/16 M6×30×12 M10×1.25

W/C 1312-33-410 MA10964 M 1300 13/16

M6×26×16

M12×1.25

×19

M10×1.25

W/C 1312-33-510 MA10965 M 1300 13/16

M6×26×16

M12×1.25

×19

M10×1.25

W/C 1312-33-610 MA10966 M 1300 13/16

M6×26×16

M12×1.25

×19

M10×1.25

W/C 1312-33-710 MA10967 M 1300 13/16

M6×26×16

M12×1.25

×19

M10×1.25

W/C 0433-26-610A MA10968 818,R×7,929
(79-86)

3/4 M6×30×12 M10×1.25

W/C 0660-26-510D MA10969 M1600
(82-86)

13/16 M6×34×32 M10×1.25

W/C 0589-26-610E MA10970 M1600
(82-86)

13/16 M6×34×32 M10×1.25

W/C 0589-26-710E MA10971 M1600
(82-86)

13/1
6

M6×34×32 M10×1.25

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 146 -

MAZDABRAKEWHEELCYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

W/C
B216-26-610B
B216-26-610
B216-26-610A

MA10972 323 III
(86-95)

11/16

W/C S49K-26-610
S49K-26-610A MA10973 E-SERIE Box

(84-04) 7/8

W/C 66670099 MA10974 FAMILIA II
(80-89) 5/8

W/C

0813-26-610A
0813-26-610B
0813-26-610C
0813-26-610D

MA10975
1000,1300

323 I, 616,818
(77-80)

11/16

W/C MA10976 11/16

W/C 0662-33-410 MA10977 1200
(81-89) 13/16

W/C MA10978 15/16 M6×40×14 M10×1

W/C 66670105 MA10388 FAMILIA II
(80-89)

3/4

W/C

W/C

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 147 -

MAZDACLUTCH SLAVE CYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

C/S 0259-41-920 MA34351 NB1000,808
(74~)

11/16 M8×50 M10×1.25

C/S
W023-41-920
W023-41-920A
W023-41-920B

MA34352 T3000
(81-84)

11/16 Φ9×60 M10×1

C/S WA91-41-920 MA34353
T2500,T2600,
T3000,T3500

(84-91)
3/4 Φ9×60 M10×1

C/S W201-41-920A
W201-41-920B MA34354

T2600,T3000,
T3500
(90-98)

7/8 Φ9×60 M10×1

C/S GA2A-41-920
GA2A-41-920A MA34355 MX6,626

(92-98)
3/4 Φ9×30 M10×1

C/S
S093-41-920
S093-41-920A
OS093-41-920

MA34356

E1400,E2000,
E2200,B2200,

B2500
(84-97)

3/4 Φ9×52 M10×1

C/S BR74-41-920 MA34357 323
(94-98)

3/4 Φ9×52 M10×1

C/S GJ22-41-920
GJ22-41-920A MA34358 MX6,626

(88-96)
3/4 Φ9×30 M10×1

C/S B455-41-920
0K201-41-920A

MA34359
PROTEGE,
MX3,323
(90-98)

3/4 Φ9×52 M10×1

C/S MA34360 323
(87-95)

3/4 Φ9×52 M10×1

qp

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 148 -

MAZDACLUTCH SLAVE CYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

C/S
H115-41-920
S089-41-920
S089-41-920A

MA34361
E1400,E1800,

E2000,E2200,929
(84-97)

3/4 Φ9×52 M10×1

C/S UB39-41-920 MA34362 B-SERIE
(99~)

3/4 Φ9×52 M10×1

C/S
4084-41-920
G011-41-920
H702-41-920

MA34363 626
(79-82)

3/4 Φ9×52 M10×1

C/S UA01-41-920 MA34364 PICK UP
(82-84)

3/4 Φ9×52 M10×1.25

C/S UE38-41-920 MA34365
B-SERIE

BRAVO Pickup
(85-05)

3/4

C/S UR58-41-920A
UR58-41-920 MA34366

MAZDA

BT-50

(06- )

7/8

C/S

C/S

C/S

C/S

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 149 -

MAZDACLUTCH MASTER CYLINDERASSEMBLY
ITEM OEM Description DIA FSD SPS Picture

C/M S089-41-990
S089-41-400 MA26451

E1400,E1800,
E2000,E2200

(84-98)
5/8 2-Φ9×60 M10×1

C/M

BC6DE-41-990
BC6D-41-990A
BC6D-41-990B
BR70-41-990
BR70-41-990A

MA26452
PROTEGE,MX3,

323
(90-95)

5/8
M8×30

Φ8.7×30
M10×1

C/M
GA2A-41-990
GE4T-41-990B
GE4T-41-990C

MA26453 MX6,626
(92-98)

5/8
M8×30

Φ8.7×30
M10×1

C/M

8308-41-400
UB86-41-400A
UC93-41-400A
UB39-41-400
UB39-41-400A
UC93-41-400A

MA26455 B-SERIE
(99~)

5/8 2-M8×60 M10×1

C/M
W001-41-990A
W023-41-990A
W055-41-990

MA26456 T4100
(81-84)

5/8 2-Φ10×65 M10×1

C/M 702A-41-400
GJ37-41-400 MA26457 626,MX6

(88~)
5/8

M8×30

Φ8.7×30
M10×1

C/M B425-41-400 MA26458
PROTEGE,MX3,

323
(90-95)

5/8
M8×30

Φ8.7×30
M10×1

C/M 0866-41-400A MA26459 PICKUP 1200 5/8 2-M8×60
M10×1.

25

C/M MA26460 5/8 2-M8×60 M10×1

C/M

W201-41-400A
W201-41-400B
W201-41-400C
W229-41-400B

MA26461

T2600,T3000,
T3500,T4000,

T4600
(85-98)

5/8 2-M8×60 M10×1

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 150 -

MAZDACLUTCH MASTER CYLINDERASSEMBLY
ITEM OEM Description DIA FSD SPS Picture

C/M GM71-41-400 MA26462 5/8
M8×30

Φ8.7×30
M10×1

C/M 0822-41-400A MA26463 1300,1000
(75-77)

5/8 2-M8×60 M10×1

C/M 0813-41-400 MA26464 1600 5/8 2-M8×60 M10×1

C/M 0317-41-400 MA26465 B1600 PICK UP
(72-76)

5/8 2-M8×60 M10×1

C/M

UR56-41-990
UR56-41-400A
UR56-41-400B
UR56-41-400C

MA26466 ΒΤ50
(06-10)

5/8

C/M

3874-41-400
H001-41-400A
H001-41-400B
H001-41-400C

MA26467 929II
(84-87)

5/8

C/M CM-41-400 MA26468 5/8

C/M GJ83-41-990
GJ83-41-400 MA26469 626 III

(88-97)
5/8

C/M 8980-41-400A MA26470 RX 7
(78-86)

5/8

C/M S47P-41-400
S47P-41-400A MA26471 E-SERIE

(84-06)
5/8

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 151 -

MAZDACLUTCH MASTER CYLINDERASSEMBLY
ITEM OEM Description DIA FSD SPS Picture

C/M BL62-41-400 MA26472 323 III
(85-98)

5/8

C/M

C/M

C/M

C/M

C/M

C/M

C/M

C/M

C/M

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 152 -

MAZDABRAKE MASTER CYLINDERASSEMBLY
ITEM OEM Description DIA FSD SPS Picture

B/M

UB39-43-400A
UB39-43-400B
UB99-43-400A
UT86-43-400A

MA08401 PICK UP
(86-89)

7/8 2-Φ9×80 M10×1

B/M GA97-43-400
BW32-43-400 MA08402 MX6,626

(83-88)
7/8 2-Φ9×80 M10×1

B/M

GJ83-43-400
GJ83-43-400B
GJ83-43-400C
GK69-43-400
GK69-43-40Z

MA08403 626
(88-92)

7/8 2-Φ9×80 M10×1

B/M UT48-43-400A MA08404 PICK UP
(86-89)

7/8 2-Φ9×80 M10×1

B/M MA08405 E1400
(90-93)

7/8 2-Φ9×80 M10×1

B/M

B001-43-400
B001-43-400A
BA01-43-400
BA01-43-400A
BA01-43-400B

MA08407 323
(80-86)

13/16 2-Φ9×60 M10×1

B/M 8418-43-400A
3954-43-400A MA08408 323

(78-80)
13/16 2-Φ9×60 M10×1

B/M W201-43-400A MA08409

T2600,T3000,
T3500,T4000,

T4600
(90-98)

1-1/16
4-Φ9×65

×58
M10×1

B/M CB08-43-400 MA08410 MAV
(00- )

15/16 2-Φ9×80 M10×1

B/M UB85-43-400 MA08411 B2000,PICK UP
(86-96)

15/16 Φ9×80 M10×1

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 153 -

MAZDABRAKE MASTER CYLINDERASSEMBLY
ITEM OEM Description DIA FSD SPS Picture

B/M G030-43-400A MA08412 626 RH/D
(83-88)

7/8 Φ9×80 M10×1

B/M MA08413 1

B/M
ST20-43-400
SA44-43-400
ST30-43-400

MA08414
E-SERIE Box

(SR2)
(84-04)

7/8

B/M
BC2C-43-40Z
BC1C-43-40Z
BC1C-43-40ZA

MA08415
FAMILIAV
LASER
(94-98)

15/16

B/M 0677-43-400 MA08416 1

B/M BT1B-43-400 MA08417 FAMILIA III
(86-95)

7/8

B/M UM48-43-400 MA08418 BT50
FORD RANGER

1

B/M UH75-43-400 MA08419 1

B/M 3513-43-400 MA08420 1

B/M
BJ79-43-400
BJ79-43-400A
BJ79-43-40Z

MA08423 FAMILIA III
(85-95)

7/8

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 154 -

MAZDABRAKE MASTER CYLINDERASSEMBLY
ITEM OEM Description DIA FSD SPS Picture

B/M
BR70-43-400
BR70-43-400A
BR70-43-400B

MA08424 323 F/C/S IV
(87-00)

7/8

B/M

BPYS-43-40Z
BPYS-43-40ZA
6M512140BC
6M5122140BC

1547478
6M5122140BB

1469140

MA08425

MAZDA 3
SPORT

FORD FOCUS C
II KUGA I
(99- )

1

B/M W063-43-400 MA08426 T3500
(84- )

1-1/4

B/M UB83-43-400 MA08427 1

B/M UM83-43-400A
UM83-43-400 MA08428 B-SERIE

(98-06)
1

B/M

B/M

B/M

B/M

B/M

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 155 -

HONDABRAKEWHEELCYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

W/C 43300-634-003
43300-679-931 H11001 CIVIC

(77-80)
5/8 M6×31 M10×1

W/C 43300-671-601 H11002 ACCORD,ACTY
(79-86)

3/4 M6×31 M10×1

W/C 43300-SA0-003
43300-SA0-013 H11003 CIVIC 1400

(82~)
5/8 M6×31 M10×1

W/C 43301-SA0-003
43301-SA0-013 H11004 CIVIC 1400

(82~)
5/8 M6×31 M10×1

W/C
43300-SB2-003
43300-SA3-681
43300-SB2-000

H11005 CIVIC 1500,CRX
(84-89)

3/4 M6×31 M10×1

W/C

43301-SB2-003
43301-SA3-681
43301-SB2-000
43300-SH5-003
43300-SA5-003

H11006 CIVIC 1500,CRX
(84-89)

3/4 M6×31 M10×1

W/C

43300-SM4-A01
43300-SM4-001
43300-SH3-J01
43300-S04-003
43300-SR3-003
43300-S04-000

H11007
ACCORD,CIVIC

,CRX
(90~)

3/4 M6×31×16.5 M10×1

W/C

43301-SM4-A01
43301-SM4-001
43301-SH3-J01
43301-S04-003
43301-SR3-003

H11008
ACCORD,CIVIC

,CRX
(90~)

3/4 M6×31×16.5 M10×1

W/C 43300-SM5-A01
43300-S10-003 H11009 ACCORD

(90-97)
13/16 M6×31×16.5 M10×1

W/C 43301-SM5-A01
43301-S10-003 H11010 ACCORD

(90-97)
13/16 M6×31×16.5 M10×1

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 156 -

HONDABRAKEWHEELCYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

W/C 43300-659-003 H11011 CIVIC 1200
(76~)

9/16 M6×31 M10×1

W/C
43300-671-633
43300-671-632
43300-671-631

H11012
ACCORD,
PRELUDE
(85-87)

3/4 M6×31 M10×1

W/C 43300-JA2-013
43300-JAZ-013 H11013 11/16 M6×31×11.5 M10×1

W/C 43300-S5A-003 H11014 CIVIC
(01-05)

3/4 M6×31×17.5 M10×1

W/C 43301-S5A-003
43301-S5A-033 H11015 CIVIC

(01-05)
3/4 M6×31×17.5 M10×1

W/C 43300-SE0-003
43300-SE0-013 H11016 ACCORD

(87-89)
13/16 M6×31 M10×1

W/C 43301-SE1-003
43301-SE0-003 H11017 ACCORD

(87-89)
13/16 M6×31 M10×1

W/C
43300-SE1-003
43033-SE0-013
43033-SE1-000

H11018 ACCORD
(87-89)

13/16 M6×31×11.5 M10×1

W/C 43300-50X-003
43300-S0X-003 H11019 TRUCK

(99-01)
7/8

M6×31.8×15

.5
M10×1

W/C 43301-50X-003
43301-S0X-003 H11020 TRUCK

(99-01)
7/8

M6×31.8×15

.5
M10×1

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 157 -

HONDABRAKEWHEELCYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

W/C 43301-S7A-003 H11021 ACCORD
(03~)

13/16
M6×31×17.

5
M10×1

W/C 43300-S7A-003 H11022 ACCORD
(03~)

13/16
M6×31×17.

5
M10×1

W/C H11023 3/4

W/C 43300-634-670 H11024 ACTYTN0.6
(79-86)

11/16 M6×31 M10×1

W/C 43300-SB0-671 H11025
QUINTET

PRELUDE Mk II
(80-87)

11/16 M6×31 M10×1

W/C
43300-S7B-003
43300-S6A-003
43300-S6A-J51

H11026 CIVIC STREAM
(01~ )

(01- 3/4

W/C
43301-S7B-003
43301-S6A-003
43301-S6A-J51

H11027 CIVIC STREAM
(01~ )

3/4

W/C 43301-692-003 H11028

CIVIC PRELUDE
QUINTET
ROVER 200

(85-89)

11/16

W/C 43300-692-003 H11029

CIVIC PRELUDE
QUINTET
ROVER 200

(85-89)

11/16

W/C 43300-SNA-A01 H11030 CIVIC L4
(06-13)

3/4

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 158 -

HONDACLUTCH SLAVE CYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

C/S 46930-671-013 H34401
ACCORD,
PRELUDE
(79-83)

3/4 2-Φ9×48 M10×1

C/S 46930-SF1-003 H34402 PRELUDE
(87-92)

3/4 2-Φ9×35 M10×1

C/S
46930-SM4-003
46930-SM4-A03
46930-S04-003

H34403
ACCORD,
PRELUDE

(90~)
3/4 2-Φ9×35 M10×1

C/S

46930-SR3-013
46930-SR3-003

18030219
12527718
12527719

H34404 CIVIC,DEL SOL
(90~)

3/4 2-Φ9×32 M10×1

C/S 46930-S5A-013
46930-S5A-003 H34405

CIVIC VII
STREAM FR-V

(99- )
3/4

C/S 46930-SNA-A41 H34406 CIVIC VIII
(05- )

3/4

C/S

C/S

C/S

C/S

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



159

HONDACLUTCHMASTER CYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

C/M
46920-SM4-A03
46920-SM4-003
46920-SM4-A01

H26501
ACCORD,
PRELUDE

(88~)
5/8 2-M8×80 M12×1

C/M
46920-SR3-A01
46920-S04-A01
46920-SO4-A01

H26502 CIVIC,DEL SOL
(88-95)

5/8 2-M8×80 M10×1

C/M 46920-671-023
46920-671-003 H26503 ACCORD

(78-83)
5/8 2-M8×53 M10×1

C/M 46920-SL5-A01 H26504 ACURAVIGOR
(92-94)

5/8 2-M8×80 M12×1

C/M 46920-SM4-951 H26505 5/8 2-M8×80 M12×1

C/M H26506 5/8 2-M8×80 M12×1

C/M
46920-SR3-003
46920-SR3-000
46920-SR3-305

H26507

LEGEND
PRELUDE Mk III
CIVIC Mk IV

(86-95)

5/8

C/M

46920-SAA-J03
46920-SAA-J02
46920-S5A-J02
46920-S5A-J03
46920-S5A-J04

H26508 JAZZ
(02- )

5/8

C/M

46920-S5A-A01
46920-S5A-G01
46920-S5A-G02
46920-S5A-G03
46920-S5A-G04

H26509 CIVIC VI
(01-05)

5/8

C/M

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 160 -

HONDABRAKE MASTER CYLINDERASSEMBLY
ITEM OEM Description DIA FSD SPS Picture

B/M

46100-SM4-G51
46100-SM4-G52
46100-SM4-G53
46100-SM4-G54
46100-SS0-A51

H08451

ACCORD
W/ABS,

ODYSSEY
(90-97)

1 Φ9×100 M10×1

B/M

46100-SM4-A01
46100-SM4-A02
46100-SM4-A03
46100-SM4-A04
46100-SM4-A05

H08452
ACCORDW/O
ABS,PRELUDE

(90-97)
15/16 Φ9×100 M10×1

B/M

46100-SR3-003
46100-SR3-013
46100-SR3-033
46100-SR3-043
46100-SR3-305
46100-SH3-A01
46100-SH3-A02
46100-SH3-A03
46100-SH3-A04
46100-SH3-A05
46100-SH3-A06

H08453
CIVIC,CRX
W/OABS
(88~)

13/16 Φ9×100 M10×1

B/M

46100-671-751
46100-692-013
46100-692-003
46100-692-732
46100-692-872

H08454
PRELUDE,
QUINTET
(80-84)

13/16 Φ9×60 M10×1

B/M

46100-SE0-013
46100-SE0-901
46100-SD2-A01
46100-SE0-305
46100-SE0-903
46100-SE0-904
46100-SE0-G02
46100-SH3-931
46100-SH3-932
46100-SK7-J01
46100-SK7-J02
46100-SK7-J03

H08455 ACCORD
(87-89)

7/8 Φ9×100 M10×1

B/M
46100-SM4-013
46100-SM4-023
46100-SM4-003

H08456

PRELUDE Mk IV
ACCORDMk IV

INTEGRA
(89-98)

15/16

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 161 -

HONDABRAKE MASTER CYLINDERASSEMBLY
ITEM OEM Description DIA FSD SPS Picture

B/M

46100-SM4-954
46100-SM4-952
46100-SM4-951
46100-SM4-953

H08457

ACCORDMk IV
ODYSSEY

INTEGRACoupe
(89-04)

1

B/M
46100-SA5-013
46100-SA5-023
46100-SA5-601

H08458

CIVIC III
ACCORDMk II

CRX
(83-87)

13/16

B/M 46100-S5A-J41 H08459 CIVIC VII VIII
(01- )

7/8

B/M

46100-SAA-013
46100-SX8-T01
46100-SEL-T51
46100-SX8-T02

H08460 CIVIC Mk IV V
(94-01)

13/16

B/M 46100-SD5-000 H08461 15/16

B/M 46100-S04-A71 H08462 CIVIC
(99-00)

15/16 φ9×60 M10×1

B/M
46100-S84-A02
46100-S4K-A01
46100-S4K-A02

H08463
CF9/CG5

ACCORD2.3L
(98- )

15/16 2-Φ9×80 2-M10×1

B/M
46100-S5D-A51
46100-S5D-A01
46100-S6D-R01

H08464 CIVIC VII VIII
(01- )

7/8 2-Φ9×80 2-M10×1

B/M H08465 15/16 2-Φ9×80 2-M10×1

B/M 46100-S04-A01
46100-S04-A02 H08466 CIVIC DX,LX

(01-02)
13/16

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 162 -

HONDABRAKE MASTER CYLINDERASSEMBLY
ITEM OEM Description DIA FSD SPS Picture

B/M 46100-S04-A12
46100-S04-A11 H08467

CIVIC
(96-00)

7/8

B/M

46100-S84-A52
46100-SX0-A01
46100-SX0-A02
46100-SY8-A51
8-86206-317-0
18039820

H08468

ACCORD
ODYSSEY

ACURACLTL
ISUZU OASIS

(98-02)

1

B/M H08469 7/8

B/M

B/M

B/M

B/M

B/M

B/M

B/M

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 163 -

HINO BRAKEWHEELCYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

W/C 47510-1110 HI11051 KM
(78-83)

1-3/8
M10×1.25

×48×30
M12×1.25

W/C 47530-1110 HI11052 KM
(78-83)

1-3/8
M10×1.25

×48×30
M12×1.25

W/C 47550-1240
47530-1240 HI11053 KM

(78-83)
1-1/2

M10×1.25

×48×30

W/C 47510-1071 HI11054 KT 725
(93-96)

1-3/8

M8×1.25×(17

+17)×31.5+M

14×1.5×16×45

.5

W/C 47530-1071 HI11055 KT 725
(93-96)

1-3/8

M8×1.25×(17

+17)×31.5+M

14×1.5×16×45

.5

W/C 47550-1130 HI11056 KT 725
(93-96)

1-5/16
M10×1.25

×54×38
M12×1

W/C 47560-1010
47550-1010 HI11057 KT 725

(93-96)
1-5/16

M10×1.25

×54×38

M12×1

M12×1.5

W/C 47550-1900
47550-1150 HI11058 KT920,KR320

(85~)
1-1/2

M10×1.25

×54×38
M12×1

W/C
47560-1080
47550-1080
47560-1900

HI11059 KT920,KR320
(85~)

1-1/2
M10×1.25

×54×38

M12×1

M12×1.5

W/C 47510-1160 HI11060
MAE 10.1T,MGD

11.9T
(85~)

1-3/8

M10×1.25

×50×30

M14×1.5

×42×30

M10×1

qp

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 164 -

HINO BRAKEWHEELCYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

W/C 47530-1160 HI11061
MAE 10.1T,MGD

11.9T
(85~)

1-3/8

M10×1.25

×50×30

M14×1.5

×42×30

M10×1

W/C 47550-1380 HI11062 FM226
(76~)

1-3/8
M14×1.5×71×

37.5×28
M10×1

W/C 47560-1150 HI11063 FM226
(76~)

1-3/8
M14×1.5×71×

37.5×28
M10×1

W/C 47570-1020 HI11064 FM226
(76~)

1-3/8
M14×1.5×71×

37.5×28
M10×1

W/C 47580-1020 HI11065 FM226
(76~)

1-3/8
M14×1.5×71×

37.5×28
M10×1

W/C 47510-1101 HI11066 GD 9.8T,9.9T
(84~)

1-5/16

M8×20×21×2

6.5

M14×1.5×34.5

M10×1

W/C 47530-1101 HI11067 GD 9.8T,9.9T
(84~)

1-5/16

M8×20×21×2

6.5

M14×1.5×34.5

M10×1

W/C 47550-1180 HI11068 GD 9.8T,9.9T
(84~)

1-3/8 M8×50×32 M10×1

W/C 47560-1070 HI11069 GD 9.8T,9.9T
(84~)

1-3/8 M8×50×32
M12×1

M10×1

W/C 47550-1820 HI11070
MAE10.1T,MGD

11.9T
(85~)

1-1/2
M14×1.5×71×

37.5×28
M10×1

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 165 -

HINO BRAKEWHEELCYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

W/C 47560-1320 HI11071
MAE10.1T,MGD

11.9T
(85~)

1-1/2
M14×1.5×71×

37.5×28

M10×1

M12×1.5

W/C 47570-1250 HI11072
MAE10.1T,MGD

11.9T
(85~)

1-1/2
M14×1.5×71×

37.5×28
M10×1

W/C

W/C

W/C

W/C

W/C

W/C

W/C

W/C

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 166 -

HINO CLUTCH SLAVE CYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

C/S 31470-1101 HI34411 KM777
(91~)

1 Φ8.7×60 M12×1.5

C/S 31470-1180 HI34412 FB
(99-01)

7/8 Φ10.7×40 M12×1.5

C/S 31470-1042 HI34413
BX421

15T,LEG,LRK
(80~)

7/8 Φ10.7×40 M12×1.5

C/S 31470-1011 HI34414 KM,KL
(78-83)

3/4 Φ8.7×60 M12×1.5

C/S 31470-1160 HI34415 KT
(93-96)

7/8 Φ10.7×40 M12×1.5

C/S 31470-1142
31470-11420 HI34416 RK,FF,GD,FC

(85- )
7/8

C/S 31470-1170 HI34417
BX421

15T,LEG,LRK
(80- )

7/8

C/S

C/S

C/S

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 167 -

HINO CLUTCHMASTER CYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

C/M HI26511 13/16 Φ10.7×83.2 M12×1.5

C/M 31420-1512 HI26513
FC 8.8T,MFD

10.4T
(90~)

3/4 Φ12.5×67.5 M14×1.25

C/M 31420-1501 HI26514 FF,FD,FG 3/4 Φ12.5×67.5 M12×1

C/M 31420-1410 HI26515 SH,RK,FF,GD
(84~)

3/4 Φ12.7×80 M14×1.5

C/M 31420-1171 HI26516 BX420 15T
(80~)

5/8 Φ10.7×70 M12×1.5

C/M

31420-1820
31420-1810
31420-E0020
31420-E0010

HI26517
FD1J, FG1J,

GH1J
(03- )

3/4

C/M 31420-1720
31420-1670 HI26518 RANGER J08C 3/4

C/M 46801-Z4004 HI26519 3/4

C/M 31420-E0020
31420-E0010 HI26520 3/4 M12×1.25×60 M10×1.25

C/M 31420-E0040 HI26521 SH,FR 700
(04- )

1

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 168 -

HINO CLUTCHMASTER CYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

C/M 47000-1030
31410-1030 HI26522 1

C/M HI26523 3/4

C/M

C/M

C/M

C/M

C/M

C/M

C/M

C/M

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 169 -

HINO BRAKE MASTER CYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

B/M 47207-37020
47207-37520 HI08501 SOURVS

DYNA 300 400
1-1/16 Φ9×75×45 M10×1

B/M 47200-1100 HI08502 1-3/4

B/M 47207-37070 HI08504 RINO SAURUS 1-3/16

B/M

B/M

B/M

B/M

B/M

B/M

B/M

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 170 -

KIA BRAKEWHEELCYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

W/C KK150-26-610
OK788-51-060 K11101 PRIDE

(99~)
5/8 M6×32×6 M10×1

W/C OK670-33-610 K11102 CERES 2.2 1-1/16

M6×28×18

M12×1.5

×28

M10×1.

25

W/C OK670-33-710 K11103 CERES 2.2 1-1/16

M6×28×18

M12×1.5

×28

M10×1.

25

W/C 12T0211 K11104 3/4
M6×26

×18.5
M10×1

W/C 13T0205 K11105 11/16 M6×32×12 M10×1

W/C

43300-ST3-E01
58380-2D000
58380-25000
SML000020
58380-38010

K11106

OPTIMACIVIC Mk IV V

ROVER400 200 25 45 COUPE

EXCEL II ELANTRA

LAVITAACCENT

(01- )

3/4

W/C

43301-ST3-E01
58330-2D000
58330-25000
SML000030
58330-38010

K11107

OPTIMACIVIC Mk IV V

ROVER400 200 25 45 COUPE

EXCEL II ELANTRA

LAVITAACCENT

(01- )

3/4

W/C OK72B-26-610A K10918 KAON K2500
3.5T

3/4 M6×46×6 M10×1

W/C OK72B-26-710A K10919 KAON K2500
3.5T

3/4 M6×46×6 M10×1

W/C CA010-05-610
58330-07000

K11112

PICANTO
OPELVECTRAA

Hatchback
(04- )

5/8 M6×32×10 M10×1

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 171 -

KIA BRAKEWHEELAssembly
ITEM OEM Description DIA FSD SPS Picture

W/C OK045-26-610 K11113 SPORTAGE
(99- )

13/16 2-M6×46×4 M10×1

W/C 58320-4E000 K11114 K2500
(03- )

13/16

W/C 58380-4E000 K11115 K2500
(03- )

13/16

C/M KM-8204 K26551 5/8 2-Φ9×60
M10×1.

25

C/M

B/M OK31G-43-400Z K08521 7/8 2-Φ9×80
2-M10×

1

B/M OK72B-43-400
0K72B-43-400B K08421

BESTABox
(TB)
(97- )

1

B/M
OK2A3-49-400
OK2A3-43-400
0K2A2-49-680

K08422 SEPHIA
(96-01)

15/16

B/M 58510-07000 K08522 PICANTO
(04- )

13/16

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 172 -

HYUNDAI BRAKEWHEELCYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

W/C
58330-02000
58330-25200
58330-2F100

HY11151
ACCENT,ATOS,

GETE
(03~)

7/10 M6×32×15.5 M10×1

W/C 58380-02000
58380-25200 HY11152

ACCENT,ATOS,
GETE
(03~)

7/10 M6×32×15.5 M10×1

W/C 58330-22000
58330-28001 HY11153 ACCENT 1.5

(96-97)
3/4 M6×32×15.5 M10×1

W/C 58380-22000
58380-28001 HY11154 ACCENT 1.5

(96-97)
3/4 M6×32×15.5 M10×1

W/C
58330-24003
58330-24002
58330-33000

HY11155
PONY,EXCEL,

S COUPE
(92-96)

13/16 M6×32×15.5 M10×1

W/C
58380-24003
58380-24002
58380-33000

HY11156
PONY,EXCEL,

S COUPE
(92-96)

13/16 M6×32×15.5 M10×1

W/C 58320-44220 HY11157 H100
(94-00)

3/4 M6×32×15.5 M10×1

W/C 58420-44220 HY11158 H100
(94-00)

3/4 M6×32×15.5 M10×1

W/C 58320-44020 HY11159 H100
(94-00)

7/8 M6×32×15.5 M10×1

W/C 58420-44020 HY11160 H100
(94-00)

7/8 M6×32×15.5 M10×1

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 173 -

HYUNDAI BRAKEWHEELCYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

W/C 58380-21010 HY11161 SONATA
(88-93)

13/16

W/C 58330-21010 HY11162 SONATA
(88-93)

13/16

W/C 58330-05500 HY11163 ATOS
(07- )

5/8

W/C 58320-44010 HY11164
H 150 PORTER
H100 GRACE

(93- )
3/4

W/C 58320-44010 HY11174
H 150 PORTER
H100 GRACE

(93- )
3/4

W/C 58420-44210 HY11165
H 150 200
GRACE
(93- )

13/16

W/C 58420-44211
58320-44210 HY11166

H 150 200
GRACE
(93- )

13/16

W/C 58330-H1030
58320-4B820 HY11167

ACCENT, MATRIX

ELANTRA,

TERRACAN

(04- )

7/8

W/C 58380-H1030
58420-4B820 HY11168

ACCENT, MATRIX

ELANTRA,

TERRACAN

(04- )

7/8

W/C 58320-4F000 HY11169 KMY
(05- )

11/16

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 174 -

HYUNDAI BRAKEWHEELCYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

W/C 58420-4F000 HY11170 KMY
(05- )

11/16

W/C 58330-1G000AL HY11171

ACCENT
KIA RIO I, II

MAZDA 323 626
(05- )

11/16

W/C 58330-FD200 HY11172

ACCENT Ⅲ

KIARIO SHUMA

MAZDAFAMILY Ⅳ

(05- )

11/16 2-M6×32×12 M10×1

W/C MD-42149 HY11173 LORIMASAU26 3/4 M10×1

W/C 58320-47000 HY11108

STAREX LIBERO
KMYC.KABIN

BONGO
(02- )

3/4

W/C 58420-47000 HY11109

STAREX LIBERO
KMYC.KABIN

BONGO
(02- )

3/4

W/C 58420-4B001
58420-44500 HY11110 H 150 KMY

(93- )
11/16

W/C 58320-4B001
58320-44500 HY11111 H 150 KMY

(93- )
11/16

W/C 58380-05500
58380-05000 HY11175 ATOS I10

(99- )
5/8

W/C 58420-4F100 HY11176 H100
(04-08)

11/16

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 175 -

HYUNDAI BRAKEWHEELCYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

W/C HY11177 3/4

W/C HY11178 3/4

W/C HY11179 3/4

W/C

W/C

W/C

W/C

W/C

W/C

W/C

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 176 -

HYUNDAI CLUTCH SLAVE CYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

C/S

24511-43010
41700-43010
41700-44010
41700-43001

HY34431 H100 GAS
(94-00)

3/4
2-Φ10.7×30

×31
M10×1

C/S HY34432 3/4
2-M10×1.25

×60×23
M10×1

C/S

41710-28000
41730-28000
41710-39001
41710-39020

HY34433

ELANTRA II COUPE SONATA

Mk III GRANDEUR HIGHWAY

SANTAFé I LAVITATIBURON

TUCSON ix35

(95- )

13/16 2-Φ8.7×46.5 M10×1

C/S 41700-5H100 HY34434 MIGTHYHD72
(95~)

7/8
2-M10×1.25

×68
M10×1

C/S 41710-22650
ME-602994 HY34435 ACCENT

(02- )
13/16 M8×50×9.5 M10×1

C/S 41710-22600 HY34436

EXCEL I
PONY ACCENT

CLICK
(00- )

13/16

C/S

41710-24060
41710-24050
41710-33070
MD-722656

HY34437
ELANTRA I
S COUPE
(90-96)

13/16

C/S HY34438 3/4

C/S HY34439 13/16

C/S HY34440 3/4

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 177 -

HYUNDAI CLUTCH SLAVE CYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

C/S 41700-4A600 HY34441 H 200
(03- )

13/16

C/S 41710-23000 HY34442

ACCENT
KIA CEE’D

RIO II
(07- )

13/16

C/S 41700-43150 HY34443 H1 H100
(97- )

13/16
2-Φ10.7×30

×31
M10×1

C/S 41710-02000 HY34444 I20
(08- )

13/16

C/S

C/S

C/S

C/S

C/S

C/S

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 178 -

HYUNDAI CLUTCH SLAVE CYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

C/M HY26561 5/8 2-Φ9×65 M10×1

C/M HY26562 5/8 2-Φ9×65 M10×1

C/M 41600-4B001
41600-43020 HY26563 H100

(94-00)
5/8 2-Φ9×91 M10×1

C/M

41610-24055
41610-24050
41610-28050
MR197825

HY26564

ELANTRA I
EXCEL
S COUPE
(90-96)

5/8

C/M 23810-65D00
23820-65F00 HY26565 VITARA

(03- )
5/8

C/M 41600-4B000 HY26566 H100 Pickup
(96-01)

5/8

C/M 41610-1G800
41600-4H100 HY26567

ACCENT
KIARIO II
(05- )

5/8

C/M 41600-4F000 HY26568 H100 PORTERII 5/8

C/M 41610-22050 HY26569 ACCENT
(02- )

5/8

C/M 41610-2D500 HY26570
HYUNDAI
TIBURON
(01- )

5/8
φ8.7×37

φ8.7×28
M10×1

C/M

41610-25013
41610-25010
41610-25012
41610-22060

HY26571
ACCENT ⅠⅡ

STUFENHECK
(00- )

5/8
φ9×37

φ9×28
M10×1

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 179 -

HYUNDAI CLUTCH SLAVE CYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

C/M HY26572 5/8
φ9×37

φ9×28
M10×1

C/M 41610-25020 HY26573 ACCENT II
(99- )

5/8

C/M

C/M

C/M

C/M

C/M

C/M

C/M

C/M

C/M

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 180 -

HYUNDAI BRAKE MASTER CYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

B/M
58510-02010
58510-02000
58510-02300

HY08531 ATOS PRIME
(01-02)

13/16 2-Φ9×102 M10×1

B/M 58510-17300 HY08532
MATRIX

1.6I,1.8I,1.5CRDI
(01-03)

15/16 2-Φ9×80 M10×1

B/M 58510-43000
59110-44510 HY08533 H100 Pickup

(96-01)
1

B/M 58510-2D500 HY08534 15/16

B/M HY08535 7/8

B/M 59110-43010 HY08536 H 150
(93- )

15/16

B/M 58510-0X010 HY08537 I10
(07- )

13/16

B/M

B/M

B/M

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 181 -

DAEWOO BRAKEWHEELCYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

W/C

90235420
550135
550140
550143
90009592
90374075
90443259
0550009
24407364

DW11201

LANOS,NEXIA,

ASCONA,ASTRA,COR

SA,KADETT,

VECTRA

(98~)

11/16 M6×12×17.5 M10×1

W/C

90235422
90443261
550133
550141
550144
550153
90009594
90374076
90498300
93284550

DW11202

ESPERO,LANOS,

NEXIA,ASCONA,

ASTRA,CORSA,

KADETT,TIGRA,

VECTRA,

CAVALIER

(03~)

3/4 M6×12×17.5 M10×1

W/C 96518606
96320670 DW11203

MATIZ

(88~)
11/16 M6×13×18.5 M10×1

W/C

0550129
0550114
550009
550120

DW11204

CORSAKADETT
ASCONAASTRA
CAVALIER NOVA

(79-91)

11/16
M6×24

×17.5
M10×1

W/C 0550144 DW11205
VECTRAKADETT
ASCONAASTRA

(98-09)
3/4

2-M6×24×17.

5
M10×1

W/C 90443261-AL DW11206

ESPERO,LANOS,NEXIAAS

CONA,ASTRA,CORS,KAD

ETT,TIGRA, CAVALIER

(03~)

3/4 M10×1

W/C 96179002 DW11207 11/16

W/C 550134 DW11208
CORSAKADETT

(82-93)
9/16

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 182 -

DAEWOO BRAKEWHEELCYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

W/C DW11209 11/16

W/C DW11210 3/4

W/C

W/C

W/C

C/M

96481284
96481285
96249472
96229375
96249473
96184062

DW26601
LANOS LEGANZA

(97- )
5/8

C/M DW26602 5/8

C/M

C/M

C/M

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 183 -

DAEWOO BRAKE MASTER CYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

B/M 93492467
3492467

DW08551
ESPERO,NEXIA

(97-99)
13/16 2-Φ9×70

M12×1

M10×1

B/M 558004
3492538

DW08552
CORSA,NOVA,

NOVAN

(91-94)

13/16 2-Φ9×70
M12×1

M10×1

B/M
558102
558168
3492539

DW08553

OPELASTRA F(56,57)

1.4 09.91-09.93

COMBO (71-)1.2

07.94-10.01

13/16 2-Φ9×70
M12×1

M10×1

B/M

426296
426319
426321
426322
427168

DW08554
NUBIRA
(97- )

7/8

B/M DW08555 13/16

B/M 558100 DW08556
OPEL

KADETT E
(90-93)

13/16

B/M 96316463
96566719

DW08557
MATIZ (KLYA)

(98- )
13/16

B/M 93742808
93742291

DW08558 7/8

B/M 558099 OP08711

OPELKADETT E

VECTRAACALIBRA

AASTRA F

(84-05)

7/8

B/M 558058
90297376 OP08735

OPELASTRA
KADETT
VECTRA
(98- )

7/8 Φ9×90 M12×1

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 184 -

VOLKSWAGEN BRAKEWHEELCYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

W/C

171-611-053
171-611-053A
171-611-051
171-611-051A
171-611-051B
1H0-611-053B

VW11251

AUDI:50 1.1

GOLF:1.6TD

MANUAL JETTA

1.8 E×C.SYNCRO

MANUAL

05.72-09.94

9/16 M6×21×14.5 M10×1

W/C

861-611-053A
1H0-611-053A
861-611-051A
1H1-611-053A

VW11252

WV SANTANA 1.3

VW GOLF 111 1.4

PASSAT 1.3 1.6 1.8

POLO 1.0 75/98

5/8 M6×21×14.5 M10×1

W/C

191-611-053
309-611-051
331-611-051A
331-611-058A
331-698-051A
321-611-053A
331-611-053
309-611-053
6N0-611-053

VW11253

WV SANTANA(32B)

1.3 VW GOLF 11 1.6

1.8 1.9 111 (1H1) 1.4

PASSAT(32B) 1.3 1.6

1.8 2.0 POLO 1.0 1.1

VENTO (1H2) 1.4

SEAT CORDOBA

1.4 1.6 1.9 VARIO

10.75-12.98

11/16 M6×21×14.5 M10×1

W/C

861-611-053
1H0-611-053
V03-795-053
6U0-611-053B
115-595-032

VW11254

WV SANTANA(32B)

1.3 VW GOLF 11 1.6

1.8 1.9 111 (1H1) 1.4

PASSAT(32B) 1.3 1.6

1.8 2.0 POLO 1.0 1.1

08.74-04.03

3/4 M6×21×14.5 M10×1

W/C

3A0-611-053
357-611-053B
357-611-053
6U0-611-053
351-611-053B

VW11255

AUDI 100 2.0 80

1.6E SEAT INCA

1.4I SKODA 1.6

VW PASSAT 1.6

13/16 M6×21×14.5 M10×1

W/C

6N0-611-053
171-698-051A
331-698-053
331-698-261A

VW11256

WV SANTANA(32B)

1.3 VW GOLF 11 1.6

1.8 1.9 111 (1H1) 1.4

10.75-12.98

11/16
M6×10.5×14.

5
M10×1

W/C 1H0-611-053 AL VW11257

WV SANTANA(32B)

1.3 VW GOLF 11 1.6

1.8 2.0 POLO 1.0 1.1

08.74-04.03

3/4
M6×10.5×14.

5
M10×1

W/C
3A0-611-053
357-611-053B
357-611-053

VW11258

AUDI 100 2.0 80

1.6E SEAT INCA

1.4I SKODA 1.6

VW PASSAT 1 6

13/16
M6×10.5×14.

5
M10×1

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 185 -

VOLKSWAGEN BRAKEWHEELCYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

W/C
113-611-053A
113-611-053B
113-611-053

VW11259

VW 181 1.6

WVKAEFER 1300

1.3 1500 1.5

08.65-03.81

11/16 M8-6H×24 M10×1

W/C
131-611-055
131-611-055A
113-611-055C

VW11260
WVKAEFER 1.2

(45002) 1200 1300

01.54-07.79

3/4 M8-6H×24 M10×1

W/C 721-611-047 VW11261

TRANSPORTER

CARAVELLE IV

Mk IV

(90-03)

13/16 M8-6H×26 M10×1

W/C

113-611-057A
113-611-057B
131-611-057
113-611-057

VW11262

VW 181 1.5 1.6

WV KAEFER 1.2

1200 1300

01.60-12.85

7/8 M8-6H×24 M10×1

W/C
211-611-047D
211-611-047E
211-611-047F

VW11263
TRANSPORTER:

1.6D 1.7D 1.9 2.0 2.1

08.70-07.92

15/16 M8-6H×26 M10×1

W/C 37986 VW11264

CHRYSLER GRAND

VOYAGER

(97-00)

HONDAACCORD

3/4

W/C 116-595-030 VW11265

CADDY II
SKODA
FAVORIT
(97- )

7/8

W/C 6U0-611-053A VW11266

CADDY II
SKODA
FELICIA
(97- )

7/8

W/C 291-611-047
281-611-047 VW11267

LT 28-35 I, 40-55 I

(94-96)
1

W/C 1H0-611-053AL VW11268

WV SANTANA 1.3

VWGOLF 111 1.4

PASSAT 1.3 1.6 1.8

POLO 1.0 75/98

5/8

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 186 -

VOLKSWAGEN BRAKEWHEELCYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

W/C 701-611-047 VW11269
TRANSPORTER IV

(98-03)
3/4

W/C 37986
14026 VW11270 3/4

W/C VW11271 5/8

W/C 6RU-611-053A VW11272
POLO

(2011- )
3/4

W/C 2H0-611-053 VW11273
AMAROK

(10- )
1-1/16

W/C

W/C

W/C

W/C

W/C

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 187 -

VOLKSWAGEN CLUTCH SLAVE CYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

C/S 357-721-261A
357-721-261 VW34601

CADDY II, CORRADO,

GOLF II, III, IV, PASSAT,

POLO, TRANSPORTER

IV, VENTO (98-02)

15/16

C/S 8D0-721-257 VW34602
AUDI A4

PASSAT

(00-06)

7/8

C/S 251-721-263
251-721-263A VW34603

TRANSPORTER III

(82-92)
1

C/S 357-721-261A
AL VW34604

CADDY II, CORRADO,

GOLF II, III, IV, PASSAT,

POLO, TRANSPORTER

IV, VENTO (98-02)

7/8 φ9x65 M12x1

C/S 4A0-721-261
893-721-261A VW34605

AUDI 80 100 200 V8

QUATTRO COUPE 90 A6

CABRIOLET

PORSCHEBOXSTER

(96- )

7/8 M12x1

C/S
857-721-261
431-721-261
443-721-261

VW34526
AUDI 100(43.C2)

2.1D

10.78-07.82

7/8 M12×1

C/S 2SK-721-261
85HU7A508B VW34527 7/8

C/S

C/S

C/S

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 188 -

VOLKSWAGEN CLUTCH MASTER CYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

C/M 357-721-401 VW27100
PASSATGOLF

CORRADO

(90-97)

3/4 Φ7×56 M12×1

C/M

4A0-721-401
893-721-401A
431-721-401
443-721-401A

VW27101
AUDI 100, 200, A6

V8

(94-97)

3/4

C/M 893-721-401B
893-721-401D VW27102

AUDI 100,90,

CABRIOLET

COUPE

(97-00)

3/4

C/M 431-721-401A VW27103
AUDI 100, 200, A6

V8

(94-97)

3/4 φ9x50 M12x1

C/M 4A1-721-401 VW27104
AUDI 100, A6

V8

(94-97)

3/4 φ9x50 M12x1

C/M 251-721-401A
251-721-401F VW26657

TRANSPORTER

111 BUS 1.6

05.79-12.82

3/4
2-M8-6H

×35
M10×1

C/M

C/M

C/M

C/M

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 189 -

VOLKSWAGEN BRAKE MASTER CYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

B/M
6U0-611-019
1H1-611-019B
192-611-019B

VW08581
VWCADDY 11 PICK UP

KODAFRLICIA 1 (6UI)

(91-98)

7/8 2-Φ9×60 M10×1

B/M

113-611-015BP
113-611-015BG
113-611-015BN
113-611-015R
113-611-017F
113-611-017G
113-611-017H
113-611-017L

VW08582

VWKAEFER

1.2(42005) 1200 1300

VW KAEFER R 1302

01.54-12.85

3/4
2-M8-6H

×60
M10×1

B/M 1J1-614-019
1GD-114-019 VW08583

VW BORA(1J2) 1.4

VW GOIF IV(1J1) 1.4

(97-05)

15/16 2-Φ9×60 M12×1

B/M 6Q0-611-019E
6Q0-611-019Q VW08584

BOMBADE-FRENO

WV POLOWV LUPO
13/16 2-Φ9×60 M12×1

B/M

113-611-021C
113-611-021F
113-611-021G
113-611-023B

VW08585

BEETLE:ALL

MODELS I 302 67-76

ALLMODELS 1500

70-75

11/16 2-Φ9×60 M10×1

B/M

191-611-019
192-611-019
191-611-019Z
7700787630
7700804900
7701204918

VW08586

GOLF:A-2 CL,GL

87-92 JELLT:A-2

87-93 Y 97-98

RENAULT:1.2F 81/99

13/16 2-Φ9×60 M10×1

B/M

357-611-019
1H1-611-019
1H1-611-019A
1H0-611-019C
1H1-611-019C

VW08587

SETA:I BIZA 1.0i 1.3i

GOLF:1.5D1.8CTI/

GTI PASSAT:1.6 1.8D

07.64-12.85

13/16 2-Φ9×60 M10×1

B/M

113-611-017B
113-611-015AH
113-611-015BD
113-611-017
113-611-017A
113-611-017C
113-611-017D
113-611-017E
113-611-017J
113-611-021BD

VW08588

VW 181 1.5 1.6

VW KAEFER 1200

1.2 1.3 CABRIOLET

1500 1.5 1.6

07.64-12.85

11/16
2-M8-6H

×60
M10×1

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 190 -

VOLKSWAGEN BRAKE MASTER CYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

B/M

171-611-019D
171-611-019A
171-611-019C
171-611-019E
171-611-019H

VW08589

AUDI 50 GOLF 1

JETTA1 1.1 1.3 1.5

DASSAT (32) 1.3

POLO (86) 1.1

SANTANA (32B) 1.3

05.72-08.94

13/16 2-Φ9×60 M10×1

B/M

211-611-021AJ
211-611-021AK
211-611-021AE
211-611-021AF
211-611-021AG
211-611-021C

VW08590

TRANSPORT II

BUS 1.6 1.7 1.8 2.0

KASTEN 1.6 1.7 1.9

2.0 08.70-04.79

13/16 2-Φ9×60 M10×1

B/M

251-611-021C
251-611-021B
215-611-021D
251-611-021E

VW08591

TRANSPORT III

BUS 1.6 1.9 2.0 2.1

KASTEN 1.6 1.7 1.9

2.0 2.1 01.81-07.92

15/16 2-Φ9×60 M10×1

B/M 4A0-611-021D
4A0-611-021A VW08592 15/16

B/M 893-611-019C VW08593 7/8

B/M 377-611-019 VW08594 13/16

B/M 890086 VW08595 7/8

B/M

322-611-019A
853-611-019A
893-611-019
893-611-019A
893-611-019E
893-611-021B

VW08596

AUDI 100, 80, 90

CABRIOLET,

COUPE, PASSAT

(87-91)

7/8

B/M 443-611-021 VW08597
AUDI 100, 200

QUATTRO

(83-90)

15/16

B/M 91510553 VW08598 13/16

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 191 -

VOLKSWAGEN BRAKE MASTER CYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

B/M 5U1-612-105A VW08599
GOLF

(09- )
13/16

B/M 6R1-611-019A
6R1-611-019 VW08600

POLOAUDI A1

SEAT IBIZAV TOLEDO IV

SKODAROOMSTER FABIA

(06- )

7/8

B/M 006041
377-611-015B VW08351 POINTER P-UPTDS 7/8

B/M 1K1614019M VW08352
JETTA III VI

GOLFVI BEETLE

(04- )

7/8

B/M

377-611-015A
325-611-0156
331-611-0151
331-611-0153
331-611-0154

VW08353
POINTER

(98-09)
13/16

B/M

1K1-614-019T
1K1-614-019M
1K1-614-019G
1K1-614-019C

VW08354

JETTA III IV

GOLFVVI

BEETLE CC

(05- )

7/8

B/M

B/M

B/M

B/M

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 192 -

SKODABRAKEWHEELCYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

W/C 109-595-030 SK11585 3/4 M6×28×20 M10×1

W/C 109-595-040 SK11586 1 M6×48×28 M10×1

W/C

113-595-030
115-595-030
110-595-031
110-595-032

SK11587
SKODA 105.120(742)

1.0 105 S,L

08.76-12.90

3/4 M6×34×12 M10×1

W/C 361-595-030 SK11588 1-3/4 M8×48×30 M12×1

W/C 361-595-040 SK11589 1-1/2 M8×48×30 M12×1

W/C 366-595-030 SK11590 1-1/2 M8×48×30 M12×1

W/C 362-595-030 SK11591 1-1/8

W/C 362-595-040 SK11592 1-1/4

W/C 67112603 SK11593 1-1/4
M8×38

×15.8
M12×1

W/C 67112604 SK11594 1-1/4
M8×38

×15.8
M12×1

qp

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 193 -

SKODACLUTCH SLAVE CYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

C/S 109-195-010 SK34511 7/8 M10×1

C/S 109-195-012 SK34512 7/8 M10×1

C/S 113-195-010 SK34513
SKODA 105,120(742)

1.0 105 S,L

08.76-12.96

7/8
4-Φ6.5×44

×46
M10×1.5

C/S 531983227911 SK34514 7/8
2-Φ10.7

×68
M10×1

C/S 531983227912 SK34515 7/8
2-Φ10.7

×68
M10×1

C/S 83296019 SK34516 7/8
3-Φ9×51

×27
M10×1

C/S 366-195-020 SK34519 1-1/4 M12×1.5

C/S 162-56908 SK34529 1

C/S

C/S

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 194 -

SKODACLUTCH MASTER CYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

C/M 366-195-000 SK26658 7/8 2-Φ9×60
M14×1.

5

C/M 363-595-012 SK26659 1-1/8 2-Φ11×70 M12×1

C/M
361-595-014
366-595-011
366-595-014

SK26663 1-1/4 2-Φ11×70 M12×1

C/M 311-195-010 SK26679 7/8 2-Φ9×60 M12×1

C/M 6911-27-17 SK26680 3/4 2-Φ9×54.5 M10×1

C/M 113-195-000 SK26681 3/4 2-Φ9×54 M10×1

C/M 97-5032 SK26693 3/4
2-Φ8.7

×54
M12×1

C/M 311-195-010V SK26698 7/8

C/M 316-592-011 SK26699 7/8

C/M 532-55907 SK26700 3/4

C/M 443611004002 SK26702 7/8

qp

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 195 -

SKODABRAKE MASTER CYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

B/M 361-595-011 SK08678 1-1/2
3-Φ11

×Φ82
M12×1

B/M 115-595-015 SK08679
SKODA 1.3,135L

(05.89-09.94)
7/8 2-Φ11×70

M10×1

M16×1.

5

B/M
114-595-012
114-592-012
443611020008

SK08680
SKODA 105,120

(08.76-12.90)
3/4 2-Φ9×60 M10×1

B/M 109-095-012 SK08681 7/8

B/M 111-095-011 SK08682 3/4

B/M

B/M

B/M

B/M

B/M

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 196 -

PEUGEOT BRAKEWHEELCYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

W/C 18019 P11301
PEUGE 504 PICK UP

505 BREAK(551D)2.0

01.80-06.87

7/8 M6×32×19 M10×1

W/C
4402-93
4402-65
95659673

P11302
PEUGE 205 I

(741 A/C) 1.0

02.83-10.87

3/4 M6×31×18 M12×1

W/C
4402-94
4402-66
95659674

P11303
PEUGE 205 I

(741 A/C) 1.0

02.83-10.87

3/4 M6×31×18 M12×1

W/C 4402-74 P11304
PEUGE 205 I

(741 A/C) 1.0

02.83-10.87

3/4
M6×32

×20.5
M12×1

W/C 4402-73 P11305
PEUGE 205 I

(741 A/C) 1.0

02.83-10.87

3/4
M6×32

×20.5
M12×1

W/C 4402-82 P11306
PEUGE 207 1.4

405 I(15B) 1.4

01.87-07.92

13/16 M6×36×21 M12×1

W/C 4402-83 P11307
PEUGE 207 1.4

405 I(15B) 1.4

01.87-07.92

13/16 M6×36×21 M12×1

W/C

4402-97
95668067
7701033707
7701035471
7701039392
7701036385

P11308

PEUGE 206

SCHRAQHEEK (2A/C)

1.1 i 09.98~

306(7B,N3,N5)1.4 SL

13/16 M6×36×18 M12×1

W/C

4402-98
95668068
7701035472
7701033706
7701039393
7701036386

P11309

PEUGE 206

SCHRAQHEEK (2A/C)

1.1 i 09.98~

306(7B,N3,N5)1.4 SL

13/16 M6×36×18 M12×1

W/C

4402-52
95606669
7700650845
7701365519

P11310
CITRO C15(VD-) 1.0

10.84-12.97
7/8 M6×36×19 M10×1

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 197 -

PEUGEOT BRAKEWHEELCYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

W/C 4402-56 P11311

PEUGE:505 2.3D

2.5D 2.8 V6

TALBOT;TAGO

RA:2.2 I 2.3D

13/16 M6×36×21 M10×1

W/C

4402-79
7701035475
7701027199
7701031504
7701349123
7701365465
7701026368

P11314
PEUGE 309 I

(10C,10A) 1.6

01.86-07.89

7/8 M6×25×20 M10×1

W/C

4402-80
7701035476
7701365466
7701026367
7701027198
7701031505
7701349122

P11315
PEUGE 309 I

(10C,10A) 1.6

01.86-07.89

7/8 M6×25×20 M10×1

W/C

4402-48
7701024266
7701365406
7901440248

P11316

PEUGE 309

I (10C,10A) 1.6

PEUGE 505

2.0 11.85-09.88

7/8
M6×31.5

×19
M10×1

W/C

4402-47
7701024265
7701365405
7901440247

P11317

PEUGE 309

I (10C,10A) 1.6

PEUGE 505

2.0 11.85-09.88

7/8
M6×31.5

×19
M10×1

W/C 4402-55 P11318
PEUGE J7 BUS 1.8

PEUGE J9 BUS 2.5D

07.70-03.80

1-1/8 M6×36×19
3/8-24U

NF

W/C 4402-C7 P11319 306
(00- ) 7/8 M6×36×21 M10×1

W/C 4402-62 P11320 305
(97-01) 13/16

M6×36.5×1

6
M10×1

W/C 4402-A5
9945895 P11321

BOXER FIAT

DUCATO RELAY

(94-02)

1-1/8

W/C 95608853
4402-90 P11322 AX SAXO

(86-04)
3/4

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 198 -

PEUGEOT BRAKEWHEELCYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

W/C 95608854
4402-91 P11323 AX SAXO

(86-04)
3/4

W/C 4402-C4
4402-A9 P11324 406

(97-04)
13/16

W/C 4402-C5
4402-C0 P11325 406

(97-04)
13/16

W/C 4402-C1 P11326 406
(97-04)

13/16

W/C 4402-C2 P11327 406
(97-04)

13/16

W/C 4402-59
7701035477 P11328

PEUGE 505

MAZDAMX-5 I

RENAU ESPACE II

RAPID SAFRANE I

(96-02)

7/8

W/C 4402-A3
9945891 P11329

PEUGE BOXER
CITRO JUMPER
FIAT DUCATO

(02- )

1-1/16

W/C P11330 13/16

W/C 4402-A2 P11331 306
(93-02) 13/16

W/C 4402-F0
47550-09040 P11332

107
CITRON C1

TOYOTAAYGO
(05- )

11/16

m

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 199 -

PEUGEOT BRAKEWHEELCYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

W/C
4402-C8
4402-E3
4402-E5

P11333
306 206 106 1007

CITRON C2 C3 SAXO

(96- )

13/16

W/C 4402-F1 P11334
207

CIRTON C3 DS3

(06- )

13/16

W/C

W/C

W/C

W/C

W/C

W/C

W/C

W/C

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 200 -

PEUGEOT CLUTCH SLAVEAND CLUTCHMASTER CYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

C/S 3210
2086-10 P34518

PEUGE 504 1.8(M03)

01.71-06.83
1-1/8 M10×1

C/S P34534 1-1/8 φ9×74 M12×1

C/S

C/M
2095-15
2095-17
2095-18

P26676
PEUGE 504 1.8

(M03)

01.71-06.83

3/4 2-Φ7.5×50 M10×1

C/M P26709 PEUGET 1 φ9×58 M12×1

C/M P26712 PEUGET 7/8

C/M P26713 PEUGET 7/8

C/M

C/M

C/M

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 201 -

PEUGEOT BRAKE MASTER CYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

B/M
4601-61
4601-E8
4601-G1

P08617
PEUGE 406

(8B) 1.6

11.95-05.04

15/16 2-Φ9×60 M10×1

B/M 4601-F8 P08618 306 206 206+
(93- )

13/16 2-Φ9×60
M10×1

M12×1

B/M 4601-71
4601-80 P08673

PEUGE204 1.1

(10.65-07.69)
13/16 2-Φ8.5×70 M10×1

B/M 4601-H5
4601-J4 P08691

CITROX SARA
PEUGE 206 306

(02~ )
7/8

B/M 2292267 P08694 PEUGET 7/8

B/M 4601-94 P08707 405
(87-96)

13/16

B/M
4601-D1
9946056
9948877

P08709

BOXER

FIATDUCATO

CIRTON RELAY

OPELASTRAH

VAUXHALLASTRA

(94- )

1

B/M
4601-E5
9946799
9948883

P08710
BOXER

CITRON RELAY
(94-02)

15/16

B/M

4601-97
4601-89
4601-A2

7700724411
7700787634
7701349762
94601978

P08715

205 305 309 106
CITRONAX
RENAULT

SUPER 5 11 19 21
EXTRACLIO
MEGANE I
(84-03)

3/4

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 202 -

PEUGEOT BRAKE MASTER CYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

B/M

4601-85
4601-H8
4601-A3

7701204608
91619534
91510533
9404601858
95659534

P08757

VW POLO
RENAULT 19
CITRONAX
PEUGEOT
205/309
TALBOT
HORIZON
(91-99)

13/16 φ9×60 M10×1

B/M P08763 PEUGEOT
405

15/16 2-Φ9×80
2-M10×

1

B/M

B/M

B/M

B/M

B/M

B/M

B/M

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 203 -

RENAULT BRAKEWHEELCYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

W/C
7701036007
7702127645
95659665

RN11312

RENAULT 19

ENERGY

RENAULT R-11

DERECHO

3/4
M6×29

×16.5
M10×1

W/C
7701036006
7702127644
95659664

RN11313

RENAULT 19

ENERGY

RENAULT R-11

IZQUIERDO

3/4
M6×29

×16.5
M10×1

W/C 7701044850
6001551410 RN11539 RENAU CLIO II

(98- )
3/4

W/C 32661035 RN11559
RENAU SUPER

5(B/C40-) 1.4 (B/C403)

10.84-07.89

13/16
M6×31.8

×15.5
M12×1

W/C 32661036 RN11560
RENAU SUPER

5(B/C40-) 1.4 (B/C403)

10.84-07.89

13/16
M6×31.8

×15.5
M12×1

W/C

7701349150
7701365033
7701365379
7700620885

RN11565
RENAU 5 1.0

(1222 1392)

01.72-12.85

7/8 M6×31×15
3/8-24U

NF

W/C 7701017997
7701024260 RN11566

RENAU 5 1.0

(1222 1392)

01.72-12.85

7/8 M6×32×19
3/8-24U

NF

W/C
7701030155
4402883
9110883

RN11609
RENAU TRAFIC BUS

(97-01)
1

M6×36.5×1

8
M10×1

W/C

7701035405
4402-A0
95668069
7701043789
7701035464
7701033600

RN11613

SUPER 5 19 CLIO

CITRON ZX XSARA

PEUGEOT306

(84-01)

13/16

W/C

7701035406
4402-A1
95668070
7701033599
7701035465
7701043790

RN11614

SUPER 5 19 CLIO

CITRON ZX XSARA

PEUGEOT306

(84-01)

13/16

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 204 -

RENAULT BRAKEWHEELCYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

W/C

7700543284
7701365089
7701365377
7701365777

RN11615 12 15 17
(72-83)

7/8

W/C
7701041021
4402-A8
4402-C3

RN11616

LAGUNA II MEGANE

I SCéNIC I

PEUGEOT 306 106

CITRON ZX XSARA

(93-03)

13/16

W/C 9566949780
4402-A7 RN11617

PEUGEOT 806 EXPERT

FIAT ULYSSE SCUDO

CITRON SYNERGIE

DISPATCH

(94- )

3/4

W/C 7701038287 RN11618
LAGUNA I I

(93-01)
3/4

W/C 7701040850 RN11626
RENAU MEGANE

(99- )
11/16

W/C 7701043912
44100-00QAC RN11628

KANGOO
NISSAN KUBISTAR

(06- )
7/8

W/C 7701043913
44100-00QAD RN11629

KANGOO
NISSAN KUBISTAR

(06- )
7/8

W/C
4500936
9161236

7701044602
RN11630

RENAU MASTER II

OPELMOVANO

VAUXHMOVANO

(01- )

15/16

W/C
4500937
9161237

7701044603
RN11631

RENAU MASTER II

OPELMOVANO

VAUXHMOVANO

(01- )

15/16

W/C

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 205 -

RENAULT BRAKE MASTER CYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

B/M

7700617297
7700618662
7701349537
613386

RN08672 4 5 6
(62-93)

13/16 2-Φ8.5×58 M10×1

B/M

7700617708
7700618661
7700624692
7701348206

RN08674
RENAU 12 1.3(1170)

(10.69-08.80)
3/4 2-Φ7.5×70 M10×1

B/M 7700820232
7701203914 RN08704

RENAU
TWINGO
(96- )

13/16 Φ8.7×60 M10×1

B/M

7700590483
7700638947
7701348924
812120

RN08726

RENAU 11 12
15 16 17 18 9
FUEGO
(84-88)

3/4

B/M 7702145667
7700734129 RN08749 RENAU 21

(91-94)
13/16

B/M

B/M

B/M

B/M

B/M

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 206 -

BMWBRAKEWHEELAND CLUTCH SLAVEAssembly
ITEM OEM Description DIA FSD SPS Picture

W/C 34211154236
34211154235

BM11537
3 Saloon (E30)

(82-92)
13/16

W/C 34211159569 BM11644
BMW 3

(93-99)
15/16

W/C 34211117104
558087

BM11651
BMW 3, 5

(83-87)
3/4

W/C BM11572 3/4

W/C BM11573 3/4

W/C
34211156167
34211561670
34211154506

BM11680
BMW3
(82-98)

7/8

C/S
21521158903
21526766277
21526775924

BM34523
BMW 5(E34) 518i

(85-89)
7/8 2-Φ9×60 M10×1

C/S

21521106516
21521114536
21521150451
21521157346
21521158677
21521207739

BM34527
BMW3 5 2500 7

2000
(82-95)

7/8

C/S

21521114537
21521116300
21521116301
21521152102
21521153520
21521155036
21521157212

BM34532
BMW 3, 5, 6

Z1
(89-96)

13/16

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 207 -

BMWCLUTCHAND BRAKE MASTERAssembly
ITEM OEM Description DIA FSD SPS Picture

C/S 21521159045
21521161530

BM34552
BMW 3 Z3

(95-03)
13/16 2-Φ9×60 M10×1

C/M 21521159031
21521162148

BM26654
BMW 3(E30) 316

09.82-12.87
3/4 2-Φ6.5×50 M10×1

C/M

21521162303
21521154580
21521156000
21521152658

BM26655
BMW 3(E36) 316i

07.93-02.98
3/4 2-Φ6.5×50 M10×1

C/M

21521114538
21521116302
21521116303
21521150449
21521150782
21521156004

BM26716
3 5 6 7
(75-90)

3/4

C/M

B/M BM08668
BMW 3(E30) 316

(09.82-12.87)
13/16 2-Φ9×60 M10×1

B/M 34311156798
34311161860

BM08736
BMW 5 7
(89-95)

3/4-15/1

6

B/M 34311157206 BM08744
BMW 3 Z1
(88-91)

7/8

B/M

B/M

qp

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 208 -

MERCEDES-BENZ BRAKEWHEELAssembly
ITEM OEM Description DIA FSD SPS Picture

W/C
0024201918
0034207818
0084202718

BZ11569
MERCE LP LPS 911B

01.67-03.77
44.45

M10×1.5×54

×33
M12×1

W/C 0094204118 BZ11570 O 302
(64-75)

41.28
M10×1.5×54

×33
M12×1

W/C BZ11571 11/16

W/C BZ11574 7/8

W/C BZ11575 1

W/C 0054208118
0084204218 BZ11641

MERCE T1

(89-96)
5/8

W/C

0094200718
0094208718
0024208818
0044206218
0094208218

BZ11645
MERCE T2/L

(82-88)
7/8

W/C
6314200018
69021740
69030110

BZ11604
MERCE 100
BUS(631)
(90-96)

1 M6×36×19 M10×1

C/M
5174

A4514200018
0012173V001000000

BZ11682

SMARTCABRIO (450)

CITY-COUPE (450)

FORTWO Coupe (451)

(98- )

13/16

C/M
5175

A4514200018
0012173V001000000

BZ11683

SMARTCABRIO (450)

CITY-COUPE (450)

FORTWO Coupe (451)

(98- )

13/16

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 209 -

MERCEDES-BENZ BRAKEWHEELAssembly
ITEM OEM Description DIA FSD SPS Picture

W/C 5289
A4534200018 BZ11684

RENAULTTWINGO

III; SMART FORTWO

0.9/1.0/Electric

(14- )

13/16

W/C 5290
A4534200018 BZ11685

RENAULTTWINGO

III; SMART FORTWO

0.9/1.0/Electric

(14- )

13/16

W/C

W/C

W/C

W/C

W/C

W/C

C/M

C/M

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 210 -

MERCEDES-BENZ CLUTCH SLAVEAND CLUTCHAND BRAKE MASTER CYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

C/S

0002954007
0002956507
0002957607
0022951307
0012956807

BZ34510
MERCE/8 (W114) 230.6

(114.015)

01.68-11.76

15/16 2-Φ9×60 M12×1

C/S

0012951407
0012951307
0012953007
2022900011
2012900411
2012900511
2012900311
2012900111

BZ34524
MERCE 190(W201)

E2.6

09.86-12.89

15/16 M12×1

C/S

0012951106
0012951706
0012957606
0012957906
0012958606

BZ26651 T1 T1/TN
(77-96)

3/4 2-Φ9×60 M12×1

C/S

2022900112
0012951006
0012956806
0012953106

BZ26652

MERCE 190

(W201)2.0(201,

022)

10.82-10.84

3/4 2-Φ6.5×35 M12×1

C/S
0002959106
0012951406
0012954406

BZ26707
Saloon KOMBI Break T2/L

S-CLASS Saloon COUPE

(79-91)

3/4 φ6×35 M12×1

C/S

0044300401
0044300901
0044302301
0044302501
0013877790
0034306001
0034307801
0034308901
0034309901

BZ08665
COUPE(C123) 230

C(123.043)

(05.77-04.80)

3/4

15/16
2-Φ9×60 M10×1

C/S 4320-3505010 BZ08677 Φ40
6-M8-6H

×85.5
M12×1.25

C/S 6314301101 BZ08701 MERCE 100 BUS
(90-94)

1 Φ9×90
M12×1

M10×1

C/S 0044302801 BZ08743
MERCE G-CLASS

T1
(90 96)

1

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 211 -

FIAT BRAKEWHEELAssembly
ITEM OEM Description DIA FSD SPS Picture

W/C 7082150
98845053 FT11538

FIAT DOBLO
119 223
(01- )

13/16

W/C 710835 FT11540 RANCH
(96- )

7/8

W/C 7077174
3900595 FT11551

FIAT 126 600

07.77-09.87
3/4 M6×35×10 M10×1.25

W/C

790215
5987896
4347258
790833
4121616
7696710
9945379
4373438
9948232
71738328
71738324

FT11552
FIAT 127 1.3

DIESEL

04.81-12.86

3/4 M6×35×10 M10×1

W/C 4379471
4121621 FT11554

FIAT 500 0.5

01.57-12.61
7/8 M6×35×10 M10×1.25

W/C

4374060
4322010
4394466
790665

FT11561
FIAT 131 1.3

MIRAFIORI

10.74-12.82

7/8 M6×36×19 M10×1.25

W/C

793437
71738321
7701044681
6001547632

FT11562
FIATTIPO(160)

1.6 (1620.AE)

01.88-10.91

11/16 M6×36×19 M10×1

W/C
793439
71738325

0000000793435
FT11563

FIAT TIPO(160) 1.4

(160.AC)

07.87-12.89

3/4 M6×35×19 M10×1

W/C
7078624
6187601

89FB2261CB
FT11564

FIAT SIENA 1.4 KAT

FORD FIESTA111(GFJ) 1.6

(89-96)

3/4 M6×24 M10×1

W/C 245213 FT11567 3/4
1/4-20UNC×

32×19
3/8-24UNF

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 212 -

FIAT BRAKEWHEELAssembly
ITEM OEM Description DIA FSD SPS Picture

W/C 4761
245214 FT11568 3/4

1/4-20UNC×

32×19
3/8-24UNF

W/C
9940558
9945939
4402-81

FT11601
FIAT DUCATO

KASTEN(280) 2.5D

01.82-08.90

1-1/16 M6×37×16 M10×1

W/C

9938868
9945911

7701365840
4402-70
9940554

FT11605

DUCATO PEUGEOT J5

CITRON C25

ALFAROMEOAR 6

RENAULTMASTER I

(82-94)

1

W/C

790853
4373736
4394469
71739131

FT11606
126

(72-00)
15/16

W/C

790610
68VB2261BA
SE021720001A
0003963252
3936245

FT11607

STRADA I II

LANCIA PRISMA

SEAT IBIZARONDA

(78-94)

11/16

W/C
7734997
71737952
77362610

FT11608
FIAT PUNTO

(176)
(97-00)

13/16 M6×35×19 M10×1

W/C 9948361 FT11610
FIAT PUNTO (188)

(00- )
1 M6×27×18 M10×1

W/C

60809966
71737950
71737951
7757604
9947943
98845068

FT11625

FIATMAREA

MULTIPLA

PALIOWEEKEND

(99- )

13/16

W/C

7740758
71737957
9950817
9947161

FT11627

FIAT TEMPRATIPO

LANCI DEDRA

DELTAII

(96-99)

7/8

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 213 -

FIAT BRAKEWHEELAssembly
ITEM OEM Description DIA FSD SPS Picture

W/C

7081423
2S652261AA
7081575
93443532

FT11634
FIAT PALIO

SIENA

(98- )

3/4

W/C

9947094
71737954
9948195
9948931
71737958

FT11655

FIAT BRAVA,

BRAVO,

MAREA

(98- )

7/8

W/C

W/C

W/C

C/M 82442897 FT26656
FIATUNO(146

A/E) 45 i.e. 1.0

04.84-12.94

3/4 2-Φ9×56 M10×1

C/M

C/M

C/M

C/M

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 214 -

FIAT BRAKE MASTERAssembly
ITEM OEM Description DIA FSD SPS Picture

B/M

4341995
4379293
4374129
4394596
4394597
791944
793309

2101-3505009
2121-3505009

FT08663
FIAT 126 1.3

RALLY (AR)

09.72-06.77

3/4 2-Φ9×62 M10×1.25

B/M 9940972 FT08664
FIAT UNO(146A/E)75

i e 1.5

(10.85-12.93)

13/16 2-Φ9×60 M10×1

B/M FT08685 15/16 2-Φ9×60 M10×1

B/M

793010
793189
792915
792722
792088

FT08712 3/4

B/M

46409003
793266
60806876
9947098
795621

FT08713 13/16

B/M
792895
792040
71738443

FT08714 13/16

B/M 7082215 FT08725 FIAT DOBLO
(01- )

7/8

B/M
7077697
71739998
7075920

FT08750
FIAT FIORINO

PALIO
(01- )

7/8

B/M
71739128
7074619
7081967

FT08751
DUNAFIORINO

ELBA
(91- )

13/16

B/M
7078627
71739129
46436262

FT08752
FIAT PALIO

SIENA
(98- )

13/16

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 215 -

IVECO BRAKEWHEELAND CLUTCH SLAVEAssembly
ITEM OEM Description DIA FSD SPS Picture

W/C 406400 IV11555 A3010 5/8
Φ4×9

×16.5
M10×1

W/C 404400 IV11556
3510S A4010 4010V

4010
11/16

Φ4×9

×16.5
M10×1

W/C 4276036
4272449 IV11599

IVECO ZETA50-10

01.79-12.86
1-1/16

M6×22×18

×19×12
M10×1.25

W/C
4744164
4727624
2997520

IV11611
IVECO Zeta

79-10
(87-91)

1-1/16
M8×1.25×38

×16
M10×1.25

W/C 4220643
7165213 IV11633

IVECO

EUROCARGO

MK ZETA

(00- )

1

W/C

C/S 4770993
4848576 IV34531

IVECO ZETA

(85-91)
3/4

C/S SM34553 SIMCA 1200 1

C/S

C/S

qp

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 216 -

IVECO CLUTCHAND BRANKE MASTERAssembly
ITEM OEM Description DIA FSD SPS Picture

C/M
4797845
4800160
2997347

IV26708 IVECO Zeta
(79-92)

3/4 φ12.5×82 M12×1.5

C/M 2125-100008 SM26721 SIMCA 1000 7/8

C/M

B/M IV08662 13/16 2-Φ9×70 3/8-24UNF

B/M 4844300
4797280 IV08703

IVECO DAILY
(96- )

1 Φ9×44×44 M10×1

B/M 4797843 IV08727 IVECO ZETA
(87-91)

1

B/M 4804132 IV08728 IVECO ZETA
(87-91)

1-1/16

B/M 4804131 IV08729 IVECO ZETA
(87-91)

1-1/8

B/M 4804129 IV08758

IVECO
EuroCargo

Zeta
(92- )

1-1/4 φ11×70 M12×1.5

B/M 621-3303 SM08844 SIMCA 1200 3/4

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 217 -

LAND ROVER BRAKEWHEELCYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

W/C 37H2015
GWC126 LR11602

AUSTI MINI MK

(82-93)
15/16

W/C 37H2016
GWC127 LR11603

AUSTI MINI MK

(82-93)
15/16

W/C
LW30072
GWC305
743926

LR11659
LAND ROVER

88/109

(63-86)

1-1/4
2-5/16-24UN

F×41.2×14.3
3/8-24UNF

W/C
LW30073
GWC306
293927

LR11660
LAND ROVER

88/109

(63-86)

1-1/4
2-5/16-24UN

F×41.2×14.3
3/8-24UNF

W/C LW30014
GWC1307 LR11661

LAND ROVER

88/109

(63-86)

1
2-5/16-24UN

F×41.2×14.3
3/8-24UNF

W/C LW30015
GWC1308 LR11662

LAND ROVER

88/109

(63-86)

1
2-5/16-24UN

F×41.2×14.3
3/8-24UNF

W/C

LW30360
GWC303
7H4840
233863

LR11663
LAND ROVER

88/109

(63-86)

1-1/8
2-5/16-24UN

F×51
3/8-24UNF

W/C

LW30361
GWC304
7H4841
233864

LR11664
LAND ROVER

88/109

(63-86)

1-1/8
2-5/16-24UN

F×51
3/8-24UNF

W/C LW34108
GWC302 LR11665

LAND ROVER

88/109

(63-86)

1-1/8

5/16-24UNF×

22.5×12

5/16-24UNF×

26×13.5

W/C

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 218 -

LAND ROVER CLUTCHAND BRAKEAssembly
ITEM OEM Description DIA FSD SPS Picture

C/S
LL36195
GSY133
FRC8531

LR34536
LAND ROVER

90/110
(83-90)

7/8 2-Φ9×63.5 2-3/8-24UNF

C/S

LL12405
GSY129
TKC2786
AEU1128

LR34537

LAND ROVER
RANGE ROVER
DISCOVERY

(89-98)

7/8 2-Φ8.5×63.5 7/16-20UNF

C/S

13H461
22A2233
31824115
533521

ADU3873
GSY110

LR34539
MINI MK I
(62- )

7/8

C/S FTC5072
FTC3911

LR34551
DEFENDER CABRIO

(90- )
7/8

C/S

C/S

C/S

C/S

C/S

C/S

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 219 -

LAND ROVER CLUTCHAND BRAKEAssembly
ITEM OEM Description DIA FSD SPS Picture

C/M 569339
GMC309

LR26672

LANDROVER

88/109 2.3(LR

88 OL,LR109

OL)09.63-12.86

1 2-Φ11×63.5 7/16-20UNF

C/M
550732

GMC1032
64068606

LR26673

LANDROVER 88/109

HARDTOP 2.3(LR

88OP,LR 109 OP)

09.63-12.86

3/4 2-Φ9×57 3/8-24UNF

C/M

GMC310
274841
569126
90569126

LR26674

LANDROVER 88/109

HARDTOP 2.3(LR

88OP,LR 109 OP)

09.63-12.86

3/4 2-Φ9×57 3/8-24UNF

C/M
9411432
GMC311
569128

LR26675

LANDROVER

88/109 2.3D (LR

88DL,LR 109 OL)

09.63-12.86

1 2-Φ11×63.5 7/16-20UNF

C/M LR26677 1 3-Φ9×Φ60 M10×1

C/M LR26704 5/8

C/M LR26706 11/16

C/M

B/M NRC6096
NRC2927

LR08669
LANDROVER 88/109

3.5

(01.80-12.83)

1-1/16 2-Φ11×81
M10×1

M12×1

B/M

B/M

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 220 -

LADABRAKEWHEELAssembly
ITEM OEM Description DIA FSD SPS Picture

W/C 2105-3502040 L11553
LADA 110 1.5

01.95~
13/16 M6×35×10 M10×1.25

W/C 2141-3502041 L11581 7/8 M6×32×18 M10×1.25

W/C 2141-3502040 L11582 7/8 M6×32×18 M12×1

W/C 2141-3501062 L11583 27/16
2-Φ6.5

×106.7
M10×1.25

W/C 2141-3501063 L11584 27/16
2-Φ6.5

×106.7
M10×1.25

W/C 3102-3502040 L11595 1-1/4
M8×42

×24
M10×1.25

W/C

C/S L34520 7/8 M12×1

C/S 31029-1602510
31029-1602512 L34521 1

2-Φ8.7

×52.3
M12×1.25

C/S

2106-1602510
2101-1602510

4186382
4189134

L34522

LADA 1200-1600

1200 L/S(VAZ,

WAS2101)

01.70-06.86

3/4
2-Φ8.5×30×3

6
M12×1.25

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 221 -

LADACLUTCH MASTERAND BRAKE MASTER CYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

C/M
24-1602300
73-1602290
3302-1602290

L26670 2410 7/8 2-M8×1×60 M12×1

C/M 6611-1602300 L26690 7/8 2-M8×1×60 M12×1

C/M 2101-1602610
2121-1602610 L26692

LADA 1200-1600

1500(WAS2103,

WAS2106)

09.72-08.84

3/4
2-Φ8.7

×54
M12×1.25

C/M 2126-3515115 L26703 7/8

C/M 236-1004005
6430-1602510

L26705 1-3/16

B/M 412-3505010
2126-3505015 L08675 13/16

2-Φ10.5

×81
M10×1.25

B/M 2141-3505109 L08676 Φ24
2-Φ11

×81.5
M10×1.25

B/M 31029-3505010 L08681 1-1/16
2-Φ11

×81
M10×1.25

B/M

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 222 -

OTHER EUROPEAN CAR BRAKEWHEELAssembly
ITEM OEM Description DIA FSD SPS Picture

W/C
4823

95608852
4402-95

CT11600
CITRONAX (ZA-)

10E

12.86-12.88

3/4 M6×31×17.5 M10×1

W/C

95659474
95568067
7701032924
7701033391
7701035474

CT11656 CITRON ZX
(94-97)

13/16

W/C

95659475
95568068
7701032925
7701033390
7701035473

CT11657 CITRON ZX
(94-97)

13/16

W/C
26256AA011
26256AA010
26256AA012

SR11658

SUBARU LIBERTY I

LEGACYEstate

IMPREZAFORESTER

(02- )

3/4 M6×35×10 M10×1

W/C

W/C

W/C

C/S

C/S

C/S

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 223 -

OTHER EUROPEAN CAR CLUTCH SLAVE CYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

C/S 252602-10 JA34506 1 2-Φ9×64 M10×1

C/S 252602-12 JA34507 1 2-Φ9×64 M12×1

C/S PD1697 JA34508 15/16 2-Φ9×64 M12×1

C/S

1366460
1756460
1532517
1355979

SN34509
SCANIA 4,
P,G,R,T
(04- )

1-1/2
3-Φ9×

Φ82.5

M12×1.

5

C/S

1205733
12057337
1273681
861783

VO34517 VOLVO 240 260
(74-93)

7/8 M12×1

C/S

68439132
6843913
91810176
9181017
12736817

VO34533
VOLVO 740,

760
(89-92)

7/8

C/S

105484533990
46531635
82409600
46421940

AR34525
ALFAROMEO166

Saloon

(98- )

1 M12×1

C/S

60811771
46421937
46421942
60809329

AR34528

ALFAROMEO
145, 155, GTV, GT,

SPIDER
(95- )

1
Φ8.5×42×

33.5
M12×1

C/S 531640004 LD34538 LDVMaxus 2.5 13/16

C/S

C/S

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 224 -

OTHER EUROPEAN CAR CLUTCH MASTERAssembly
ITEM OEM Description DIA FSD SPS Picture

C/M 12057295 VO26653
VOLVO 260

KOMBI(P265)2.7

08.75-07.77

3/4 2-Φ9×60 M12×1

C/M

136462
1669488
1620462
1614351
1581209

VO26661
VOLVO FL 7 10 12

B12
(92- )

1-1/8 2-M10×65
M14×1.

5

C/M 136218
1628218 VO26662

VOLVO FH 12 16
FM 12 10 NH 12

(93- )
1-1/8

2-M8-6H

×60

M14×1.

5

C/M

136962
292962
355973
259514

SN26660 SCANIA 2
(80-88)

1 2-Φ9×60
M12×1.

5

C/M 136395 SN26667 SCANIA 1 3-Φ9×Φ68
M14×1.

5

C/M 1361291 SN26668 SCANIA 1-1/8 2-Φ9×60
M14×1.

5

C/M

1361136
1105332
1114685
624503

SN26669
SCANI Z-SERIES

112 H/280

01.81-12.86

1 2-Φ9×60
M12×1.

5

C/M

136126
1298753
1348733
1265209
1339412
1313120
1313142

DF26665 DAF 1 2-Φ9×60
M14×1.

5

C/M

136139
1348735
1334482
1395485

DF26666 DAF 7/8 2-Φ9×60
M14×1.

5

C/M 136052
3002551

MN26664 MAN EFR 1-1/8 2-Φ9×60
M14×1.

5

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 225 -

OTHER EUROPEAN CAR CLUTCH MASTERAssembly
ITEM OEM Description DIA FSD SPS Picture

C/M 4535374935
5320-1602510-10

KM26671 5320 1-1/8
2-Φ11.5

×71.5

M14×1.

5

C/M P7106609 JA26678 3/4 2-Φ9×58 M12×1

C/M 1682-10 JA26683 3/4 2-Φ9×57 M10×1

C/M 1682-12 JA26684 3/4 2-Φ9×57 M12×1

C/M JA26701 3/4

C/M PW-820042 PW26682 5/8 2-Φ9×65 M10×1

C/M 33025600 FD26714 FENDT 7/8

C/M 33071500 FD26715 FENDT 7/8

C/M

C/M

qp

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 226 -

OTHER EUROPEAN CAR BRAKE MASTER CYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

B/M CT08619 1 2-Φ9×60 M12×1

B/M
95496631
95595193
9559519380

CT08706
CITRO
C15/VISA
(86-00)

13/16 Φ7.5×70 M10×1

B/M PW820145
PW820146 PT08620

PRTON
JUMBUCK
Pickup
(02- )

7/8 2-Φ9×102
M10×1

M12×1

B/M

B/M

B/M

B/M

B/M

B/M

B/M

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 227 -

AMERCIAN CAR BRAKEWHEELCYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

W/C 4119
107475 CH11401

SHADOW NEON

83/88
9/16

1/4-20UNC×3

5×10
3/8-24UNF

W/C 4116
107476 CH11402

DART SHADOW

82/94
5/8

1/4-20UNC×3

5×10
3/8-24UNF

W/C 5070
131013 CH11403

G CARAVAN

MINIVAN

94/95

11/16
1/4-20UNC×3

5×10
3/8-24UNF

W/C 4138
101604 CH11404

FORD T-BIRD

MUSTANG

83/93

3/4
1/4-20UNC×3

5×10
3/8-24UNF

W/C 4137
34876 CH11405

RANGER 9 93/94

98/00 LTD FFAIRMONT

78/83

13/16
1/4-20UNC×3

5×10
3/8-24UNF

W/C 5050
49331 CH11406 27/32

1/4-20UNC×3

5×10
3/8-24UNF

W/C 5056
56406 CH11407

ASTRD VAN 90/97

BLAZER SIZE 95/97
7/8

1/4-20UNC×3

5×10
3/8-24UNF

W/C 5051
131372 CH11408 15/16

1/4-20UNC×3

5×10
3/8-24UNF

W/C 5033
106492 F11409

AEROSTAR BRONCO

Ⅱ

RANGER 87/89

3/4
1/4-20UNC×3

5×10

7/16-24UN

F

W/C 5091
131511 CH11410

VOYAGER TOWN&

COUNTRY 96.TRAS
3/4

1/4-20UNC×3

5×10
3/8-24UNF

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 228 -

AMERCIAN CAR BRAKEWHEELCYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

W/C 5022
110873 F11411

RANGER 9”90/92

BRONCO Ⅱ

84/96

13/16
1/4-20UNC×3

5×10
7/16-24UNF

W/C 5099
131966 CH11412

G CARAVAN

VOYAGER

97/98

13/16
1/4-20UNC×3

5×10
3/8-24UNF

W/C 5037
120546 CH11413 SPIRIT 5/8

M6×36

×12.5
3/8-24UNF

W/C 5059
128250 CH11414

CIRRUS STRATUS

95/98
3/4

M6×36

×12.5
3/8-24UNF

W/C 5014
116384 C11415

CAVALIER

87/91
5/8

M6×36

×14.5
M10×1

W/C 5015
116366 C11416

BUICK CUTLASS

88/92 CAVALIER

7”92/00

11/16
M6×36

×14.5
M10×1

W/C 5016
116367 C11417

BUICK CUTLAS HD

88/92
3/4

M6×36

×14.5
M10×1

W/C 5068
116368 C11418

BUICK CUTLAS

88/92
13/16

M6×36

×14.5
M10×1

W/C 4132
105482 C11419

G.M.CAVALIER

82/87 CENTURY

82 TRAS.

5/8 M10×1

W/C 4131
104384 C11420 CAVALIER CEL.82/86 11/16 M10×1

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 229 -

AMERCIAN CAR BRAKEWHEELCYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

W/C 4140
108131 C11421

G.M.CELEBRITY

CENTURY 83/87
3/4 M10×1

W/C 5023
113468 C11422

CENTURYCELEBRITY

CUTLAS 84/87
13/16 M10×1

W/C 5062
123412 CH11423

VOYAGER CARAVAN

91/95 TRAS.
3/4

1/4-20UNC

×41.2×12.5
3/8-24UNF

W/C 5087
54426 CH11424

DAKOTA97/98

TRAS
13/16

1/4-20UNC

×41.2×12.5
3/8-24UNF

W/C 4126
106315 CH11425

RAM CHARGER

65/67 CORDOBA

75/83 LE-BARON

15/16
1/4-20UNC

×41.2×12.5
3/8-24UNF

W/C 5404
113886 F11426

FORD COUGAR

TBIRD 85/89

TRASERO DER.

3/4

5-16-18UN

C×41.2×12.

5

3/8-24UNF

W/C 5405
113887 F11427

FORD COUGAR

TBIRD 85/89

TRASERO IZQ.

3/4

5-16-18UN

C×41.2×12.

5

3/8-24UNF

W/C 5020
37782 F11428

BRONCO COUGAR

FAIRMONTMUSTANG

IZQ.

13/16

5-16-18UN

C×41.2×12.

5

3/8-24UNF

W/C 5019
37783 F11429

BRONCO COUGAR

FAIRMONTMUSTANG

DER.

13/16

5-16-18UN

C×41.2×12.

5

3/8-24UNF

W/C 370018 F11430 DODGEATOS 01/03 45/64
M6×31.8

×15.5
M10×1

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 230 -

AMERCIAN CAR BRAKEWHEELCYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

W/C 4129
17507 F11431

JEEP 10”91/00

MAVERICK 72/79

D250 69/93

7/8
5-16-18UNC

×41.2×12.5
3/8-24UNF

W/C 4130
17508 F11432

JEEP 10”91/00

MAVERICK 72/79

D250 69/93

7/8
5-16-18UNC

×41.2×12.5
3/8-24UNF

W/C 4127
17509 F11433

BRONCO E-100 E150

VAN TBIRD.TRAX.

IZQ.

15/16
5-16-18UNC

×41.2×12.5
3/8-24UNF

W/C 4128
17510 F11434

BRONCO E-100 E150

VAN TBIRD

TRAS.DER.

15/16
5-16-18UNC

×41.2×12.5
3/8-24UNF

W/C 5030
78974 F11435 DGDGE 350 72/89 1

5-16-18UNC

×41.2×12.5
3/8-24UNF

W/C 5031
78975 F11436 DGDGE 350 72/89 1

5-16-18UNC

×41.2×12.5
3/8-24UNF

W/C
4920

72GB2261BA
96FB2261AA

F11437 FIESTA:97 ON REAR 11/16
M6×31.8

×15.5
M10×1

W/C
4918

72GB2261AA
96FB2261BA

F11438 FIESTA:97 ON REAR 3/4
M6×31.8

×15.5
M10×1

W/C 4977
72GB2261CA F11439

SIERRA:77-80 ON

REAR
13/16

M6×31.8

×15.5
M10×1

W/C 4906 F11440
ESCORTMK2 RWD

1.3:75-80

REAR

13/16
M6×31.8

×15.5
M10×1

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 231 -

AMERCIAN CAR BRAKEWHEELCYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

W/C 4259
134676 F11441

FORD FOCUS ESCORT

1.6L

1.8I 8TD 2.0I

7/8
M6×31.8

×15.5
M10×1

W/C 4976
110872 F11442

ESCORT FIESTA

FOCUS GRANADA
7/8

M6×31.8

×15.5
M10×1

W/C 5112 F11443
KB/RELAY 66670077:82

ON REAR
15/16

M6×31.8

×15.5
M10×1

W/C 5262 F11444 WFR:83 ON REAR 1
M6×31.8

×15.5
M10×1

W/C 4133
104390 F11445

FORD ESCORT 81/90

LYN× 81/87 TRAS.IZQ.
13/16

M6×31.8

×18.5
3/8-24UNF

W/C 4134
104391 F11446

FORD ESCORT 81/90

LYN× 81/87 TRAS.DER.
13/16

M6×31.8

×18.5
3/8-24UNF

W/C 4135
108107 F11447

ESCORTGHIA TEMPO

TOPAZ TRAS.IZQ.

83/94

7/8
M6×31.8

×18.5
3/8-24UNF

W/C 4136
108106 F11448

ESCORTGHIA TEMPO

TOPAZ TRAS.DER.

83/94

7/8
M6×31.8

×18.5
3/8-24UNF

W/C 5010
112341 C11449

BUICK FULL SIZE

LDSMOVIE

86/91

7/8
M6×23.8

×19.5
M10×1

W/C 5032
129443 C11450

BUICK FULL SIZE

LUMINAVAN 96/97

TRAS

15/16
M6×23.8

×19.5
M10×1

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 232 -

AMERCIAN CAR BRAKEWHEELCYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

W/C 5069
56406 C11451

BUICK FULL SIZE

TRAS

94/96

7/8
5/16-18UNC×4

1.2×12.5
3/8-24UNF

W/C 4125
101610 F11452

GALAXIE.G MARQUIS

LTD CROWN

VICTORIA 79/91

15/16
5/16-18UNF×41

.2×12.5
3/8-24UNF

W/C 5029
78978 F11453

CILINDRO DE RUEDA

FORD FULL SIZE 73/77
1

5/16-18UNF×41

.2×12.5
3/8-24UNF

W/C 5001
57146 F11454

FORD SERIES E 1 TON

80/89 TRASERO IZQ.
1

5/16-18UNF×41

.2×12.5
3/8-24UNF

W/C 5002
57147 F11455

FORD SERIES E 1 TON

80/89 TRASERO DER.
1

5/16-18UNF×41

.2×12.5
3/8-24UNF

W/C 5066
73615 F11456

FORD SERIES EY F

93/94 TRAS. IZQ.
1-1/16

5/16-18UNF×41

.2×12.5

7/16-24UN

F

W/C 5065
73614 F11457

FORD SERIES EY F

93/94 TRAS. DER.
1-1/16

5/16-18UNF×41

.2×12.5
3/8-24UNF

W/C 5079
113758 F11458

FORD SERIES E Y F 1

TON TRAS DER. 87/98
1-3/16

5/16-18UNF×41

.2×12.5
3/8-24UNF

W/C 5078
113757 F11459

FORD SERIES E Y F 1

TON TRAS. IZQ. 87/98
1-3/16

5/16-18UNF×41

.2×12.5
3/8-24UNF

W/C 5027
24489 C11460

G.M. C-60 C-500 C-600

73/85 TRASERO
1-5/8

5/16-18UNF×32

×18.5×19.5×19.

5

7/16-24UN

F

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 233 -

AMERCIAN CAR BRAKEWHEELCYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

W/C 5046
18984 CH11461 D-300 D 350 78/83 IZQ. 1-1/16

5/16-18UNF×

41.2×12.5
3/8-24UNF

W/C 5047
18985 CH11462 D-300 D 350 78/83 DER. 1-1/16

5/16-18UNF×

41.2×12.5
3/8-24UNF

W/C 5042
18290 F11463

D300 MUSTANG 84/89

IZQ DELANTERC
1-1/8

5/16-18UNF×

41.2×12.5
3/8-24UNF

W/C 5043
18291 F11464

D300 MUSTANG 84/89

DER

DELANTERC

1-1/8
5/16-18UNF×

41.2×12.5
3/8-24UNF

W/C 5044
35326 F11465

FORD F100 72/85 F200

F350 84/86

TRAS.IZQ.

1-1/8
5/16-18UNF×

41.2×12.5
3/8-24UNF

W/C 5045
35325 F11466

FORD F100 72/85 F200

F350 84/86

TRAS.DER.

1-1/8
5/16-18UNF×

41.2×12.5
3/8-24UNF

W/C 5072
40823 F11467

FORD FALCON 60/70

MAVERICK

70 MUSTANG 64/70

1-1/16
1/4-20UNF×4

2.5×16
3/8-24UNF

W/C 5073
40824 F11468

FORD FALCON 60/70

MAVERICK

70 MUSTANG 64/70

1-1/16
1/4-20UNF×4

2.5×16
3/8-24UNF

W/C 5081
71210

GM11469 1-1/8

1/4-20UNF×2

0.5×18.5×22×

12.5

3/8-24UNF

W/C 5080
71211

GM11470 1-1/8

1/4-20UNF×2

0.5×18.5×22×

12.5

3/8-24UNF

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 234 -

AMERCIAN CAR BRAKEWHEELCYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

W/C 5420
45871

GM11471 1-1/16

1/4-20UNF×2

0.5×18.5×22×

12.5

7/16-24UNF

W/C 5421
45872

GM11472 1-1/16

1/4-20UNF×2

0.5×18.5×22×

12.5

7/16-24UNF

W/C 5074
45995

GM11473 1-1/8

1/4-20UNF×2

0.5×18.5×22×

12.5

7/16-20UNF

W/C 5075
45996

GM11474 1-1/8

1/4-20UNF×2

0.5×18.5×22×

12.5

7/16-20UNF

W/C 40416 GM11475 1-1/8
5/16-18UNC×

41.2×19.5
7/16-20UNF

W/C 40417 GM11476 1-1/8
5/16-18UNC×

41.2×19.5
7/16-20UNF

W/C

5410
20932
5077
45997

CH11477
CHEVROLET

64/70 DER
1-1/8

Φ21×37.5×6.

5
7/16-20UNF

W/C

5411
20933
5076
45998

CH11478
CHEVROLET

64/70 IZQ
1-1/8

Φ21×37.5×6.

5
7/16-20UNF

W/C

5412
34151
5426
51086

CH11479 1-3/16
Φ21×37.5×6.

5
7/16-20UNF

W/C

5413
34152
5427
51087

CH11480 1-3/16
Φ21×37.5×6.

5
7/16-20UNF

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 235 -

AMERCIAN CAR BRAKEWHEELCYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

W/C 5028
116263 C11481

SERIES C.K 1/2 TON

88/91
1-1/8 M6×38×19 3/8-24UNF

W/C 5035
116224 C11482

BLAZER FULL SIZE

92/94 SERIES C-K 1/2

TON. 1

1-3/16 M6×38×19 3/8-24UNF

W/C 5005
109549 C11483

CAMRO FIREBIRD

84/92 TRAS.
3/4 M10×1

W/C 4122
110260 C11484

JIMMY 83/91

CENTURYBLAZER

78/91

3/4 3/8-24UNF

W/C 4123
110261 C11485

D/T BLAZER JIMMY

82/88
7/8 3/8-24UNF

W/C 4120
51081 F11486

JIMMYYUKON 84/91

CAPRICE 76/77
15/16

5/16-18UN

F×41.2×12.

5

3/8-24UNF

W/C 4124
51088 CH11487

CHEROLET C 10

74/84
1

5/16-18UN

F×41.2×12.

5

3/8-24UNF

W/C 56407 CH11488 13/16
1/4-20UNC

×41.2×12.5
3/8-24UNF

W/C 4121
45873 CH11489

CHEVR CAPRICE 70

5.0

01.70-12.83

7/8
1/4-20UNC

×41.2×12.5
3/8-24UNF

W/C 4139
45999 CH11490

CHEVY NOVQ

74/79
15/16

1/4-20UNC

×41.2×12.5
3/8-24UNF

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 236 -

AMERCIAN CAR BRAKEWHEELCYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

W/C 5060
122222 F11491

BLAZER S-10

92/97
3/4

1/4-20UNC×4

1.2×12.5
3/8-24UNF

W/C 4249 C11492
RANGER 10”MAZDA

PICK UP 95/97
3/4

M6×21

×18.5
M10×1

W/C 5092
131518 F11493

RANGER 10”MAZDA

PICK UP 95/97
3/4

5/16-18UNC×

41.2×10.5
7/16-24UNF

W/C 5400 F11494 FORD RANGER 98/00 13/16
5/16-18UNC×

41.2×10.5
3/8-24UNF

W/C 5013
112409 F11495

RANGER 10”87/94

AEROSTAR 87/88
13/16

5/16-18UNF×

41.2×10.5
7/16-24UNF

W/C
5036
122406
37856

F11496
EXPLORER 88/94

AEROSTAR 10” 90/92
7/8

5/16-18UNC×

41.2×10.5
3/8-24UNF

W/C 5001
57146 F11497

F250 76/00 D2500 00

CHEROKK

IZQ

1
5/16-18UNC×

41.2×12.5
3/8-24UNF

W/C 5002
57147 F11498

F250 76/00 D2500 00

CHEROKK

DER

1
1/4-20UNC×4

1.2×12.5
3/8-24UNF

W/C 5017
79767 F11499 C25/C35 75/89 SUBURB 1-1/16

5/16-18UNC×

41.2×12.5
3/8-24UNF

W/C 5018
79768 F11500 C25/C35 75/89 1-3/16

5/16-18UNC×

41.2×12.5
3/8-24UNF

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 237 -

AMERCIAN CAR BRAKEWHEELCYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

W/C 5021
110263 CH11501

CHEVASTRO VAN

85/86
13/16

1/4-20UNC×4

1.2×12.5
3/8-24UNF

W/C 5025
40951 F11502

DODGE

MAV.MUSTANG 69/76

IZQ

1-1/8
5/16-18UNC×

41.2×10.5
3/8-24UNF

W/C 5026
40952 F11503

DODGE

MAV.MUSTANG 69/76

DER

1-1/8
5/16-18UNC×

41.2×10.5
3/8-24UNF

W/C 5082
41718 F11504 1-1/16

5/16-18UNC×

41.2×10.5
3/8-24UNF

W/C 5083
41719 F11505 1-1/16

5/16-18UNF×

41.2×10.5
3/8-24UNF

W/C 5040
28804 F11506

RAMBLER FORD

62/72 IZQ
15/16

5/16-18UNC×

41.2×12.5
3/8-24UNF

W/C 5041
28805 F11507

RAMBLER FORD

62/72 DER
15/16

5/16-18UNC×

41.2×12.5
3/8-24UNF

W/C 5052
13387 F11508

CHEVROLETWILLYS

51/75

IZQ

1
5/16-18UNC×

41.2×12.5
3/8-24UNF

W/C 5053
13388 F11509

CHEVROLETWILLYS

51/75

DER

1
5/16-18UNC×

41.2×12.5
3/8-24UNF

W/C 5054
129564 F11510

WINDSTAR

T-BIRD.88/95
1

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 238 -

AMERCIAN CAR BRAKEWHEELCYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

W/C 5063
128289 F11511

WINDSTAR

T-BIRD.88/95
1

W/C 5012
112365 F11512

FORD TAURUS

86/92
1

W/C 5034
131262 F11513

MISTYQUE

CONTOUR

95/00

7/8 M6×35×10 M10×1

W/C
5056
123199
18015812

F11514
BLAZER S-10 4×4

ASTRO 92/97
7/8

1/4-20UNC

×41.2×12.5
3/8-24UNF

W/C 5057
41718 F11515 PONTIAC 93/97 7/8

M6×23.8

×19.5
M10×1

W/C 5058
129391 CH11516

CHEVR CAMARO 92

3.4 V6

12.92-07.98

13/16
1/4-20UNC

×41.2×12.5
3/8-24UNF

W/C 5061
116359 GM11517 15/16

5/16-18UN

C×41.2×12.

5

3/8-24UNF

W/C 5064
122730 CH11518

CHRYS VOTAGER I

(ES)2.5I

08.84-09.95

13/16
1/4-20UNC

×35×10
3/8-24UNF

W/C 5067
98905 F11519 3/4

1/4-20UNC

×41.2×12.5
3/8-24UNF

W/C 5071
131372 F11520 15/16

5/16-18UN

C×41.2×12.

5

3/8-24UNF

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 239 -

AMERCIAN CAR BRAKEWHEELCYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

W/C 5084
24954 CH11521

SERIES D1/2 TON 65/71

D 3/4 TON 65/70 JEP

J10-J20 IZQ

1-1/8
5/16-18UNC×

41.2×12.5
3/8-24UNF

W/C 5085
24955 CH11522

SERIES D1/2 TON 65/71

D 3/4 TON 65/70 JEP

J10-J20 DER

1-1/8
5/16-18UNC×

41.2×12.5
3/8-24UNF

W/C 5090
131225 CH11523

DODGE RAM 150 4×4

94/98
15/16

5/16-18UNC×

41.2×12.5
3/8-24UNF

W/C 5094
131960 F11524 MALIBU 97/03 7/8

M6×23.8

×19.5
M10×1

W/C

5095
73620

E2TZ-2262-D
D3OZ2262A

F11525
FORD F100 150 250

LOBO PK 80/86

TRAS.IZQ.

15/16
5/16-18UNC×

41.2×12.5
3/8-24UNF

W/C

5096
73621

E2TZ-2261-D
D3OZ2261A

F11526
FORD F100 150 250

LOBO PK 80/86

TRAS.DER.

15/16
5/16-18UNC×

41.2×12.5
3/8-24UNF

W/C 5097
131874 F11527

FORD ECONOLINE

VAN 250

TON 97/99

1-1/8
5/16-18UNC×

41.2×12.5
3/8-24UNF

W/C 5098
131875 F11528

FORD ECONOLINE

VAN 250

TON 97/99

1-1/8
5/16-18UNC×

41.2×12.5
3/8-24UNF

W/C 5401 F11529
FORD EXPLORER

SPORTTRAC 2001

TRAS DER

7/8
5/16-18UNC×

41.2×12.5
3/8-24UNF

W/C 5402 F11530
FORD EXPLORER

SPORTTRAC 2001

TRAS IZQ

7/8
5/16-18UNC×

41.2×12.5
3/8-24UNF

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 240 -

AMERCIAN CAR BRAKEWHEELCYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

W/C 5406
14493 F11531 1-1/8

5/16-18UNC×

41.2×12.5
7/16-20UNF

W/C 5407
14494 F11532 1-1/8

5/16-18UNC×

41.2×12.5
7/16-20UNF

W/C 5408
14521 F11533 1-1/8

5/16-18UNC×

41.2×12.5
7/16-24UNF

W/C 5409
14522 F11534 1-1/8

5/16-18UNC×

41.2×12.5
7/16-24UNF

W/C 5416
34474 F11535 1-1/8

5/16-18UNC×

41.2×12.5
7/16-24UNF

W/C 5417
34475 F11536 1-1/8

5/16-18UNC×

41.2×12.5
7/16-24UNF

W/C 52252480
370382 CH11541

CIL.DE RDA.CHEVY

PK 98/02(R)
7/8

M6×12

×17.5
M10×1

W/C 52252479
370384 CH11542

CIL.DE RDA.CHEVY

PK 98/02(L)
7/8

M6×12

×17.5
M10×1

W/C 71238 F11543 1-5/8
5/16-18UNC×

50.6×38.5
7/16-24UNF

W/C
4766
241325
95604225

GM11544 7/8
1/4-20UNC×3

4×14
M10×1

qp

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 241 -

AMERCIAN CAR BRAKEWHEELCYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

W/C 4767
15538 F11545 7/8

M6×25

×19.5
M10×1

W/C 370361 F11546
FORD FIESTA 1.4

1.6L 98/02
3/4

M6×31.8

×15.5
M10×1

W/C
4411

GWC1102
17H8152

F11557

FORD TRANSIT

KASTEN (81E)

1.7 1300(81E4SA)

03.67-07.73

3/4
Φ4×9

×16.5
M10×1

W/C 4929 F11558

FORD TRANSIT

BUS (72E.73E)

1.7 1300(820000)

01.66-05.73

13/16
Φ4×9

×16.5
M10×1

W/C F11576 1

W/C F11577 1-1/2

W/C F11578 1-1/2

W/C F11579 1-1/2

W/C F11580 1-3/4

W/C 41100-0T010 D10566

NISSAN
CIVILIAN
ATLAS
(83-99)

1-1/8
M10×1.25×

46×36
M10×1

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 242 -

AMERCIAN CAR BRAKEWHEELCYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

W/C 41101-0T010 D10567
NISSAN

CIVILIANATLAS
(83-99)

1-1/8
M10×1.25×

46×36
M10×1

W/C 41102-0T010 D10568
NISSAN

CIVILIANATLAS
(83-99)

1-1/8
M10×1.25×

46×36
M10×1

W/C 41103-0T010 D10569
NISSAN

CIVILIANATLAS
(83-99)

1-1/8
M10×1.25×

46×36
M10×1

W/C 44100-0T010 D10570
NISSAN

CIVILIANATLAS
(83-99)

1-1/16
M10×1.25×

46×36
M10×1

W/C 44101-0T010 D10571
NISSAN

CIVILIANATLAS
(83-99)

1-1/16
M10×1.25×

46×36
M10×1

W/C 44102-0T010 D10572
NISSAN

CIVILIANATLAS
(83-99)

1-1/16
M10×1.25×

46×36
M10×1

W/C 44103-0T010 D10573
NISSAN

CIVILIANATLAS
(83-99)

1-1/16
M10×1.25×

46×36
M10×1

W/C 4313056 CH11612
CHRYS

VOYAGER I
(84-95)

3/4

W/C 3700905 DG11619
DODGE STRATUS

(95-00)
3/4

W/C 3700904 F11620
FORD COURIER

(01-06)
7/8

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 243 -

AMERCIAN CAR BRAKEWHEELCYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

W/C 02042-72-200 CH11621 7/8

W/C F11622 13/16

W/C 89058902
89059126

CH11623 15/16

W/C 123240 F11624 3/4

W/C

92VB2261CA
6464706
4055730

YC152261AA
44100-9X125

F11632

FORD TRANSIT BUS

KASTEN TOURNEO

PRITSCHE

FAHRGESTELL

(07- )

1

W/C

6808555
93BB2261EC
93BB2261BC
6508824
67660266

F11635
FORD MONDEO

(94- 96)
13/16

W/C 3700901 F11636
FORD LOBO

(00-02)
7/8

W/C 370055 GM11637
GMMALIBU
GRANDAM

(97-09)
7/8

W/C
390093

YS4Z2261AA
1006011

F11638

FORD ESCORTV,VII, FOCUS,

ORION III

LANDROVER FREELANDER

(00- )

13/16

W/C

6150106
86VB2261AA
73VB2261AB
GWC1715
GWC901522

F11639
FORD TRANSIT

(86-91)
13/16

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 244 -

AMERCIAN CAR BRAKEWHEELCYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

W/C 6187600
89FB2261AB F11640

FORD FIESTA III

(91-95)
11/16

W/C

6164952
87BB2261AA

4402-E8
4402-E7

F11642
FORD SIERRA

(89-93)
7/8

W/C
6464705

92VB2261BA
44100-0X810

F11643
FORD TRANSIT

(91- )
13/16

W/C 370121 F11646 7/8

W/C F11647 7/8

W/C 37997 F11648 7/8

W/C 80147
18010181

GM11649 GM 11/16

W/C 370105 F11650 15/16

W/C 1115985
6808556 F11652

FORD MONDEO I II

(96-00)
7/8

W/C 1113641 F11653
FORD MONDEO I II

(96-00)
13/16

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 245 -

AMERCIAN CAR BRAKEWHEELCYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

W/C
6464704

92VB2261AA
44100-0X800

F11654
FORD TRANSIT

(98- )
7/8

W/C

370180
141538
18E1402
19133369

GM11666 GM 15/16

W/C 5191305AA CH11667
CHRYSLER I/D

AVENGER

(08- )

13/16

W/C 8V5Z2261A F11668
Fiesta

(11-16)
3/4

W/C 95018639 GM11669
GM CHEVROLETAveo

(12- )
3/4

W/C 96312155
96574719

GM11670
GM CHEVROLETAveo

(04-15)
13/16

W/C M5L552262AA F11671
FORD

Ranger Argentina
(05-11)

13/16

W/C M5L552261AA F11672
FORD

Ranger Argentina
(05-11)

13/16

W/C 5159101AA DG11673

DODGE

TRUCK-DAKOTA

MITSUBISHI

TRUCK-RAIDER

(07- )

1-1/16

W/C F11674 1

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 246 -

AMERCIAN CAR BRAKEWHEELCYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

W/C 370200
25832113

CH11675
CHEVROLET

SILVERADO

(09- )

1-1/16

W/C 370130
22706688

CH11676

CHEVROLET

EQUINOX

SATURN VUE

(03-07)

1-1/16

W/C
370177

5159101AA
68003578AA

DG11677
DODGE DAKOTA

MITSUBISHI RAIDER

(05-10)

1-1/16

W/C

370181
19133370
19133369
89059127

CH11678

CHEVROLET

SILVERADO 1500

SIERRA 1500

(05-08)

1-1/16

W/C 370201
25832114

CH11679

CHEVROLET

COLORADO

SILVERADO CANYON

SIERRA 1500

(09- )

15/16

W/C 93313891 CH11680
RUEDATORNADO

(06- )
7/8

W/C 95910900 CH11681
Chevrolet Tracker
Chevrolet Trax

(13-18)
7/8

W/C

W/C

W/C

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 247 -

AMERCIAN CAR CLUTCH SLAVE CYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

C/S 103471
15534378 CH34501

CHEV.S-10 BLAZER

83/91
13/16 2-Φ9×56 M12×1

C/S 43307
2506448 F34502

DODGE TRUCK

SERIE D 1T
1 2-Φ12.2×70 7/16-24UNF

C/S 103483
15537762 CH34503 CHEVROLET 91 13/16 2-Φ9×56 M12×1

C/S 43233
C8HZ7A508A F34504

DINA CAMION 66/89

FORD 600
1

2-Φ12.2

×39.5
7/16-24UNF

C/S

103485
E4TZ7A564A
E3TZ7A564D
E9TA7C522AA
EOUS7C522BA

F34505
FORD E250 95/97 E350

84/97
1

C/S
15616089
15585415
103762

GM34530 13/16

C/S
F1CZ7A508B

103712
37901

F34535

FORD ESCORT
MERCURY
TRACR
(91-96)

3/4 2-φ9×52 M10×1

C/S

1S4Z7A512AA
BTAB-41-920B
F7CZ7A508AC
F7CZ7A543AA

F34540

FORD ESCORT
FUSION ZX2
MAZDA 6
(01-10)

3/4

C/S

37790
18030133
15616091
15537772

CH34541
CHEVROLET

ASTRO
(85-89)

13/16

C/S 37793
18030136 JP34542

JEEP
CHEROKE
(84-86)

7/8

C/S 360014
F3TZ7A564A F34543

FORD BRONCO
F-150 F-250

F-350
(93-95)

13/16

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 248 -

AMERCIAN CAR CLUTCH SLAVE CYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

C/S

37745
18030124

E3TZ7A564A
F4TZ7A564A

F34544
FORD F250

(83-91)
1-1/4

C/S 37816
15580493 CH34545

CHEVROLET S10 S15

SONOMA

(90-91)

13/16

C/S
96293075

23820-84Z00
23820-84Z10

CH34546
CHEVROLET KALOS

AVEO

(02- )

13/16

C/S 96473954 CH34547
CHEVROLETAVEO

(09-10)
13/16

C/S

15679652
12387711
18030220
12385527

CH34548

CHEVROLET C1500

C2500 C3500 K1500

K2500 K3500 TAHOE

(92-95)

20

C/S

96243492
96184047
96159109
96481283
96184048

CH34549

CHEVROLET

EVANDAEPICA

DAEWOO ESPERO

NEXIA LANOS

(91- )

13/16

C/S E5HT7A543BA F34550 FORD CARGO
(85-12)

7/8

C/S

C/S

C/S

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 249 -

CLUTCH MASTER CYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

C/M
110273
15537761
19158669

CH26685
CHEVROLET

C10-20-30 BLAZER

86/91

11/16 2-Φ9×71 M12×1

C/M

110117
15594142
15576194

F65Z7A543AD

CH26686
CHEV.S-10 BLAZER

JIMMY

84/91

11/16
2-M8-6H

×66
M12×1

C/M 110710
E3TZ7A543G F26687

BRONCO F100-250-350

83/87
7/8

2-M8-6H

×72
Φ9.6

C/M 110270 F26688
BRONCO 11 84/87

RANGER

83/87

3/4 2-Φ9×74.5 Φ9.6

C/M 54699 F26689
DINACAMION 89/99

INTER 71/80
1

2-Φ10.5

×86.5

7/16-24UN

F

C/M 910-31401 F26691 1-1/16
3-Φ10.5

×Φ71
1/2-20UNF

C/M MC-GW86 F26696 1

C/M CH26697 GM 11/16

C/M TF3.721405 F26710

FORD
EMBRAGUE

F14000
(92-99)

7/8 φ9×54 M12×1

C/M 4636864
52107640

CH26711

CHRYSLER

JEEP CHEROKEE

GRAND CHEROKEE

(88-01)

7/10

M8×1.25×2

9.5

Φ9×29.5

Φ9.5

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 250 -

CLUTCH MASTER CYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

C/M 96494422 CH26717

CHEVROLET

LACETTI NUBIRA

OPTRA

(03- )

5/8

C/M

39813
15616090
18031068
15585418
15585414

F26718

FORD PICKUPC1500

C2500 C3500 K1500

K2500 K3500

(90-91)

7/10

C/M

ZZL041923B
ZZL041923A
18031093

F1TZ7A543C
F1TZ7A543A
E8TZ7A543A

F26719

FORD RANGER

EXPLORER

MAZDANAVAJO

(90-91)

3/4

C/M 15537769
15616092 GM26720

CHEVROLET TRUCK

GMC TRUCK

(85-89)

3/4

C/M

C/M

C/M

C/M

C/M

C/M

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 251 -

BRAKE MASTER CYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

B/M
116627
39649

18060087
C08601

CHEV

C2500-3500 BLAZER

94

1-1/4
2-Φ11

×86.4

1/2-20UNF

9/16-18UN

F

B/M

116881
39646

18060086
18013977
18013975

C08602
CHEV.P-UPDODGE

RAM

94

1-1/8

Φ40

2-Φ11

×86.4

1/2-20UNF

9/16-18UN

F

B/M
131512
390275
4683264

CH08603
TOWN COUNTRY

VAN

(96-2000)

15/16 2-Φ9×80
7/16-24UN

F

B/M
39567
113427

E6TZ-2140-A
F08604

FORD RANGER

BRONCO II

(86-90)

15/16
2-Φ10.5

×81

9/16-18UN

F

7/16-24UN

F

B/M
114075
39628

E79Z-2140-A
F08606

FROD

AEROSTAR

(86-89)

15/16
2-Φ10.5

×81

9/16-18UN

F

7/16-24UN

F

B/M

122576
39953

F0TZ-2140-A
ZZLO-43-400

F08607
EXPLORER

P.UPRANGER

(90-94)

1
2-Φ10.5

×81

M10×1

M12×1

B/M

107747
18013429
18009879
18013433

C08608
CHEV.BLAZER

S10

(90-96)

Φ24Φ

36

2-Φ11

×86.4

1/2-20UNF

9/16-18UN

F

B/M

131207
390213

4509853AA
4509855AA

C08609
NEON

96
7/8 2-Φ9×81.3

3/8-24UNF

7/16-24UN

F

B/M

131468
390259
18029967
4778450

C08610
BLAZER S10

SUBURBAN

95

1-1/8

Φ40

2-Φ11

×86.4

1/2-20UNF

9/16-18UN

F

B/M

104460
39328

18013426
18008049

C08611
CHEV.BLAZER P-UP

(79-89)

1-1/8

Φ40

2-Φ11

×86.4

1/2-20UNF

9/16-18UN

F

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 252 -

BRAKE MASTER CYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

B/M

116403
18013417
18010090
18010087

GM08612

CELEBRITY

CITATION

CAVALIER

(83-86)

7/8

1-1/4

2-Φ11

×86.4

M11×1.5

M12×1

M16×1.5

B/M

122617
131421
18018168
18022006

GM08613

PONTIAC

GRANAM

CAVALIER

(92-97)

7/8
2-Φ10.5

×86.4

M10×1

Φ8

B/M

131327
390251
4764192
4695615
4764108
MB895871
MR475973

GM08614

CHRYSLER
CIRRUS SEBRING

DODGE
STRATUS

PLYMOUTH
BREEZE
(97-00)

7/8 2-Φ9×81.3

3/8-24UNF

7/16-24UN

F

B/M GM08615 1 2-14.5×82.6 3/8-24UNF

B/M GM08616 1 2-14.5×82.6

1/2-20UNF

9/16-18UN

F

B/M GM08621
MASTER CYLINDER

WITH BLEEDERW

1967-77

1-1/8
2-Φ10.5

×86.4

1/2-20UNF

9/16-18UN

F

B/M
75819
3461184
3461178

GM08622
DODGE

D100

(71-78)

1-1/8
4-Φ9×82.5

×44.5

1/2-20UNF

9/16-18UN

F

B/M 75818
3461176 GM08623

DARTVALIAN

S.BEE

(71-72)

1-1/16
4-Φ9×82.5

×44.5

1/2-20UNF

9/16-18UN

F

B/M GM08624 1
2-Φ14.5

×82.6
3/8-24UNF

B/M GM08625 1
2-Φ14.5

×82.6

1/2-20UNF

9/16-18UN

F

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 253 -

BRAKE MASTER CYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

B/M 39018
2539018 GM08626

CHEV.C10

(76-87)
1-1/8

2-Φ14.5

×82.6

1/2-20UNF

9/16-18UN

F

B/M 101264
101268 GM08627

CHEV.C10

(76-87)
1-1/8

2-Φ14.5

×82.6

1/2-20UNF

9/16-18UN

F

B/M
101266
108148
39075

GM08628
CHEV.C20-30

(76-87)
1-1/4

2-Φ10.7

×86.4

1/2-20UNF

9/16-18UN

F

B/M

108145
14066425
14036115
14008238

GM08629
CHEV.MICRO

C/HIDROBIS

95

1-5/16
2-Φ11

×86.4

1/2-20UNF

9/16-18UN

F

B/M 98896
4112654 GM08630

DODGE D250-350

(84-92)
1-1/8

2-Φ11

×81.2

1/2-20UNF

9/16-18UN

F

B/M 76162 GM08631
BUICK

APOLLO,CENTURY

SPECIAL

1-1/8
2-Φ10.5

×86.4

1/2-20UNF

9/16-18UN

F

B/M 36352 GM08632 1-1/4
2-Φ14.5

×81.2

3/8-24UNF

9/16-18UN

F

B/M

97934
18030309

D7TZ2140C
5252626
5252627

D20Z2140B

F08633
FORD

PICK UP

(77-86)

1
2-Φ10.5

×81.2

7/16-24UN

F

9/16-18UN

F

B/M

80903
36397

D5AZ2140A
D6AZ2140A

F08634
FORD

GALAXIE

(79-87)

1
2-Φ10.5

×81.2

1/2-20UNF

9/16-18UN

F

B/M
105876
J3241807
83300113

JP08635
JEEPCHERIKEE

(84-89)
1

2-Φ12.5

×83.8

7/16-24UN

F

1/2-20UNF

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 254 -

BRAKE MASTER CYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

B/M
110919
39445

E4TZ2140B
F08636 1-1/8

2-Φ11

×86.4

3/8-24UNF

7/16-24UNF

B/M
102421
39173

E0TZ2140B
F08637

FORD F250-350

(80-83)
1-1/16

2-Φ10.5

×86.4

3/8-24UNF

7/16-24UNF

B/M
97938
39116

D7TZ2140A
F08638

FORD F250

(77-83)
1-1/16

2-Φ10.5

×86.4

3/8-24UNF

7/16-24UNF

B/M

99084
39037

D9BZ2140A
D8BZ2140A

F08639
FORD FAIRMON

(78-84)
7/8

2-Φ10.5

×81.2

7/16-24UNF

1/2-20UNF

B/M

101253
101262
18030312
18003755
18005259
18006633
18005321
18005771
18006635
18010386

C08640
CHEV.MALIBU

81
24

2-Φ11

×86.4

1/2-20UNF

9/16-18UNF

B/M 104471
104473 F08641

FORD MUSTANG

S/BOSTER
13/16

2-Φ10.5

×81.2

7/16-24UNF

9/16-18UNF

B/M

105808
106429
112311

E1BZ2140A

F08642

FORDMARQUIS

MUSTANG

FAIRMONT

(82-83)

7/8
2-Φ10.5

×81.2

1/2-20UNF

9/16-18UNF

B/M 108262 F08643 7/8
2-Φ10.5

×81.2

7/16-20UNF

1/2-20UNF

B/M
80293
84050
84052

C08646
CHEV.C10

S/BOSTER

(74-80)

1
2-Φ10.5

×86.4

1/2-20UNF

9/16-18UNF

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 255 -

BRAKE MASTER CYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

B/M

80568
36364
406389
3821715
3491500
4089212
6273936

DG08645
DODGE

PICK UP

(70-78)

1-1/8
2-Φ10.5

×86.4

1/2-20UNF

9/16-18UNF

B/M
101254
18008884
18002063

C08647
CHEV.PICK UP

DINA

(77-89)

1-1/8
2-Φ11

×86.4

1/2-20UNF

9/16-18UNF

B/M 98893 C08648
RAMBLER

GREMLIN
24

2-Φ11

×86.4

1/2-20UNF

9/16-18UNF

B/M 101255 C08649
CHEVROLET

NOVA

(77-79)

1
2-Φ11

×86.4

1/2-20UNF

9/16-18UNF

B/M
104464
39324

18008068
C08650

CHEV.C2O

SUBURBAN

(81-89)

1-1/4
2-Φ11

×86.4

1/2-20UNF

9/16-18UNF

B/M
108151
39443

E93Z2140A
F08651

FORD TOPAZ

(84-95)

3/4

1-1/8

2-Φ10.8

×81.2

M10×1

M12×1

M16×1.5

M18×1.5

B/M 108816
39498 F08652

FORD E×PLORER

ESCORT

(83-90)

3/4

1-1/8

2-Φ10.8

×81.2

M10×1

M12×1

M16×1

M18×1

B/M

114079
F4TZ2140A
F75Z2140NA
F4TZ2140F
F65Z2140CA

F08653 1-1/8
2-Φ10.8

×81.2

9/16-18UNF

M18×1.5

B/M 131211
390182 F08654

FORD PICK UP

(93-96)
1-1/8

2-Φ10.8

×81.2

3/8-24UNF

9/16-18UNF

M18×1.5

B/M
104466
39589

18007971
C08655

CHEV.PICK UP

(81-86)
1-36

2-Φ10.7

×86.4

1/2-20UNF

9/16-18UNF

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 256 -

BRAKE MASTER CYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

B/M
104516
8133316
18010556

C08656
CHEV.BLAZER

P-UP

(79-89)

1-1/8

Φ40

2-Φ10.7

×86.4

1/2-20UNF

9/16-18UNF

B/M
108134
4271388
4342712

CH08657
SHADOW SPIRIT

(89-94)
21

2-Φ9

×81.2
3/8-24UNF

B/M

108168
4294152
4318720
4294946
4485299

CH08658
TOWN COUNTRY

VAN VOY

(90-95)

24
2-Φ9

×81.2
3/8-24UNF

B/M
99294
39034
4205972

CH08659 VALIANT VOLARE 1
2-Φ9

×81.2

1/2-20UNF

9/16-18UNF

B/M
98895
98894
39178

CH08660
DGDGE

PICK UP

(78-79)

1-1/8
2-Φ9

×81.2

1/2-20UNF

9/16-18UNF

B/M 8002 F08661
FORD P-350-400

(61-66 )
1-1/4

3-Φ10.5

×Φ83
1/2-20UNF

B/M 1583479
78BB2140BA F08666

FORD TAUNUS

(05.75-07.79)
13/16 2-Φ11×81 M10×1

B/M

6081237
6081238

6134911504
81AB2140BB
81AB2140CB

F08667
FORD ESCORT

III(GAAA) 1.1

(09.80-08.83)

7/8
2-Φ7.6×7

0

M10×1

M12×1

B/M 93289332
93235561 C08670 13/16 2-Φ9×60

M10×1

M1 2×1

B/M 93235560 C08671

CHEVROLET

CORSA

SISTEMA

BRASILERO

13/16 2-Φ9×60
M10×1

M12×1

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 257 -

BRAKE MASTER CYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

B/M F08682 15/16
2-Φ10.5

×81.2
3/8-24UNF

B/M F08682-1 1
2-Φ10.5

×81.2
3/8-24UNF

B/M F08684 1-1/8
2-Φ11

×86.4

1/2-20UNF

9/16-18UNF

B/M 66857 F08687 1
Φ10.5×

86.4

1/2-20UNF-2

B

9/16-18UNF-

2B

B/M 25502
25503 F08688 1

B/M 93744721 CH08689 1

B/M
390581
140086

1F2Z2140BA
F08690 1

B/M 1015249
96FB2140DE F08692

FORD FIESTA
KASTEN
(98~ )

15/16

B/M F08693 FORD 15/16

B/M
91174778
135405

51100-67D10
CH08695

GM GEO
TRACKER
(99-04)

15/16

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 258 -

BRAKE MASTER CYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

B/M
390691
140338

2L8Z2140AA
F08696 FORD 1

B/M
390690
140339

2L8Z2140BA
F08697 FORD 1

B/M
390582
140084

1F2Z2140CA
F08698 FORD 1

B/M F08699 FORD 7/8

B/M F08700 FORD 26

B/M 6581520
7100750 F08702 FORD ESORT

(90-94)
15/16 Φ8.7×60

M10×1

M12×1

B/M 7281468
95AB2140AA F08705 FORD ESORT

(90-94)
15/16 Φ8.5×60 M10×1

B/M

6136834
85AB2140AA
86AB2140AA
86AB2140BA

F08708 ESCORT
(80-90)

7/8

B/M C08716 15/16

B/M 93332851 C08717 7/8

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 259 -

BRAKE MASTER CYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

B/M 93332850 C08718 7/8

B/M

E7TZ2140B
97936
39368

D7TZ2140B

F08719 FORD 1-1/16

B/M 114190
39583 F08720 7/8

B/M
114192
114193
114194

F08721 24

B/M
108140
108700
39440

F08722
24—

1-1/4

B/M
112593
39540

E69Z2140A
F08723 15/16

B/M 131512Y F08724 1

B/M
86130
36445
36398

F08730 15/16
Φ10.7×81.

2

7/16-24UNF-

2B

3/8-24UNF-2

B

B/M

83575
D5TZ-2140-A
D5TZ-2140-B
D5UZ-2140-A
D6TZ-2140-F

F08731 1

B/M 116626
18013976 C08732 1--36

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 260 -

BRAKE MASTER CYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

B/M

E7UZ2140C
120369

F4TZ2140E
F75Z2140PA
E7TZ2140C

F08733
FORD USA

F150
(86-91)

1-1/16

B/M
49204
49196
36006

C08734 1

B/M C08737 24-36

B/M F08738 1

B/M F08739 1-1/4

B/M F08740

B/M
6118143
6118140

83BB2140SA
F08741 FORD SIERRA

(89-93)
7/8

B/M F08742 13/16

B/M 6151044
86VB2A032BA

F08745
FORD

TRANSIT
(88-92)

B/M 81029 F08746 15/16

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 261 -

BRAKE MASTER CYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

B/M GM08747 1

B/M GM08748 1

B/M

78676
39467

D9AZ2140A
D40A2140A
D2OZ2140B
D2OZ2140A
D2OA2A032CB

F08753 1

B/M 96245456 GM08754 7/8

B/M
3880289
4205972
4318738

CH08755

CHRYSLER

CORDOBAFIFTH

AVENUE DODGE

PLYMOUTH

(79-89)

1 φ9x81
9/16-20UNF

1/2-20UNF

B/M 11525 F08756

FULL SIZE
FORD POWER

BRAKE
(76-79)

1
φ14.5×82.

6

1/2-20UNF

9/16-18UNF

B/M 5621 CH08759
Chrysler Mopar

Style
1960-1970s

1-1/8
φ8.6×82.6

×44.5

9/16-20UNF

1/2-20UNF

B/M 13286445
13292289

GM08760
GM BUICK
REGAL
CRUZE

1
φ19.5×10

2

M12×1

M10×1

B/M

F65Z2140CA
F75Z2140NB
E7TZ2140B
390183

F08761 FORD F-150
(97-99)

1-1/16
2-φ10.8×8

1.4

3/8-24UNF

9/16-18UNF

M18×1.5

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 262 -

BRAKE MASTER CYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

B/M 7161 F08762 FORD 1
2-Φ10.5×

81.4

1/2-20UNF

3/8-24UNF

B/M 1323 F08764 BARRACUDA
(63-70)

1

B/M 9097282 CH08765
CHEVROLET

SAIL
7/8

B/M M2S652140AA F08766
FORD

ECOSPORT
(09- )

7/8

B/M
93741035
427767
96963071

CH08767

CHEVROLET

MATIZ (M200,

M250)

(05- )

13/16

B/M 95280505
95414481

GM08768 GM SONIC
(12-14)

7/8

B/M 93742398 CH08769
CHEVROLET

AVEO
(08-10)

7/8

B/M BE8Z2140A F08770 FORD FIESTA
(11-14)

13/16

B/M 05019401AA DG08771
DODGE
STRATU
(01-06)

1

B/M 5011260AA JP08772
JEEPGRAND
CHEROKEE II

(98-05)
1

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 263 -

BRAKE MASTER CYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

B/M

390303
131464
4761941
4882872

JP08773
JEEP

CHEROKEE
(95-01)

1

B/M

390337
YL1Z2140AA
F6TZ2140BA
F75Z2140KA

F08774

FORD EXPEDITION

F150 F250 LINCOLN

BLACKWOOD

NAVIGATOR

(00-04)

1-1/4

B/M 390377
131963 C08775

CHRYSLER
GRAN

VOYAGER
(97-99)

15/16

B/M

1015252
1031617

96FB2140JA
96FB2140SA

F08776
FORD FIESTA
IV PUMA
(95- )

7/8

B/M
390806
15183822
15269947

CH08777

CHEVROLET

SILVERADO 1500

GMC SIERRA 1500

(06- )

1-1/8

B/M

18029970
15992331
131328
18021279

CH08778

CHEVROLET
C3500 PICKUP

P30 P35
(92-00)

40

B/M

9193225
9117554
558059
558174

CH08779

CHEVROLET
ASTRACORSA
OPELASTRAG

(97- )

15/16

B/M 93364007 CH08780
CHEVROLET

ASTRA
(02-06)

7/8

B/M
390427

8-18026-274-0
18060793

CH08781

CHEVROLET
S10 BLAZER

GMC S15 JIMMY
(98-00)

1

B/M

18060790
19209250
18043278
18048539
18040236

CH08782
CHEVROLET
SILVERADO

(01-02)
37

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 264 -

BRAKE MASTER CYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

B/M

68000908AA
68031897AA
68031894AA
68000908AA
5183885AA
5183870AA

C08783
CHRYSLER
RAM1500
(08- )

1-1/4

B/M

390248
F88Z2140HB
F68Z2140EC
F58Z2140A
18037320

F08784
FORD USA

WINDSTAR

(95- )

1-1/16

B/M
390398

1F60-43-990A
F87Z-2140-EA

F08785
FORD RANGER

(01-06)
1-1/16

B/M

9L8Z2140A
ZZD1-43-990
ZZD2-43-990
9L8Z2140C

F08786
FORD ESCAPE

2.5L
(09-12)

1-1/16

B/M

390321
18047594
18029952
18047529

CH08787

CHEVROLET

ASTRO

GMC SAFARI

(96-03)

1-1/4

B/M 391202 F08788 FORD ESCAPE
(08- )

1-1/16

B/M

39578
18012596
18010556
18013440
18013437

CH08789

CHEVROLET

BLAZER R10 R20

R1500 V10 V20 V1500

JIMMYGRAND

WAGONEER

(90-94)

28-40

B/M

39961
18030755
18029962
18015414
18029963

CH08790

CHEVROLET
ATSRO
SAFARI
(90-95)

1-1/4

B/M

390697
8-18060-788-0
18060788
18044393

CH08791

CHEVROLET SSR

TRAILBLAZER BUICK

RAINIER GMC TENVOY

(00 05)

1

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 265 -

BRAKE MASTER CYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

B/M

390742
5183886AA
5183871AA
5102032AA
5080888AB
5080888AA

DG08792
DODGE RAM
1500 2500 3500

(02-06)
1-5/16

B/M
390885
22675995
2003124

CH08793

CHEVROLET

MALIBU PONTIAC

G62005

(04-08)

15/16

B/M
39981
5252622
18030774

JP08794
JEEP

CHEROKEE
(83-01)

15/16

B/M

1369797
1152438
1251281

2S712B507BD
2S712B507BC
2S712B507BB

1121890
1197812
1126845

1S712B507BA
1S712B507BC
2S712B507BA

F08795

FORD
MONDEO

II III
(96-07)

15/16

B/M

4L3Z2140AC
7L3Z2140A
4L3Z2140AB
4L3Z2140AA
6L3Z2005BB
5L3Z2005AA

F08796
FORD F150

(04-08)
1-1/8

B/M
M1S552140AA
1S552140AA
M1S55214AA

F08797 FORD KA
TODOS

7/8

B/M MC390279 CH08798
CHEVROLET

C30,35 C3500

(96-00)

1-1/4

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 266 -

BRAKE MASTER CYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

B/M

390708
4683264AD
4721550AD
4721447AB

C08799
CHRYSLER

CARAVAN S/CT
(01-02)

15/16

B/M

39570
18009372
18013432
18013421

CH08800
CHEVROLET

S10 S15 BLAZER

(82-90)

24-36

B/M

32900
C5DZ2140A
C5AZ2140A
C3AZ2140B
C3AZ2140A
C3AA2140A
C2AZ2140B
C0AA2A032G
C0AA2A032B

F08801

FORD COUNTRY SEDAN

CUSTOM FAIRLANE

FALCON GALAXIE RANCH

(64-66)

1

B/M

390071
4741835
4713076
4741834
52008281
52007933
4762164
52006281

JP08802

JEEP
CHEROKEE
WRANGLER

(91-94)

1

B/M

390399
1F22-43-990
ZZP0-43-400A
F87Z2140AC
F87Z2140AA
3L2Z2140CB
3L2Z2140CA
1L2Z2140BA

F08803

FORD EXPLORER

RANGER

MAZDAB2300

B2500 B3000 B4000

(98-02)

1-1/16

B/M

87026
5013131AA
5093049AA
5013131AB

DG08804

DODGE SRT10
DAKOTA
DURANGO
(99-09)

1-1/8

B/M

390246
5011256AB
5003325AA
5003321AA

DG08805
DODGE
RAM1500
2500 3500

1-1/4

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 267 -

BRAKE MASTER CYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

B/M
390570

XF2Z2140BA
XF2Z2140BB

F08806
FORD

WINDSTAR
(99-00)

1-1/16

B/M
390571
18060793
18042802

CH08807
CHEVROLET S10 S15

SONOMA

(00-04)

1

B/M

18047512
89040423
25739959
15814984
15112793

CH08808
CHEVROLET

AVALANC.2500

(03-05)

37

B/M 18047527
18047524

CH08809

CHEVROLET
SILVERADO 1500
SIERRA 1500

(03- )

1-1/4

B/M 390531
F81Z2140FA F08810

FORD F250 F350

F450 F550 RANGER

(02-04)

1-3/8

B/M
390541
18060789
18048538

CH08811

CHEVROLETAVALANCHE

1500 SILVERADO 1500

SUBURBAN 1500 TAHOE

SIERRA 1500 YUKON

(03-06)

34

B/M 390643
YS4Z2004AA F08812 FOCUS

(00-04)
15/16

B/M
39388

E3TZ2140A
18030447

F08813
FORD BRONCO

RANGER

(83-85)

15/16

B/M
39638
4294312
4294721

DG08814
DODGE DAKOTA

(87-93)
24

B/M

390096
F69Z2140AA
4642548

F29Z2140A

F08815
FORDAEROSTAR

(92-97)
1-1/16

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 268 -

BRAKE MASTER CYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

B/M

390257
18029968
4778453
4746398
18040252
18030954
18021275

CH08816

CHEVROLET
C1500 C2500
K1500 K2500

TAHOEYUKON
GM C10,15,20

(93-00)

1-1/4

B/M

390268
ZZM8-43-990
F67Z2140JA
F57Z2140B
F67Z2140JA

F08817

FORD EXPLORER

RANGER

MAZDAB2300

B3000 B4000

(95-97)

1-1/16

B/M

39028
18009576
18005285
18002067
18004255
18002189
18030322

GM08818

GM BUICK
ELECTRA
ESTATE
LESABRE
PONTIAC
FIREBIRD
(77-80)

1-1/8

B/M

390530
F81Z2140EA
6C3Z2140DF
6C3Z2140DA
6C3Z2140BF
6C3Z2140BB
5C3Z2140KB
5C3Z2140HA

F08819

FORD
EXCURSION
F250 F350 F450

F550
(99-04)

1-3/8

B/M
390845

8-89040-283-0
89040283

CH08820

CHEVROLET

COLORADO

CANYON

(04-08)

1

B/M

15844166
15844166
15821794
15856781
15276502

CH08821

CHEVROLETAVALANCHE

SILVERADO 1500

SUBURBAN 1500 TAHOE

CADILLACESCALADE

(07- )

1-1/4

B/M 20845345
25827890 GM08822

CADILLAC
ESCALADE,
YUKON
(09- )

1-1/4

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 269 -

BRAKE MASTER CYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

B/M 20845347 GM08823

CADILLAC
ESCALADE,
YUKON
(09- )

1-1/4

B/M 390378
4798157 DG08824

DODGE DAKOTA

JEEPWRANGLER

(97-99)

1

B/M
39357

E0TZ2140C
18030429

F08825
FORD F150 F100

(80-86)
1

B/M
19151463
25847530
15835854

CH08826
CHEVROLET
EQUINOX
(07-09)

1

B/M 96418852 CH08827
CHEVROLET
OPTRAT/A

(03-10)
15/16

B/M
390370

F7DZ2140AA
3F1Z2140AA

F08828
FORD TAURUS

SABLE
(97-99)

1

B/M 390386
18029862 CH08829

CHEVROLET MALIBU

OLDSMOBILE-ALERO

PONTIAC-GRANDAM

(04-09)

1

B/M

390401
18060780
18026277
18060783
18042406
18060781
89047649

GM08830

BUICKALLURE

CENTURYLACROSSE

REGAL

CHEVROLET IMPALA

MONTE CARLO

VENTU IMPALA

(04-09)

1

B/M
390676
18060787
18045119

CH08831

CHEVROLET MALIBU

OLDSMOBILE-ALERO

PONTIAC-GRANDAM

(01-05)

15/16

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 270 -

BRAKE MASTER CYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

B/M

390269
ZZM5-43-990
F67Z2140HA
ZZM4-43-990

F08832

FORD EXPLORER

RANGERMAZDA

B2300 B3000 B4000

(95-97)

1-1/16

B/M

390336
F75Z2140GD
YL3Z2140BA
YL1Z2140BA
F6TZ2140EB
F6TZ2140AB
1L1Z2140BA
F75Z2140JA
XL3Z2140GA
F6TZ2140AA
F75Z2140GC

F08833

FORD EXPEDITION

F150 F250

LINCOLN

NAVIGATOR

LOBO

(00-04)

1-1/4

B/M 390371
18023761 CH08834

CHEVROLET VENTURE

OLDSMOBILE-SILHOUET

TE PONTIAC-MONTANA

(97-99)

1

B/M

390400
ZZP1-43-400
F87Z2140BA
F80Z2140BA
5L2Z2140B
4L2Z2140BA
4L1Z2140BA
2L2Z2140AB
F87Z2140BC

F08835

FORD
EXPLORER
RANGER

MAZDAB2500
(01-05)

1-1/16

B/M 390579
5015149AA DG08836 DODGE NEON

(00-05)
7/8

B/M
390711

5072526AA
5072524AB

JP08837
JEEP

LIBERTY
(02-05)

1-1/16

B/M

39468
D3TZ2140P
D3UZ2140B
C9TZ2140C
C8TZ2140C
C8UZ2140A

F08838
FORD F100 E100 E200

E300 F250

(70-75)

1

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 271 -

BRAKE MASTER CYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

B/M 93742806 CH08839
CHEVROLETKALOS

AVEO

(02- )

7/8

B/M 427225 CH08840
CHEVROLET LANOS

(05- )
13/16

B/M 24510439 CH08841
CHEVROLET N300

N300P

(11- )

7/8

B/M 39009924 GM08842 GM SPARK
(11-16)

7/8

B/M M-83028P GM08843 1-1/16

B/M

B/M

B/M

B/M

B/M

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 272 -

CHINESE CAR BRAKEWHEELCYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

W/C FH001-3502070
(∅25.4)

F10063 1

W/C FH001-3502080
(∅25.4)

F10064 1

W/C FH001-3502070
(∅23.81)

F10065 15/16

W/C FH001-3502080
(∅23.81)

F10066 15/16

W/C 1020(1)-3502120 F10067 7/8

W/C 1020(3)-3502210 F10068 15/16

W/C 1020(3)-3502110 F10069 15/16

W/C

W/C

W/C

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 273 -

CHINESE CAR CLUTCH SLAVE CYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

C/S A15-1602070 HF30016 CHERYCOWIN
旗云

7/8 φ8.5×33 M10×1

C/S HF30017 GEELYCK MK 13/16 φ8.5×34 M10×1

C/S HF30018 BYD F3
LIFAN 520

13/16 φ8.5×34 M10×1

C/S HF30020 FOTON 7/8

C/S

C/S

C/S

C/S

C/S

C/S

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 274 -

CHINESE CAR CLUTCH MASTER CYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

C/M 1402280025 F20018 GEELYCK 5/8 φ8.2×90.7 M10×1

C/M F20019 GEELYMK 5/8
M8×40

M8×32
M10×1

C/M 411-304-0001
B1608100

F20020
BYD F3

LIFAN 620
5/8

M8×37

M8×28
M10×1

C/M L1608000 F20021 LIFAN-520 5/8
M8×32

M8×28
M10×1

C/M A15-1608010 F20022
CHERY
COWIN

5/8 φ7×56 M12×1

C/M F20023 BYD 5/8
M8×37

M8×28
M10×1

C/M F20024
CHERY
风云 旗云

5/8 φ7×56 M12×1

C/M F20027 BYD 5/8

C/M F20028 CHERYA5 5/8

C/M

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 275 -

CHINESE CAR BRAKE MASTER CYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

B/M F3-3502010 F00006 BYD F3 13/16 φ9×80 M10×1

B/M F00007 GELLYMK 13/16 φ9×80 M10×1

B/M F00008 GELLYCM 7/8 φ8.5×80 M10×1

B/M F00009 CHERY
COWEN

7/8 φ9×60 M12×1

B/M L3540110 F00010 LIFAN 520 15/16 φ9×60 M10×1

B/M F00011 BYD 13/16 φ9×80 M10×1

B/M A13-3505010 F00012
CHERY

COWENA13
(10-15)

7/8
2-Φ8.8×8

0
2-M10×1

B/M F00016 CHANGHE 7/8

B/M F00017 BYD 13/16

B/M A21-3505010 F00018 CHERYA5 A21 15/16

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 276 -

CHINESE CAR BRAKE MASTER CYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

B/M F00032 CHERYQQ6
(06-10)

13/16

B/M

B/M

B/M

B/M

B/M

B/M

B/M

B/M

B/M

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 277 -

BRAKEWHEELCYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

W/C F10007 7/8

W/C F10008 3/4

W/C F10009 11/16

W/C F10010 11/16

W/C F10011 1-7/16

W/C F10012 1-7/16

W/C F10013 1-7/16

W/C F10014 1-7/16

W/C F10015 1-1/2

W/C F10016 1-1/2

W/C F10016 1-1/2

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 278 -

BRAKEWHEELCYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

W/C 10017 1-1/2

W/C 10018 1-1/2

W/C 10019 11/16

W/C 10020 7/8

W/C 10021 3/4

W/C 10022 15/16

W/C 10023 13/16

W/C 10024 7/8

W/C 10025 1

W/C 10026 1

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 279 -

BRAKEWHEELCYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

W/C F10027 11/16

W/C F10028 13/16

W/C F10029 1-1/8

W/C 47410-32500-71
47410-32060-71

F10030 1-3/16

W/C F10031 1-3/16

W/C F10032 1-3/16

W/C F10033 1-3/16

W/C F10035 2-1/8

W/C F10036 1-1/2

W/C 64932066 F10037 1-3/4

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 280 -

BRAKEWHEELCYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

W/C F10038 3/4

W/C F10039 3/4

W/C F10040 7/8
5/16-18UNC

×42.5×12.5
3/8-24UNF

W/C F10041 1-1/16
1/4-20UNF

×38×12.5
3/8-24UNF

W/C F10042 1-1/16
1/4-20UNF

×38×12.5
3/8-24UNF

W/C F10043 11/16 M6×34×13 M10×1

W/C F10045 7/8 M6×32×12 M10×1

W/C F10046 1-3/16
5/16-18UNF

×28.6×24
7/16-20UNF

W/C F10047 1-3/16
5/16-18UNF

×28.6×24
7/16-20UNF

W/C F10048 13/16
1/4-20UNC

×35×10
3/8-24UNF

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 281 -

BRAKEWHEELCYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

W/C F10049 3/4 M6×30×16.5 M10×1

W/C F10050 7/8 M6×36.5×16 M10×1

W/C F10051 15/16 M6×36.5×16 M10×1

W/C F10052
QUANT

GWM LDV
7/8 M6×40×12 M10×1

W/C F10053 13/16 M6×40×14 M10×1

W/C F10054 3/4 M6×12×18 M10×1

W/C F10055 11/16

W/C F10056 1-1/4

W/C F10057 1-3/16

W/C F10058 1-3/16

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 282 -

BRAKEWHEELCYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

W/C F10059 1-1/4

W/C F10060 1-1/4

W/C F10061 1-1/8

W/C F10062 1-1/8

W/C F10070 3/4

W/C F10071 7/8

W/C F10072 1

W/C F10073 1

W/C F10074 7/8

W/C F10075 7/8

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 283 -

BRAKEWHEELCYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

W/C F10076 1-1/8

W/C F10077 1-1/8

W/C F10078 1-1/8

W/C F10079 1-1/8

W/C F10080 1-1/8

W/C F10081 1-1/8

W/C F10082 3/4

W/C

W/C

W/C

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 284 -

CLUTCH SLAVE CYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

C/S 4252364 F30001 7/8

C/S F30003 13/16

C/S F30004 3/4

C/S F30005 3/4

C/S F30006 3/4

C/S F30008 1-1/8

C/S F30010 3/4 φ10.5×52 M10×1

C/S F30011 7/8 φ9×34 M10×1

C/S F30012 7/8 φ10.5×30 M10×1

C/S F30013 1-1/4 φ11.5×60.5
7/16-20U

NF

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 285 -

CLUTCH SLAVE CYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

C/S F30014 1 φ8.5×63.5 7/16-20UNF

C/S F30015 7/8 φ10.5×60.5 3/8-24UNF

C/S F30019 1

C/S F30021 7/8

C/S F30022 7/8

C/S F30029 7/8

C/S F30030 1

C/S 7234A007 F30034 3/4

C/S F30035 7/8

C/S

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 286 -

CLUTCH MASTER CYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

C/M F20002 1

C/M F20004 5/8

C/M F20010 3/4

C/M 27100 F20011 13/16

C/M F20012 11/16 M8×80 φ11

C/M F20013 1 φ9×60 M14×1.5

C/M F20014 15/16 φ9×60 M12×1.5

C/M F20015 13/16 φ9×60 M12×1

C/M F20016 13/16 φ9×60 M14×1.5

C/M F20017 7/8 φ9×60 M12×1

TEMCO Auto Parts www.0086PARTS.COM



- 287 -

CLUTCH MASTER CYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

C/M F20025 3/4

C/M F20026 11/16

C/M F20029 5/8

C/M F20030 5/8

C/M F20031 3/4

C/M F20032 1

C/M F20033 7/8

C/M F20034 3/4

C/M F20035 7/8

C/M

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 288 -

BRAKE MASTER CYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

B/M F00004 1-1/2

B/M F00005 1-1/2
3-φ11×φ9

8
M14×1.5

B/M F00015 45.5

B/M F00019 1

B/M F00020 7/8

B/M F00021 1-1/16

B/M F00027 15/16

B/M F00031 7/8

B/M F00036 1

B/M

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 289 -

LOAD-SENSING PROPORTIONING VALVEAssembly
ITEM OEM Description DIA FSD SPS Picture

LSP 7607381
791456 43997

FIAT DUNA(146B)6.0

1.1 FIORINO (147)1.0

UNO(146A/E) 50 1.1

LANCCI Y10(156)1.1

06.83-12.95

LSP 360-595-320 43998 1/2

LSP 6311476
7700685456 43999

RENAU 12 1.3(1170)

15 (130) 1.3 (1300)

10.69-08.80

1/2
M7×21×15×1

6
3/8-24UNF-2B

LSP
790607
3899782
5924304

44000

FIAT 131 1.4

MIRAFIORI/2.0D/2.0

SUPER

07.78-08.84

1

LSP

7701349306
412231
412431
9952

44001
RENAU 11/09

(85-88)
1/4

LSP 47900-26150
47910-35120 4002

TOYOTA
HILUX (RN8#,
RN90, VZN90)

LSP 59410-4F000 44003
HYUNDAI H-100

PORTER II

LSP 4613 44004 14

LSP 40001
3/8--

21/64

LSP
51701191
51837342
0204031199

44005
FIAT SIENA

(96- )
1/4

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 290 -

LOAD-SENSING PROPORTIONING VALVEAssembly
ITEM OEM Description DIA FSD SPS Picture

LSP 40002 14

LSP 40003 1/8

LSP MB-618321 44006
MITSUBISHI L200

TRITON

(86-10)

LSP 40004

LSP 40005

LSP

LSP

LSP

LSP

LSP

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



291

PLASTIC CLUTCHMASTER CYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

C/M 31420-26200 52001

TOYOTA
HIACE IV V
Quantum V
(95-00)

5/8

C/M

31420-OK013
31420-12030
31410-0K012
31420-OK020
31420-OK010
31410-0C080

52002 5/8

C/M 46749276
55196182 T52003

FIATDOBLO

ALFAROMEO147 GT

(01- )

5/8

C/M F3TZ-7A543-A 52004 18

C/M
15049053
15727261
15740930

H52005 18

C/M 55235402 T52006 FIAT DUCATO
（94- ）

5/8

C/M 55192726 T52007 FIAT DUCATO
（06- ）

5/8

C/M

4416167
30610-00QAE
30610-00QAA

4502290

52008

NISSAN INTERSTAR

OPELMOVANO

RENAULTMASTER II

(98- )

5/8

C/M
0002903212
2D0-721-401
05117877AA

Z52009

MERCE SPRINTER

V-CLASS VITO

VW LT 28-35 II

(02- )

3/4

C/M

F81Z-7A543-FA
4886740
13665020

DBAFLR617A
5C3Z7C522AF

52010 18

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 292 -

PLASTIC CLUTCHMASTER CYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

C/M 41610-2D100 Y52011

HYUNDAI
COUPE

ELANTRA
(03-09)

14

C/M 41610-38120 Y52012

HYUNDAI
SONATA IV

KIAMAGENTIS
(01- )

7/8

C/M 8200151770
306107593R 52013

RENAULT
MEGANE II
SCéNIC II
(03- )

5/8-3/4 φ12

C/M 306109084R
306101808R 52014

RENAULT
MEGANE III
SCéNIC III
(08- )

5/8-3/4 φ12

C/M 31420-33030 52015
TOYOTA
CAMRY
(09-11)

5/8
M8×40

M8×32
M10×1

C/M B22-1608010 Y52016 CHERYA13 5/8 φ10×56 φ12

C/M 30610-EM11A 52017

NISSAN
VERSAH16DE
5MTMR18DE

(04- )

5/8 Φ12.1

C/M 41610-17000 Y52018 HYUNDAI
MATRIX

5/8

C/M
2S617A543AC
DD32-41-990
2S617A543AD

52019

FORD FIESTA IV V

FUSION

MAZDA 2

(95- )

3/4

C/M
31420-74010
31420-52050
31420-0D070

52020

TOYOTA IQ
YARIS

COROLLA
(05- )

5/8

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 293 -

PLASTIC CLUTCHMASTER CYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

C/M 30610-1HK0A N52021 VERSA
(12-14)

5/8

C/M
30610-1KM0A
30610-EL00B
30610-ED500

N52022 TIIDA
(06- )

5/8

C/M 30610-ET000 N52023 QASHQAI
(07- )

5/8

C/M

1061930
1064291
1133522
1306698

1M517A543AB

F52024

FORD FOCUS
TOURNEO
TRANSIT
(98- )

3/4

C/M 31420-12050 T52025

TOYOTA
COROLLA
RUMION
(07- )

5/8

C/M 31420-52060 T52026

TOYOTAYARIS

RAV 4 III URBAN

CRUISER VERSO S

(05- )

5/8

C/M 31420-0K070
31420-0K071 T52027

TOYOTA
HILUX VIII

Pickup
(15-17)

3/4

C/M 15693501 CH52028

CHEVROLET
TRUCK C1500
C2500 C3500

(95- )

18

C/M 306104118R RN52029
RENAULT
SANDRED 2

(16- )
5/8

C/M 25196007 CH52030
CHEVROLET

SPARK
(11-16)

5/8

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 294 -

PLASTIC CLUTCHMASTER CYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

C/M

1K0-721-261F
1K0-721-261G
1K0-721-261H
1K0-721-261J
1K0-721-261K
1K0-721-261L
1K0-721-261N
1K0-721-261Q
5Q0-721-261F
5Q0-721-26M
1K0-721-261C

VW52031

AUDI A3 TT
SEATALTEA
TOLEDO III

LEONALTEAXL
SKODAOCTAVIA

SUPERB
VWTOURAN
GOLFV VI
PASSAT
(05- )

3/4

C/M

5Q0-721-261
6Q0-721-261A
6Q0-721-261D
6Q0-721-261F
6QE-721-261

VW52032

AUDI A1 A2A3

SEAT IBIZA IV

SKODAOCTAVIAFABIA

VWTOURAN GOLFV VI

PASSAT POLO

(05- )

C/M

C/M

C/M

C/M

C/M

C/M

C/M

TEMCO

TEMCO Auto Parts www.0086PARTS.COM



- 295 -

PLASTIC CLUTCH SLAVE CYLINDERAssembly
ITEM OEM Description DIA FSD SPS Picture

C/S

46541667
55196189
60801973
55227259

FT53001

FIATMULTIPLA

PUNTO DOBLO STILO

ALFAROMEO147

LANCIAYPSILON

(01- )

13/16

C/S 55199056 FT53002

CITROEN JUMPER

FIAT DUCATO

PEUGEOT BOXER

(06- )

3/4

C/S 55196192
55200626 FT53003

FIAT DUCATO
(02- )

13/16

C/S F81Z/7A564/BA
13865013

F53004
FORD TRUCK F-250

F-350 F-450 F-550

(06-07)

13/16

C/S

12385317
DB07MJ007A
DB07MG001A

126874
13866002

CH53005
Chevrolet S10
GMC Sonoma

(93-92)
13/16 M8×89 φ11

C/S

C/S

C/S

C/S

C/S

TEMCO

TEMCO Auto Parts www.0086PARTS.COM


	1
	cylinder2020
	ESPASS (S91)
	M6×36×21
	M10×1
	M10×1




